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Introduction

1. Introduction

1.1. The purpose of transcription

The reason for acquiring transcription skills has always been clear to linguists. Their
analyses of sound patterns of a language would be impossible without a tool which helps to
capture unambiguously what lies behind ephemeral acts of speaking. This is clearly reflected
in the position which transcription occupies within university courses throughout Europe.
Bloothooft et al. (1999) present a detailed overview of European tertiary education curricula
in speech communication sciences. In numerous and diverse specialized programmes ranging
from philology through speech pathology to speech technologies, only transcription is always
marked as a core subject, i.e. a subject that is obligatory and indispensable.

There are various types of transcription, which fulfil various scientific or didactic
requirements. They help to record and later recover individual phonetic and phonological
units of utterances with varying degrees of precision and detail. Common orthographic
systems of languages are not suitable for the task. They have been developed to enable people
to encode and decode meanings of morphemes or words and not to record the exact speech
sounds that are produced by communicators (Vachek, 1942; Mattingly, 1992). Thanks to that,
written language can function as a stabilizing factor over regions and centuries. We can
understand the semantic contents of what was said and recorded in writing in different parts
of the country in different times. From this point of view, it is quite irrelevant that it was not
pronounced the way we speak here and now. If, on the other hand, we want to understand the
logic of historical or dialectal change in languages, transcription becomes essential. It would
be quite complicated to study phonological or phonetic units of a language without having
unambiguous symbols for them.

A large area of practical need for transcription is foreign language learning. It is self-
evident that many learners can advance faster, if, instead of struggling with incomprehensible
chunks of sounds, they can read transcription of those sounds. Visual signs can help to
accumulate knowledge of the sound structure, which, over time, leads to important conscious
and subconscious generalizations so essential for the learning process. In addition, a learner
who can use transcription actively, is not dependent on the presence of the teacher. Minimal
transcription notes facilitate independent practice and make individual work less
cumbersome. Even passive knowledge can be helpful, if only for better use of pronunciation
clues provided in dictionaries.

Foreign language methodology emphasizes the role of so called silent models. It is
argued that mindless repetition of words or phrases is not as effective as a conscious effort to
pronounce something correctly with the aid of silent clues and silent feedback. Transcription
symbols can serve as such silent clues to a large portion of population. (Some people,
unfortunately, cannot make use of abstract symbols of phonological units. These should have
access to alternative methods instead of being ruthlessly forced to learn English from printed
materials.)

It is very important to choose a suitable transcription system for a particular purpose.
Many Czech publishers and educationalists believe that crude, to a maximum simplified set of
symbols will make English transcription easier. Such approach does not serve anyone. It is
clear that if someone cannot map phonological units onto graphic symbols, then the nature of
the symbols is not the core of the problem. The price to pay for our useless simplification is
quite high. Primitive transcription leads to primitive approaches to pronunciation with serious
consequences for listening skills. English, especially because of its complex vocalic system,
does not lend itself easily to inventorial reductions. Fortunately, IPA-based transcription
which has been internationally adopted for English is gradually gaining popularity even in our
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country. It is used, for example, in a very good dictionary published by Nakladatelstvi Lidové
noviny (Abdallaové et al., 1998) and in the series of quality teaching materials called Easy
English. It is quite realistic to expect that when IPA-based transcription is widely introduced
in our country, the level of mastery in English studies will increase.

1.2. The International Phonetic Alphabet

Since 1886, the members of the IPA (International Phonetic Association) have been
undertaking continuous work on one of their prioritites: to provide a transcription system
which could serve wide purposes related to speech studies. This transcription system is called
the International Phonetic Alphabet (IPA) and it is highly praised for being:

a) consistent,
b) convenient,
c¢) comprehensive. (See IPA, 1999)

ad a ) To create a consistent transcription system one has to try to define important
features or units in speech events and always use the same symbol to transcribe them. If we
discover that a voiceless velar plosive is used in a language and accept a symbol k for it, we
should not transcribe it sometimes as 'k', while other times as 'c', 'ck’, 'ch', or 'q". This is
precisely what the English orthographic system does. k' is used to spell the initial phoneme in
king, Korea and kind, but the same phoneme is spelt 'c' in words such as those denoting the
above mentioned IPA principles: consistency, convenience, comprehension. In certain
positions the letters 'ck' are used and they are still pronounced as a voiceless velar plosive:
neck, chicken, clock. The same sound can be heard in chemistry, epochal, and dichotomy, but
this time it is spelled as 'ch'. In quiet, quality, and unique yet another symbol is used. As if it
were not enough, some of the symbols we have found for the voiceless velar plosive /k/ are
used to represent quite different sounds. The digraph 'ch' from chemistry stands for a voiceless
postalveolar affricate in champion and for a voiceless postalveolar fricative in chef. We can
say that the English orthographic system is from the phonetic point of view quite inconsistent.
(Absolute phonetic consistency is actually not desirable, as it would hinder rather than
simplify everyday use of written language — see Vachek, 1942 and Pinker, 1994.)

Consistency is a leading principle in all phonetic and phonological transcription systems.
You may be surprised to find that in older American phonology, male, lake and straight are
traditionally transcribed as /mel/, /lek/, and /stret/, while mile, light, strike as
/majl/, /lajt/, and /strajk/. Thus /e/ is used for what we hear as /ex/and /aj/
is used for what we hear as /ax/. Similarly, close is transcribed as /klos/, while clown as
/klawn/. /o/ is used for what we hear as /ou/, while /aw/ is used for what we hear as
/au/. This system, nevertheless, cannot be easily dismissed as inconsistent. There are
historical, dialectological and conceptual reasons behind it and the system is consistent within
its own principles.

ad b) Convenient transcription lends itself readily for comfortable use to anyone who
needs it. This requirement often clashes with the effort to be precise. The most convenient
system for Czech users would be based on the Czech alphabet with as few alterations as
possible. The IPA is based on the Roman alphabet, which is well known internationally. The
Roman alphabet on its own, however, does not provide enough symbols and some others have
to be imported from elsewhere. In 1888 a principle was agreed upon which stated that: "The
new letters should be suggestive of the sounds they represent, by their resemblance to the old
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ones." Thus, if a symbol is needed for a vowel which sounds partly like [a ] and partly like
[e], both letters are merged to give &. Similarly, if the Roman alphabet does not provide a
symbol for a voiceless postalveolar fricative which is both acoustically and articulatorily quite
close to [s], a symbol bearing some resemblance is accepted - [ § ]. This moderate iconicity
seems to be very convenient for anyone who is acquainted with the Roman script.

Exercise 1.1. Inspect the IPA charts of consonants and vowels in Pictures 1.1. and 1.2., and
see if you can identify and name letters after which individual symbols are

modelled.

Bilabial | Labiodentat| Dental | Alveolar | Pestalveotar| Rewoflex
mse | P b t d t d4
Nasal m m n | n
Trilt B T
Tap or Flap f {
mae QO BT VIO B|sz|f 3|8 2
b, R
ﬁ«mxmﬁt v 1 X
—— I 1

Figure 1.2. Vowels of the International Phonetic Alphabet. (Revised to 1993, Updated 1996)
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Alexander Melville Bell's phonetic symbols were intended to be even more iconic than
the IPA symbols. All consonants with a complete articulatory closure, for example, had a
closed circle as a part of their symbol, voicing was always represented by the same stroke
added to a voiceless symbol, etc. They were very logical and systematic, but inconvenient for
print and for non-specialized users. Jespersen's formulas (e.g. alcflfed0e3 for /s/, or
alcPlfedOel for /z/; see Palkova, 1994, p.13) were even more descriptive, but equally
inconvenient for general use.

To increase convenience, the IPA is flexible and allows for additional symbols or
conventions, as long as they are properly explained in the material in which they are used. For
example, spaces between words can be used to signal the word boundaries, although there are
often no periods of silence or other breaks between words in real speech.

ad ¢) A transcription system which can be used for one language but not for another is
not very comprehensive. There are thousands of languages in the world and if we want to
compare them, we have to record them in comparable fashion. The IPA aspires to enable
linguists to do so. The Journal of the International Phonetic Association has brought many
proofs that it is possible. The IPA is sometimes slightly adapted to suit the individual needs of
a particular language description. This should not be a problem as long as it is clearly stated in
comments accompanying the transcription. The IPA chart contains, for example a symbol A,
which is used for an open-mid, back, unrounded vowel. The modern British English phoneme
/ A/, however, is an open-mid central vowel.

Working with various national versions of the IPA should always be carried out with
caution. It is clear, however, that national versions never digress too far from the official IPA.
That cannot be said about other systems encountered in contemporary materials. Testing the
comprehensiveness of the American Webster's transcription would probably be a waste of
time, as it was taylored specifically for anglophone users. A transcription system which is not
used internationally is unsuitable for general linguistic purposes.

An interesting adaptation of the IPA is so called SAMPA (Speech Assessment Methods
Phonetic Alphabet). It is a transcription system for machine-readable (ASCII) computer files,
which was devised by an international group of phoneticians coordinated by J.C. Wells of
University College London. Its extended version, called X-SAMPA, contains all the IPA
symbols, including diacritics. Thus, every known human language can be transcribed in a
machine-readable format.

1.3. Basic assumptions

There are several important assumptions that have to be made clear before the actual
transcription practice is commenced. They explain the choice of material and the method of
its presentation throughout the textbook.

1.3.1. A reference accent

English is spoken by hundreds of millions of people. From time to time we may witness how
communication breaks down because a speaker of one accent of English cannot adjust to the
accent of another speaker. One English word can be pronounced in many ways and even the
best pronunciation dictionaries do not list all regional possibilities. For introduction into
transcription practice, one reference accent must be singled out to create space for focused
training. We have chosen general British Received Pronunciation, also known as BBC
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English. It is important to remember that whenever in the following chapters we say English,
we mean this specific accent of English. Our decision is based on purely practical reasons.
Speakers who have reservations against our reference accent can be assured that after they
have done all the exercises in this book, they can easily proceed to work on their favourite
accents. We cannot be unsettled by letters like this hypothetical one:

Dear Sir!

In your book you teach people to pronounce the
word police as /pa ' 1i:s/. My friend says that in his
hometown everybody says / ' peauli:s/.Itherefore find

your book unreliable and will not use it anymore.
Yours sincerely,
Arpad Sulkin

Our book does not teach people to pronounce words one way or another. Students who
wish to pronounce words differently from what they find here should do so. Acquired
transcription skills will only help them to note down the differences between their variant and
those they hear elsewhere.

1.3.2. Inner variation

Even within general RP, our reference accent of English, pronunciation of individual
words is surprisingly unstable. Nosek (1991) claims that one third of the word stock can be
labelled as unstable, which means that one word offers more than one standard pronunciation
alternative. To give a few examples:

There is a noticable decline in the usage of /T/ on behalf of /o/ in unstressed positions.
Conservative hopeless /heuplis/ is more and more frequently replaced by /heuples/,
and telephone /tel1ifoun/ is becoming /telafaun/.

Compression of two syllables into one is acceptable in many words, though not in others.
We can say convenient as /ken'vi:nient/ with four syllables or /ken'vi:njent/
with three syllables. Compulsory /kem'palserz/ often loses one syllable to become
equally standard /kem 'palsrz/.

Various degrees of asimilation or elision are accepted. Tuna fish canbe /t ju:nefzf/,
/tf§uinafzf§/,aswellas /tu:nafzf/.

Financial can be /fax'nen§l/, /f1'nenfl/, or /faznen§1/, and islamic can be
/1s'la:mik/,aswell as /1z' lemzk/. A

Because English pronunciation is much less stable than Czech pronunciation, Czech
students are sometimes reluctant to accept what their teacher says. When they learn that the
word garage can be pronounced /gera:3/, /ge'ra:3/, or /gerid3z/, they think the
teacher does not know the right answer so she is making the options up. They test her and ask:
‘Should we say /kIlpmi:te/ or /k1'lomzte/?" The teacher, of course, says: 'Both are
correct'. Some of the students then think that in English pronunciation anything goes, others
assume that their teacher is incompetent. However, those who have ever worked with a good
pronunciation dictionary know how flexible, or shall we say tolerant the standard
pronunciation is. In this sense, the Czech standard pronunciation norm is much stricter. The
flexibility of the English pronunciation norm has its limits. If we refer to our Polish friends as
/pplxf§/ and at the same time we claim to /paulI§/ our shoes to make them shiny, we
are dangerously wrong!
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Exercises in this book consist of tasks which have to be solved. Possible solutions are
provided in the Answer Key (Section 7). The suggested solutions are by far not the only
correct answers. Students are encouraged to use reliable pronunciation dictionaries to expand
their awareness of acceptable sound variation. The suggested solutions were all consulted
with various sources (e.g. Wells, 1990; Jones, 1991; Oxford University Press, 1992; BBC
recordings, etc.), and the prevalent versions were chosen.

1.3.3. Transcription material

We know that to fulfill the purpose of this book we must avoid the temptation to assemble a
large number of words that are exciting for classificatory phonologists, but not frequently
used in everyday conversations. An example of this habit of some enthusiastic scholars could
be the word heifer, which I once found in a transcription test! Poor students were given this
word in print, but because they did not know it and they could not access its sound, they failed
to transcribe it correctly. Words like this one should be used to test the students’ knowledge
of advanced vocabulary. (Heifer is pronounced /hefe/, and means primarily a young cow
which has not had a calf). If we place it in a transcription test, we are not testing how efficient
our students are at writing unambiguous marks for individual sounds in English words. We
are putting our students off transcription and they quickly assume a negative attitude towards
a tool which is designed to help them. Linking transcription practice with difficult marginal
words can have very devastating effect. Transcription can help only those who do not fear it.
As much as possible, this book will attempt to present transcription practice without
unnecessary vocabulary load. If, however, a word of more advanced word stock appears in the
exercises or the text, it can always be found in the vocabulary index at the back of the book.

Figure 1.3. /sam @ke 'demrks deunt bpde |
to mexk dee buks mo: pzlstebl/

The choice of topics which form the skeleton of the book was guided by an attempt to
raise a variety of issues that are interesting and, at the same time, allow some degree of
generalization. The explanations of various pronunciation phenomena are simplified and kept
as short as possible. The purpose of the book is to provide transcription practice and not a full
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linguistic description of English phonology. Students should always remember that to learn
the whole truth about individual problems, they have to turn to some of the more detailed
studies, like those recommended for their regular course of phonetics and phonology. Some
useful hints can also be found in the reference section at the end of this book.

- To answer the questions correctly is not always the main purpose of the exercises. It is
also the process of practising, not only the product that matters. In the multiple-choice format,
for example, it is more important to read properly the offered options than to guess the correct
answer. Students should not be nervous about arriving at different solutions to the presented
problems. The Answer Key is meant to provide first aid and not to be the ultimate authority.

Prosodic transcription is not included in the current practice. A new book dedicated to
the notation of English stress, rhythm, and intonation should follow in the foreseeable future.

1.3.4. Graphic conventions

To make the reading of the explanatory texts easier, the following graphic conventions
have been adopted. Example words are always given in italics, but short grammatical words
or morphemes are, in addition to italics, highlighted also by single quotation marks. Letters of
the alphabet and regular digraphs are given in single quotation marks. When we speak about
various transcription symbols in the sense of graphic entities, we put them in bold letters
without brackets. Graphic symbols must be distinguished from phonological units called
phonemes. These are given in slant brackets. Allophones and speechsounds are presented in
square brackets. Phonemic transcription as such is enclosed in slant brackets only when it is
necessary to separate it from an orthographic text. Otherwise, the distinction between texts
and transcription should be clear from the context. Similarly, allophonic transcription is
enclosed in square brackets only when there is a danger of confusion with other types of
transcription. On the use of other symbols, see Sections 2 and 6.

Pay special attention to the conventions related to stress-marks. It is very important to

remember that the first-syllable stress in most words is assumed by default, and therefore not
marked (See 2.3.).

Event Graphic marking Example
Polysyllabic example words italics textbook, load, idea
Short words and morphemes italics + single quotation marks | ‘an’, 'or’, "-ed’, '-ful’
Letters of the alphabet, digraphs = single quotation marks 'd’, i, 'ck’, 'ea’
Symbols as graphic units bold script P,A e, x
Phonemes, /n/,/a/,/5/,/h/
phonemic transcription slant brackets /swimip pu:l/
Speechsounds, allophones, v [o], [pP"]
phonetic (alloph.) transcription cHre Hackes [s"wimip p""u:i]

Figure 1.4. The summary of graphic conventions.
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2.

Individual Phonemes and Basic Symbols

2.1. Vowels

There are twenty vowel phonemes in English. Their articulatory description can be found
in many pronunciation manuals and good textbooks of phonetics provide even acoustic
descriptions. It is presumed that users of this book have access to such reference material. We
will now list English vowel phonemes together with example words and comments on the
IPA symbols adopted for their transcription.

2.1.1. Monophthongs

/i:/

/x/

/e/

/&/

Eve /i:v/,feel /£f1:1/,three /Ori:/

Some transcription systems do not use the length mark :, because the length of
English vowels is very changeable. The length of a vowel in English depends on
whether it is followed by a fortis or lenis consonant, whether it is in a stressed or
unstressed syllable, whether it is in a monosyllabic or polysyllabic word and also,
whether it is in a sentence-final stress group or not. The difference between /1:/
and /1 /is actually in their timbre and not necessarily in length.

in /1n/, big /bxg/

The symbol of this vowel suggests that it is not as 'sharp' as its counterpart /i:/.
The tongue must be lower and further back in the mouth to make it less sharp. This
is indicated by the missing dot over the symbol and the two serifs. Serifs are the
smaller horizontal lines used to finish off the main stroke of a letter. Notice that
these serifs have to be used even if you do not use them for any other letters in your
transcription, e.g. /lip/, /midnart/. As we have mentioned above, /I /can actually
be longer than /1: /in a specific phonological environment. However, whether it is
pronounced long or short, its timbre is always 'darker' due to a more open and lax
articulation. The symbol /1/seems to reflect this 'darkness' in timbre remarkably
well.

end /end/, red /red/

In comparative transcription (i.e. transcription which helps to compare various
languages or dialects) we would have to think very carefully to decide whether to
transcribe this English phoneme as /€/ or /e/. This is because English speakers
pronounce the sound somewhere in between. However, in texts where it is clear that
we are transcribing English without comparing it with other languages, symbol e is
recommended. This simplification brings no danger to Czech speakers of English,
who usually target a sound which is quite suitable for RP /e/. (Speakers of other
languages may need to be more careful, though.) It is useful to know that some
transcribers insist on the symbol € in words like red or end and use e for diphthong
/e1/as mentioned in Section 1.2.

actor /@kta/, black /blaek/

This open front vowel has a very well designed symbol. It merges two Roman letters
'a' and 'e' (ae— @) to show that the quality of the sound is about half way between
/a/ and /e/. The symbol @ can be found even in very simplified transcription
systems, although some dictionaries opt for using non-IPA symbols. American
Webster's honours its very long tradition by using & and The Gage Canadian
Dictionary uses plain a. Another advantage of the symbol & is that it usually looks
wider than other vowel letters, which corresponds with the fact that the vowel /a&/
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/A/

/e/

/a8t

Jai

/n/

/0!

/u/

/

Individual Phonemes and Basic Symbols

is on average lo‘nger than all the other so called short English vowels (i.e. vowels
transcribed without the : length mark).

up /Ap/, sun /san/

‘The timbre of most modern English realizations of this vowel suggests that the IPA

symbol & might be a better choice for it. However, thanks to its historical origin the
symbol is A and Czech students do not find it very confusing, as the symbol reminds
them of capital 'A' and leads to the pronunciation of the Czech central open /a/
which is relatively acceptable. The English vowel /A/ has a very interesting history
and it is useful to know that many northern English accents do not use it. (For more
information see Henton, 1990.) :

arrive /o ' raxv/, lemon /lemen/, Africa /efrike/

This central mid lax vowel is extremely varied in its sound properties. Because of its
symbol and because of the properties of the Czech vocalic system, Czech beginners
sometimes replace it with /e/, pronouncing again as /e'gen/ instead of
/o 'gen/. The vowel, however, is a source of many other pronunciation and
transcription errors and we will deal with it in greater detail in Section 3.4.1.

earn /3:n/, first /f3:st/

This phoneme was previously marked as /o:/. A new symbol was devised to
show that /3:/, despite having similar formant frequencies as /o/, is generically
an independent phoneme. It is not related to and should be thought of separately
from /a/.

arctic /a:ktxk/, calm /ka:m/, star /sta:/

The symbol of this open back vowel should not be replaced with a: as its sound is
different from just a longer version of the open central vowel /a/. It is as if the
symbol a:was warning against careless substitutions and was trying to encourage
students to concentrate on the real back quality of this vowel.

orange /orind3z/, stop /stop/

In the similar manner as & suggests merger of 'a’ and '¢', the symbol D suggests the
merger of 'o' and 'a', which is a very useful reminder to students who wish to
pronounce this vowel properly. They realize that the position of articulators should
be somewhere between [0] and [a].

always /o:1wez/, horse /ho:s/, law /1o:/

The circle in symbol o is unfinished or open, which shows that the pronunciation
should be more open than of traditional [0] as we know it in many other European
languages. More open pronunciation of a vowel generally means lower position of
the tongue and the jaw.

book /buk/, push /puf/

The symbol for this vowel is useful in the sense that it reminds our students of the
different quality of English /u/ from Czech /u/. It fails to show, however, in what
manner its quality is different. We have to remember that the modern English vowel
/u/ is generally less rounded and more front than its Czech equivalent. Less
rounded pronunciation means that the lips protrude less forward and are a little more
neutral. The symbol, unfortunately, looks somehow more rounded than its Roman
counterpart.

15



IPA-Based Transcription for Czech Students of English

/u:/ moon /mu:in/, Tuesday /tju:zdx/ or /tjuizdex/, shoe /Su:/

This English vowel is pronounced slightly differently from its Czech equivalent (cf.
Cruttenden, 1994; Palkova, 1994). This is not captured by the international symbol,
which only cautions the students not to pronounce /u:/ with the same timbre as

/u/.

1iand u

In addition to the twelve vocalic symbols which have just been introduced, many
textbooks and dictionaries use two non-phonemic symbols i and u. As Ashby et al.
(1995) state, this clearly violates the strict phonemic criteria of traditional practice.
On the other hand, it is very practical in regard to capturing the canonical
pronunciation of certain words. The symbols i and u indicate that in their position,
the differences between /x/and /i:/,and /u/ and /u:/, respectively, have been
neutralized. To give a few expamles, the word lovely can be pronounced /1av1z/
as well as /1avli:/, the word archaeologist is often pronounced somewhere
between / a:ki'vledzist/ and /, a:ki:'pledzrst/, and the word
influence can be pronounced /Influens/ as well as /Influ:ens/. The non-
phonemic symbols stand for sounds that do not reflect the clear quality distinction
between /1/and /i:/ or /u/ and /u:/. The types of words where neutralization
can take place are strictly defined (see Wells, 1990). That is one of the reasons why
we will not use non-phonemic i and u in this textbook to a great extent. The only
purpose they will serve will be to indicate a syllable boundary between two vowels
inside a word in places where there is a danger of confusing two monophthongs for
a diphthong. The last syllable in academia /®ke'di:mie/, for example, should
not thyme with here /h1s/. (Alternatively, we could avoid the non-phonemic i by
using the IPA symbol for a syllabic boundary and write /&ke'di:mI.a/ or
indicate an optional transient linking sound and write /@ke 'di:mzIa/. See also
explanations in Section 2.1.2.)

. Exercise 2.1. In this vowel identification exercise you are offered a choice of two transcribed

versions for each word. One of them is correct, while the other is not. Choose
the correct version. (Mistakes consist in choosing the wrong phoneme.)

. A B

1. absolutely /ebse'luitlz/ /&bse'lutl1/
2. enormous /1'no:mes/ /1 'nomes/

3. fantastic /fen'ta:stzk/ /fen'testik/
4. abnormal . /&b'no:iml/ /&b ' noml/

5. wonderful /wondefl/ /wandsfl/

6. magnificent /meeg 'ni:fisnt/ /meg 'nifIisnt/
7.  definitely /definztlz/ /definztlx/
8. superb /su'p3:ib/ /su'psb/

9. fabulous /fa:bjeles/ /febjeles/
10. beautiful /bjuitzfl/ /bjutzfl/

11. lovely - /lavlz/ /lovlz/

12. breathtaking /braebterkrp/ /brebtezkin/
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Exercise 2.2. This exercise is very similar to the previous one but the type of mistakes is
different. They consist in using the unconventional (hence wrong) symbols this

time.
A. B.

1. silver strings /silve strinz/ /s1lve stripz/
2. first violin /feist vare'lin/ /fa:st vare'lin/
3. musical ear /mju:zikl 1o/ /mjuzzkl 18/
4. bass guitar /bexs gI'ta:/ /bers g1'ta:/
5. saxophone /sx&ksafaun/ /s@ksefaun/
6. jazz concert /dzxz konssat/ /d3zxz konset/
7. trumpet tone /trampit teun/ /trampzt teun/
8. electric organ /1, lektrzk 'o:gen/ /1, lektrzk 'o:gen/
9. wooden clarinet /wudn klere'net/ /wudn klzre'net/
10. her third symphony  /he 6e:d simfent/ /he 63:d simfeni/

2.1.2. Diphthongs

Diphthongs are controversial  elements in every vocalic system. Their status and
transcription are often questioned. Jenner (1996), for example, suggests to reduce the
traditional number of English diphthongs from eight to three. This might make sense from the
phonological point of view. However, practical purposes - most of all teaching English as a
foreign language - require that transcription be as straightforward as possible in enabling its
users to recover the sound of a transcribed word. For this reason, we accept that there are
eight diphthongs in RP. The question which of these are true diphthongs and which just glided
long vowels or vowels with a schwa-like allophone of /r/ will be left to consideration within
the framework of purely phonological research.

Some analysts propose to transcribe the weaker elements in closing diphthongs as j and
w instead of I and u. They suggest, for example, that the word my should be transcribed
/maj/ instead of /maz1/. There are various theoretical reasons for and against this solution.
For those Czech learners of English who want to learn proper diphthong levelling (or
smoothing), it is more beneficial to think of those weaker diphthongal elements as of lax
vowels rather than consonants. Levelling requires further weakening and in some cases even
loss of /T/ and /u/ in closing diphthongs. Symbols j and W might encourage mental
representations of elements which are more resistant to weakening than lax /1/ and /u/.

Specific transcription assignments may require a linking symbol or to be a part of
diphthong symbols. Thus, the word tie can be transcribed / taI/to show that /aT/ is a
diphthong and as such it is pronounced within one syllable, while prettiest /prItIest/can
be transcribed without the linking symbol because its /T8/ is usually pronounced with the
syllabic boundary between the two vowels, and therefore cannot be clasified as a diphthong.
The common transcription conventions of the British tradition do not require the linking
symbol and we will not use it in this book. It is useful to know that the vocalic systems of
some languages (e.g. Czech) require the linking symbol for diphthongs. In English, on the
other hand, if really necessary, the syllable boundary between two vowels can be indicated:

a) with an IPA symbol for the syllabic boundary: prrtI.est

b) with a transient linking sound if there is any: pritigest

c) with the already mentioned non-phonemic symbols: prrtiest (used in this book).
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We will now list English diphthong phonemes together with example words and comments on
the IPA symbols adopted for their transcription.

/ex/

/ax/

/ox/

/au/

/eu/

/I8/

/eoa/

/ua/

late /1ext/, stay /stex/

The symbol simply combines e for the point of departure for the articulatory gesture
and I for its target. The unbalanced nature of English diphthongs would be more
overtly represented by making the articulatory target smaller than the point of
departure, i.e. €z or e* . Students would understand better that the final portion of
the diphthong is very weak. On the other hand, these symbols would be more
difficult to type and print with older technology.

five /fazv/,try /traz/

The point of departure for this phoneme is transcribed with the symbol a. Notice that
this letter is not used for any of the monophthongs. The English open monophthongs
are /&/, /n/,/a:/,and /o/. Clearly, /ax/ is not derived from any of them.
point /poxnt/, boy /box/

The point of departure suggests that the tongue is not so close to the roof of the
mouth as it would be for a potential [ 0]. The target is represented by /x1/ as in the
two previous dipthongs, which indicates that it is usually quite lax and not as sharp
sounding as /1/. :

round /raund/, how /hau/

Similarly to /ax/, we use the symbol a for the departure point of this phoneme.
The target of the articulatory glide is the lax /u/.

road /reud/, home /heaum/

The diphthong /au/is often transcribed as /ou/or /ou/ by Czech students. This
is due to the influence of American English, where we really hear [ou] as a basic
representant of the phoneme. Another source of influence is transfer from Czech.
Students who wish to transcribe or speak British English should pay attention to the
starting point of the glide. It is an unrounded mid central vowel and not a back
rounded one. Some analysts would prefer symbol 3U to @U because 3 does not
refer to the weak and never stressed monophtong /a/.

beer /bxe/, here /h1e/

In order to adhere to the rules of phonemic transcription, we always use the symbol
I9, even if a particular speaker assumes closer starting pomt for this diphthong,
resulting in the allophone [is]

there /dea/, fair / feo/

In older tradition, this diphthong was transcribed as /€e/. Because the starting
point varies considerably across speakers and the non-Roman symbol £ was not
serving any purpose, it was simplified to /ea/.

poor /pus/, sure /§us/

It is a well-known fact that this diphthong is dying out in the British Isles. It is
gradually being replaced by /o: /. Whether to use it or not depends largely on the
assignment or transcription objectives.
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Exercise 2.3. This exercise focuses on diphthongs. Some of the diphthongs are transcribed

Example 1 don't do it now /deunt dur et

correctly. Others are either transcribed with symbols incompatible with the
convention introduced in this book or represent phonemes not found in a given
word. Detect the errors and mark those consisting in unconventional graphic
symbols with G, while those representing erroneous diphthong phonemes mark
P,

G (—av)

Example 2 play computer games /plaz kem'pju:te geimz/ P (—e1)

1. made a clear mistake /mexd & klee m1'stezk/

2. galaxy called The Milky Way /gelekst ko:ld 8e mrlki wej/
3. join a lonely traveller /dzo1n e lounlr travsela/

4. near the icy Pluto /nIie 8i: aisi plu:teu/

5. about the solar system /e 'beut 0o seule sistem/

6. five light-years from us /farv laztji:ez frem as/

7. famous star constellations /fermes sta: konste'larf{nz/
8. my wife knows captain J /max waif neuz kepten dzex/
9. shout in a loud voice /Saut In e laud vors/

10. go to the ninth planet /geu te 8o narnb plentt/

11. fear of the bright asteroid /frer av 8o brart esterozd/
12. Claire cured her thinning hair  /klarx kjued hs 61inip hes/

13. wear their spacesuits /wes deiIr sperssu:ts/

14. avoid crowded airbases /e'vord kraudid eebersiz/

15. destroy dangerous robots /d1'stroj derndzerss rsubpts/

2.2. Consonants

There are twenty-four consonantal phonemes in English. Their transcription is much less
complicated than that of vowels. In fact, 17 of them use the Roman letters as we know them
from Czech orthography: p, b, t, d, k, g, f, v, s, 2, h, m, n, r, 1, j, w. Only
seven of the symbols are unusual, though not illogical. These are:

/6/

/8/

/§/

thin /01n/, bath /ba:8/

The horizontal line in the symbol of the voiceless dental fricative could be thought
of as the edge of the upper teeth. This direct pronunciation clue makes it more iconic
than was the original symbol /P/, which looked like a combination of 'p' and 'h".

this /81s/, mother /mado/

The shape of this symbol somehow relates to the letter 'd". This should be an
advantage for Czech beginners, who often use /d/ as a substitute for /8/. The bar
across the top should urge them to use the edge of their upper teeth for correct
pronunciation of this sound. When you write this symbol, it is helpful to start with
the mirror image of number 6 and then cross the upper part.

shoe /Su:/, wash /wo§/

The symbol of this voiceless postalveolar fricative is actually a letter 's' stretched
above and below the printing line. Even though it would be harmless to use the
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/3/

/t§/

/dz/

/n/

(/r/)

Czech letter §' instead, according to the IPA guidelines, the diacritics are used for
variants of phonemes (i.e. allophones) and we do not want to suggest that /§/is a
mere variant of the voiceless alveolar fricative /s/.

measure /me3o/

Similarly to the preceding phoneme, the symbol for this voiced postalveolar fricative
shows its relative proximity to /z/, but at the same time, by not using diacritics (i.e.
Z), it shows its phonological independence.

change /tfeIndz/, watch /wotf/

It is not very fortunate to have a phonemic symbol consisting of two other phonemic
symbols. In the case of affricates it could be justified, as by their nature they are
interesting blends of plosives and fricatives. It is sometimes required to use linking
symbols ~ or _ to mark the difference between / t{/ as an affricate and /t §/asa
sequence of a plosive and a fricative. Following the British tradition, we will
transcribe /t §/ and /d3/ without a linking symbol in our book.

joke /d3euk/, George /d35:d3/

What was said about the fortis postalveolar affricate /tf/applies equally to its lenis
counterpart /d3/. It is traditionally transcribed without a linking symbol. If,
however, a special transcription assignment requires clear distinction between
affricates and contextual plosive-fricative clusters, the linking symbol must be used.
song /spn/, morning /mo:nIn/

The velar nasal /1/indicates by its symbol that it belongs to the same family of
sounds as /n/ but is articulated in the region of /g/. (Czech students might find it
interesting to know that Czech /1/, which is articulated against the hard palate, has
got a similar symbol: /n/. In English, palatal [n] occurs only accidentally as a
positional variant of /n/in fast speech and in such cases it is more appropriate to
transcribe it as [nJd ].)

Even though we have listed /r/ together with the other sixteen uncontroversial
symbols above, we have to point out that the real IPA symbol for this postalveolar
approximant, which so strongly characterizes English to non-native speakers, is
/1/(or /3/ for American English). The cover symbol /r/is used to simplify non-
comparative transcription. In the same manner, non-comparative French
transcription would use /r/ for the true French /B/. If we want to compare
languages with one another, we have to abandon cover symbols and other
simplifications and stick closer to the IPA chart. (See Figure 1.1. in Section 1.2.)

Exercise 2.4. Try to recognize the following words and fill in the missing phonemes. Use

one of the seven non-Roman symbols introduced above.

.Ik end hevz .&m and bate ki. end kwi:n

lp. end .a:p fr. end .z1ps kamfet end ple.o

nau end .en .In snd tonrk kri.en end ba:.ru:m
hrer ond .es ke. end .reu mri.s ond 1'lu:.enz
lips end ta. wp. and drar .Ira:fs end @ntrlesups
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2.3. Other symbols in phonemic transcription

There are a few non-phonemic symbols used in the simple phonemic transcription. In
Section 1.3.4., we have already introduced the phonemic brackets //, which are used to
indicate the beginning and the end of a transcribed text. Another element which should
receive attention is the word stress. Lexicographers usually use two degrees of stress, even
though you may come across dictionaries with primary stress only or, on the contrary, even
tertiary stress. The primary stress is indicated by a short raised vertical stroke placed before
the to-be-stressed syllable. Thus, behind /bI'haind/ is pronounced with the second
syllable more prominent than the first one. Some longer words possess so called secondary
stress. For example, the first syllable in anonymity /  @ne 'nrmet1/ is less prominent than
the syllable /nx/, but more prominent than the remaining syllables in the word. That is why
it is marked with a lowered vertical stroke — the symbol for secondary stress.

In most of our exercises, we will be quite economical with the stress marks. The primary
stress mark will be used only when the primary stress falls on a syllable other than the first
one. This means that if you see an isolated word without a stress mark, you should read it with
the stress on the first syllable. The exception is monosyllabic words containing schwa /a/.
Those are always unstressed. Later in the book, when more realistic transcription of
connected speech is introduced, primary stress marks will be used to indicate naturally
accented syllables.

The secondary stress will be indicated only when absolutely necessary, i.e. in words that
could be easily mispronounced without the proper indication. (It has been convincingly
proved that secondary stress is, above all, a property of an ideal isolated word. It usually
either disappears or becomes primary stress in connected speech.)

Another important symbol to be introduced is also a short vertical stroke. This time it is
placed under a consonantal phoneme and indicates consonantal syllabicity. The word little
/11tl/, for example, has two syllables but only one vowel. The nucleus of the second
syllable is formed by /1/ which receives the syllabicity mark: / 1/. Similarly, apple
/@&pl/or difficult /drfrklt/sound more natural with syllabic /1/ than with inserted
schwa: /@pal/and /dxftkelt/. Another consonant which lends itself readily to the role
of a syllabic nucleus is /n/. Words like certain or nation can be pronounced /s3:tan/ and
/nexfen/, or /s3:tn/ and /nex§n/. The latter option is far more common. The former
pronunciation with schwa is typical for slow, deliberate speech styles.

Unlike Czech syllabic consonants (e.g. chrcet / xrl‘t’\S et /or vicek / VLILtrX ek/), English
syllabic consonants cannot occur in stressed syllables.

Exercise 2.5. Fill in the symbols for primary stress and syllabic consonants. Remember that
the stress on the first syllable is assumed by default and is not necessary to
mark. You will need to fill in 8 stress marks and 12 syllabic consonant marks.

sudden promotion /sadn prsmeufn/ hidden equipment /hxdn Tkwipment/
important people /Impo:tnt pi:pl/  stretched muscle /stretf§t masl/
strict inspector ~ /strikt inspekte/ favouriteseason /fervrit si:zn/

lazy assistant /lexzi esistent/  cottonpullover /kotn pulsuve/
new technician /nju: teknzfn/ leather gloves /leds glavz/
clumsy mechanic /klamzr mrkenik/  latest fashion /lextist fain/
cheerful engineer /t§{1ofl endzenis/ horrible hat /horebl het/
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The last pair of symbols to be introduced are the prosodic boundary markers. The IPA
offers a single vertical line: |, and a double vertical line: ||. The rules for using these symbols
are not very strict. The single line is used for minor prosodic groups, while the double line is
used for major prosodic groups. Real prosodic analysis is beyond the scope of this book. We
will generally use the lines to make the reading of larger constructions easier. Single lines will
be used for tone-group boundaries with non-conclusive intonation, while double lines will
indicate more salient boundaries with conclusive intonation.

Examples: a) /twentr stju:dnts | end sunlr wan tfes/
b) /neubed1 mu:vd | a: dex hipnetarzd/

The symbols for allophonic transcription will be introduced one by one in their

respective chapters later in the book.

2.4. Combined practice

Exercise 2.6. In the following words, fill in the gaps with an appropriate symbol. Choose
frome, a, A,and a:.The missing symbol might be a part of a diphthong.

This would be indicated by the symbol ~ (e.g. -U for av).

bank /b . pk/ bus stop /b . s stop/

park /p . k/ night club /n "It k1 . b/
castle /k . sl/ town hall /t “un ho:l/

palace /p . lxs/ public gardens /p . blik g . denz/
library /1 TIbrerz/ car factory /k . “foF kbeprt

underground / . ndegr -und/ traffic lights /tr . fik 1 TIts/

Exercise 2.7. In the following words, fill in the gaps with an appropriate symbol. Choose
fromi:, 1, e, 8,and 3:. The missing symbol might be a part of a

diphthong. This would be indicated by the symbol ~ (e.g. -U for 8U).

bench /b . nt§/ pavement /pé. vm . nt/

bridge For' o dwf sweetshop /sw . tSop/

church /t§ . t§/ hairdresser /hé. dr . se/

gate fg.. 2t police station /p . 'l . s stexfn/
theatre /B18t . / hotel /heu't . 1/

road /r Tod/ advertisement /. d'v . trIsment/

Exercise 2.8. In the following words, fill in the gaps with an appropriate symbol. Choose
from u, u:, o, o:,and . The missing symbol might be a part of a

diphthong. This would be indicated by the symbol ~— (e.g. . T for OT).

corner /k . na/ noisy street /n . Izr stri:t/
statue /stet§ . / postoffice /ps. st . fis/
monument /m . nj . ment/ sidewalk /sazdw . k/
butcher's /b . tfez/ supermarket /s . pema:krt/
airport /esp . t/ checkpoint /t§ek p .Int/
crossing /kr . sip/ restaurant /rester . nt/
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Exercise 2.9. Find the appropriate phoneme.

Example 1 the 3rd phoneme in crazy .../@I/... (The first is /K/ and the second is /r/)
Example 2 the 2nd phoneme in George .../9 I/... (The firstis /d3/)

1. the 5th phoneme in prefer ... 7. the 2nd phoneme in heart  ........
2. the 7th phoneme in understand  ........ 8. the 3rd phoneme in play ...
3. the 4th phoneme in wedding ... 9. the 6th phoneme in computer........
4. the 1st phoneme in office ... 10. the 4th phoneme in woman  ........
5. the 2nd phoneme in mother ... 11. the 7th phoneme in textbook ........
6. the 6th phoneme in volleyball  ........ 12. the 2nd phoneme in now........

Exercise 2.10. Find the appropriate phoneme. This time, the instruction is in transcription in
order to help you to get used to it before you start transcribing whole words.

1. /0se sekend feuni:m xIn/ choice ...
2. /®e 63:d feuni:m xIn/ school ...
3. /8s fz3:st feuni:m In/ England ...
4. /0s fxfO founi:m In/ piano ...
5. /0o fo:0 feuni:m xIn/ report ...

Exercise 2.11. Fill in the missing phonemes into the transcribed parts of a bicycle.

s . dl fr. m hazndlb . z

r . lazt

brez.
w . 1
taz v .1v

Figure 2.1. Drawing for exercise 2.11.

(saddle, frame, handlebars, brake, valve, pedal, chain, tyre, wheel, rear light)
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3. Isolated Words

3.1. Frequent vocabulary items

English IPA-based transcription upsets newcomers to the field by its unusual appearance.
Transcription skills, however, can be acquired quite painlessly if students spend some time
gettmg used to strange-looking symbols in the context of individual well- known words. That
is the purpose of the following exercises.

Exercise 3.1. The following wordsquare contains twenty-five English first names. They are
not hidden diagonally or backwards. When you find each name, put it in
regular spelling into an appropriate place below the wordsquare, where the
initial letters of the names are indicated. Also, note down the place where the
name begins and the direction (horizontal — or verical |) in which it is written.

name: place:
Example: .Adam....... .. A.104.. (i.e. Adam is transcribed from square A10 downwards)
1 2 3 4 5 6 7 8 9 10
A lS|r|ajt§|b|u m|e|p &
B |3:|3|m|a:|8 e |az|j |s |d
c |9t/hje |1l |1z |n |k |ex|t |e
p |d|&|r |z |d3eu|l s & m
E | k|ir|z|s|z|d|n | |n |a:
F |[b (|1l |ju:rim|w|i:r|t§|1 |t
G |d3|® k |z |o1|6 |bleu|I |I
H |(e|m|u | n|(|d3r|p b || n
1 hie|d| e |p|b|ue|3 |au
J |T|d|p n|l djerv |z |d
name place name place name place
9 ; SO ST S 1 O Y S
0 - O Tt oo Y S
wCoverrmnerins wvvvvsemnriiene Lovvrssorsivnsnss somsmmmsussoess 1 SO
wCovvvrrenrrcins v . L T Recrmrrevrrenss ceevvvesessenes
505 SO Tt bl siermeiniin” 8 Siveeererrieenes eeeeeemeneesenes
5 0 SO Keovsmmnnes comvvvesenes TSR
. - 1Y ST Sietenrrerierees eeereerineesenes
5 & AR Mo e TS



Isolated Words

Exercise 3.2. This exercise introduces transcribed names of colours. Write the items of the
left column in regular spelling and match them with their corresponding
ingredients in the right column. The first one has been done for you as an

example.

1) ta:kworz ..Turquoise.. blu: end red

2y mrradz 0 (lLLSELSd. \ blek end blu:

) EPer |00 U Lii Skl : lart blu: end gri:n
5 waralat - usseeessmemes brauvn end wart

o TN = 1 i 06 ¢ A — blek ond wartt

6) ,neIvi'blu: .. jelsu ond red

7) berz (bexd3d) ... da:k braun end red
8) PIDK jelsu end blzk

IR 2 AP — red and wazrt

10} BB TUIIL. .. ... csspmbsnmmmmsiss jeleu end blu:

Exercise 3.3. In order to get used to the symbols and feel at ease when transcribing, it is
necessary to practise mental manipulation of the symbols. This manipulation
can be playful and effective at the same time. In this exercise, we have groups
of transcribed words and our task is to write the words in regular English
orthography. However, all the words in each group are contaminated with a
phoneme which must be eliminated before the actual word is recovered.

Example 1 mauvls \ dvlpg k&lt 3
— mauls dlng keelt §
- mouse dog catch

Example 2 frenod sptrist splip swi:tp
- frenﬁd szatrl ot sall P swi: tg
— friend  street  sleep sweet

As you can see, there are several clues to help you. The first is the word itself. We are using
only the most ordinary words that are in everyday use. Second, the contaminating phoneme is
the same for the whole group. Third, the contaminating phoneme sometimes breaks English
phonotactic rules, e.g. /d1lpg/ (- there are no words beginning with /d1/ in English), or
/swi:ito/ (- no word can finish with /0/). Try the following words.

1. sriks trezbl bro:1l dresk
2. dwine wrt§ sta:w kwezk
3. feuns: fa:laz 3:faxv &p3:l
4. Orpk k3:0 Okri: plezk
5. menge stomp haum hempzx
6. O1Ips Oxpt di:zp dauzp
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Exercise 3.4. Find the transcription errors in the following names of sports and try to correct
them. : '

Example: skertipk — ske1t113§ — skertip

bedminten sarclzp dzrmnestiks box1In
d3pggin ®d'letzks texblstenzs tf{ess
dzu:do ke'ra:te ho:srezciy sqwp §
arzhokzr bexzbo:1l wind'ss3:f1p sk1ip

Exercise 3.5. Transcribe.

BYMASE Govsonsoisossbasgimranmansrance Jockey i, ST, [ aeesspsamunasnyraseps
Chessplayer: el mmmsssss Lo (v 1 SR — BOREL wspsdimswavsnsssinin
windsurfer ........ccceevivvenreennnne. gthlete  ..lociimmmemensess 027205 SR

Figure3.1. ® kwestfn || 1f da:ts | wer en o'limprk spo:t I
wit]{ nerfn | wud win 8o meust gould medlz

Exercise 3.6. Read the following 'wordsnake', but pronounce the names of the countries
clearly and separately. Then rewrite the names of the countries onto the lines
provided bellow. Divide them into two groups. Group 1 should be the names
with the primary stress on the first syllable. Those should be rewritten into the
appropriate spaces without any changes. Group 2 should be the names with the
primary stress on the second or third syllable. Those should be rewritten with
the appropriate primary stress marks.

denma:kswi:dpno:wexdsep&nbrelepo:UUQLnIpo:1
pa:kista:nbeld3zemsu:da:nrizrereli:d3zpttrbettju:ints
peru:zimba:bwrpstrievi:etnamrra:nkaneade
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.......................................................
.......................................................
.......................................................
-------------------------------------------------------

.......................................................

Exercise 3.7.

Japanese.

................................

Vietnamese

................................

Portuguese

................................

Norwegian

................................

Exercise 3.8.

Isolated Words

Group 2:
Brazilian ......c..cccecceevuevenen BeEIFIAN o ccossasssnammssmmammesns
EGYPHAN ucccivikrsspmmsonnsavissss FEANIaR . suqsvsmnsivpssvnmumsmnionts
Canadian ........ccccoeeeeueennene Istacll ¥ ioiiiiiiisaiiimnnenes
Peruvian .......ccceceeervunenne Swedish ....cccooveeeiiieennennne.

In this exercise we will work with words consisting of three phonemes. The

words follow one another in a chain. Each word differs from the preceding
word by one phoneme. Look at the chain of changes and reconstruct the
words. Then check your answers in the Answer Key.

Examplel: hi:t — heat Example2: latk — like
.aIx. — height .t — light
r. . — writeorright f.. — fight
.eUu . — wrote .n  — fine
.d — road .eu . —> phone
Now it is your turn:
N R R =14 P e U = e
o SN ST h . = s e F repvvesarrers
=5 PR 1 s S n > e
&® . N - B i s Lls L R s
1 N P ., I B ssaiial . 31 B i i
. Ui o TR — b Sl . 4 V. oar. ¥
Continue in the second column Continue in the third column
Exercise 3.9. Transcribe.
Monday .. 1117 111 RO 3451111 AU
BMONCY -« ccsiormieahirzvsrionbituie 5 11 SO S| 11111111 1RO
manipulate  .....oeceecerieenene. 111197111 (R ——— miniskirt — ..ooceiveiniiieen
MANY PEOPLE. isssssiosmemsninasyans INOBIIDG <2 csussconenssnenonssruses 1511070111 7:11 1 OO
WMANAPEF ¢ Ll sisessnniasss b5 (o AR S MR AR moonlight .......ccccenviinnnnnes
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3.2. Words with standard weak forms

Every English word which is pronounced in isolation has at least one stressed syllable. In
understand /ands ' stand/ it is the third one, in receptionist /T1'sepfenist/ it is the
second one, and in shop / §p/ it is the only one that is there. The stressed syllable of a word
contains one of the English full vowels (but not /8/, and not a syllabic consonant). Words in
standard connected speech should more or less preserve the prominence of their stressed
syllables or at least the quality of their full vowels. There are exceptions, however. One of
them concerns a group of monosyllabic words which are very often pronounced without any
stress and with the vowels reduced to /a/. There are about fourty of them. (O'Connor (1980)
lists 35 , Menhard (1982) lists 54, Roach (1991) lists 43, and Cruttenden (1994) discusses 48
of them.) Pronunciation textbooks typically treat these words as very important. Experience
shows that students who do not learn how to pronounce them and how to recognize them in
real spoken English are often confused or confuse their communication partners.

These words belong to a larger group of so called structural words (sometimes also
called grammatical or function words). They include articles, auxiliary verbs, conjunctions,
modal verbs, pronouns, prepositions, etc. The reason why they normally occur in weak,
reduced forms is that they are relatively less important for the meaning of utterances and they
are predictable from the positions in which they are found. In a question like Who are you?
/hu e ju:/itis sufficient to pronounce are as /o/ because if we understand who and you,
it is quite easy to reconstruct the little word in between. For the same reason it does not matter
if four words 'a’, ‘are’, 'her’, and 'or’ are all occasionally reduced to the identical weak form:
/a/. (The reduction of ‘or' is quite rare, though.)

Some of the words have more than one weak form in casual speech, e.g. you: / ju:/ —
/ju/, /jo/,and /j/ asin /dej 'neu him/ or and: /&end/ — /end/, /en/, and
/n/ asin/'wartn'jeleu/. As you can see in the last example, a weak form sometimes
involves not only reduction of the full vowel to /a/, but also a loss of a consonant: /&nd/
can lose its /d/. Similarly, must can become /mes/ and just can become /dzes/.
Surprisingly, if ke, his, or him lose their /h/ in their weak forms, the speech does not become

negligent. /ax latk Im/ sounds neutral and natural. The loss of /h/ should not happen at
the beginning of an utterance, or when the pronoun is required in its strong form.

Strong forms of the structural words usually occur:

1) under special emphasis, either contrastive or emotional
No, give it to him, not to them.
/'neu 'grv 1t te 'him npot te 'dem/

2) when the structural word is stranded at the end of a sentence or a syntactic phrase.
Wereyouat home?  Yes, I was.

/we ju et 'heum 'jes aA'wpz/

The whole problem of strong and weak forms of words is quite complex. Some words
have weak forms only in certain meanings. For example, that is usually weak as a relative
pronoun, but always strong as a demonstrative pronoun. Moreover, in rapid casual speech any
unaccented monosyllable can be reduced: come back - /kem'bak/ or They all sat down

/8ex'o:1 set'daun/. For a fuller account find the appropriate chapter in your textbook
of English phonetics.
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Exercise 3.10. Write the highlighted expressions in regular spelling and give the
transcription of their strong forms

spelling: strong form:
Example: irzie ozt 1)..wWas.. ../wWpz/...
2)..than. ../ 3zn/...

keafelr ||
9di:terld || d1s

npt

Je rest ||

wontzd to:k tu/
spelling:  strong form: spelling:  strong form: spelling:  strong form:
Brona= AR L N YE WO
2, JRER A 7) TP T b smorssomsen. winasoisiein
B et s et ) G 1) PRI
e e el N ] DY e sessisssrnprses /7. SRS R
B st - oot §10) W 15 wieicmsion « s ppineymes
Exercise 3.11. Fill in the weak forms of structural words
mI 'kentks
I'm....... not §ue | hau kwiklr Ican ......... 18510 | 10 s ju:z 81s me'fi:n ||
It LUKS @ brt komplrkertid || hav dzd you ... seI | Ishould ...
plag It 1In | ou die | 8®t wasa.... streind3 saund || Doyou ...........
01pk 1ts breuvken || ar got a ... lets fromthe........... kampenr 8i: ade
dex | and ....... dex sed | deI would ... defrnetlz kam and ...
ri'pee | wot was..... NEeSeSrI || There were SOMe c.cuvvececuvenncnens skru:drarvez
and ....... hemez ande mar desk || My... fa:8errnlo: bro:t them ... | and
....... ar teuld him....to0..... pUt them........ 368 || Couldyou ............... hauld e
lazt for...... mi: | nau | youmust ... heuld 0e top of.... it | texzk
VOUR supuens tarm | Ican........ wert

Exercise 3.12. Decide which of the structural words should be in their weak forms and which
in their strong forms

How could you do that?

Ask your mother for help.
When do you want to meet her?
They can come at once.

But you can see her face.

Tell him to bring some vegetable.
There was a problem there.
I don't think you must, but you should.
What are you looking at?

. He's as proud as Lucifer.

Np v =
—
oL

Exercise 3.13. Weak syllables of grammatical words together with other unstressed syllables
alternate in speech with strong syllables of content words. This gives our utterances specific
rthythmical patterns. In He's a tyrant /hize'tarsrent/, there are two unstressed
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syllables, then a stressed one, and finally another unstressed one. This particular structure can
be represented symbolically by small and large dots: o e @ o . Transcribe the
following fifteen sentences and divide them into three groups according to the rhythmical
pattern. The first sentence has been done for you as yet another example. It has got three
unstressed syllables followed by a stressed one so it falls under the first thythmical pattern.

Can you just wait? There are some clothes. Are you angry? England and Wales. What do you
think? Can you tell him? Is it a rock? Silly but nice. I'm just a dwarf. In a classroom. There's a
demon. There must be gold. Give him a break. Purple or black. Shall we ask them?

....................................................................................................................................
....................................................................................................................................
....................................................................................................................................

....................................................................................................................................

Exercise 3.14. Transcribe and draw dots to symbolize the stress patterns.
on Friday at three

from half past eight

................................................................................................

................................................................................................

in the late afternoon

................................................................................................

can go after midnight

................................................................................................

Tuesdays and Thursdays — ........ccceeeeveeeeeeeeereeieeneeeceeeeeeene,

.............................................

it was a lovely weekend  .......c.oooiieiieceeeeeeee e,

.............................................

better than Saturday lunch ...........c.covvveeeeemeeeeeeeeeeeeeeenn.

.............................................

Exercise 3.15. Complete the following proverbs and idiomatic expressions by adding
structural words. You will need a, an, and, for, in, is, it, she, to, than, that,
was, your and the construction there is a /8ozs/. Some of the words have
to be used more than once. Transcribe the sentences after you have
completed them. Do not hesitate to use the Answer Key.

Example:  Don't/ make / mountain / out / molehill. — Don't make a mountain out of a
molehill. - /deunt merk o mauntin | aut ev e meulhrl/

Actions / speak / louder / words.

Where / will / way. (will is used in the sense of mental power)
Rome / not built / one / day.

Don't / put / all / eggs / one / basket.

eye / eye / tooth / tooth.

takes / two / make / quarrel.

thinks / all / glitters / gold.

MDA E N
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3.3. Words with selected orthographic units

For an inquisitive mind, the whole area of letter-sound correspondences in English must
be an extremely exciting field of study. The regularities and the irregularities of grapheme-
phoneme relationships reveal a rich history of changes in the sound patterns of English. Basic
information concerning letter-sound correspondences has been traditionally included in
elementary textbooks on English phonetics and phonology (Kruisinga, 1935; Gimson, 1962;
Skalickova, 1982; Menhard 1982). In addition, there are books which provide a more detailed
account of the system by focusing solely on spelling-pronunciation relationship (Nosek, 1991;
Digby and Myers, 1993; Carney 1994). We have chosen some of the graphemes or groups of
graphemes which typically cause problems to learners of English. The purpose of our choice
is to provide material for further transcription practice and to highlight several interesting
spots in the orthographic system of English relevant to the needs of Czech learners.

3.3.1. Words with the l_etter 'x'

The letter 'x' is the twenty-fourth letter of the English alphabet. It usually represents two
phonemes: /k/ and /s/, e.g. box /boks/. The voiced variant /gz/ is found before a
stressed vowel, e.g. example /1g'zempl/. In the word initial position, the letter 'x' often
stands for /z/only, like in Xerox machine /' zzorpks ma, §i:n/. Some language users
play with the letter in a humorous way and write sox instead of socks, comix instead of comics
or thanx instead of thanks. On the other hand, the 37th American president Richard Nixon
could relate his name back to Nickson. It would be interesting to know if the 7th U.S.
president Andrew Jackson ever considered simplifying the spelling of his name to Jaxon.

John Kennedy Toole (Toole, 1980), in his attempts to capture the unusual character of
Creole English, writes the word ask as ax because it is pronounced /&ks/. Transcribers have
to remember that the IPA symbol x stands for a voiceless velar fricative like in Czech

/vzdux/, /xlap/, /uxo/,or /xodets/. This sound does not have a phonemic status in
standard English.

Exercise 3.16. Read the following sentences and transcribe them in regular orthography.

a:sk mrs foks | te zrerpks 8i:z dokjuments fe mi:
bob wez 1k'sartid | end seu wez hiz ekswaif zi:ne
O0e tzksr drarve sed | hr 1k'spektid 0i: &ksrdent
Oex we tu: 1g'zo:stid | te lisen te hiz dzsuks
zervie | 1z 1k'stri:mlr 1k'stravegent

Exercise 3.17. Find the transcription mistakes in the following words.

sixteen /siks'ti:in/ exchange /Tks'tferndzs/
exactly /1g'zectlz/ paradox /peradoks/
exhibition / egzr'brfn/ existence /Ik'sistens/

Exercise 3.18. Divide the following words into three groups according to the pronunciation
x'as /ks/, /gz/, or /z/. Transcribe the words.

exotic - textbook - exaggerate - xylophone - Alexandra - Xanthippe - X-rays -
examination - xenophobia - hexagonal - excellent - xenon
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Group 1 /ks/ : Group 2 /gz/ Group 3 /z/

........................................................................................................
........................................................................................................
........................................................................................................

.....................................................................

o
N

hav de js spel ko:kskru:

Figure 3.2. tk 'skju:z mi:

Exercise 3.19. Fill in the missing phonemic symbols. Each dot stands for one missing
phoneme.

/traz t. faind s.m .arm| te l.sn te 61. r1'le..1p m.u:zIk/

/t.1 8. tru:. | .nd d.nt merk s.11 .k'skju:sIiz ne..t tarm/

/am o'fr.d | ar k.nt ek'sept jer I..'klu:siv pfo/

/sam p.pl 1.v 1n lakS§erz | 8.z 1.v 1In &p'zazetI/

/Tt .z o'pr.ksimetlr siks .avznd marlz fr.m hie/

/8er o ra:3e kesle. | o'.aut Jeo tp..Ik .o'trorislz/

AN o

3.3.2. Words with the letter 'q’

The letter 'q' is listed in the English alphabet as an independent letter, but in reality it
mostly exists only as a part of the digraph 'qu'. The few exceptions where 'q' is not followed
by 'u' are exotic foreign words like Irag or Qatar. (We would like to remind the readers of the
fact that Czech children also memorize 'q" as a letter of the Czech alphabet, but use it only in
foreign words. How many Czech words with 'q' apart from gocna /kvotfna/and gedlat
/kvedlat/ can we think of?)

The digraph 'qu' represents either /kw/, or /k/. The latter option is relatively rare. It is
exploited in word-final -que', e.g. clique /k1i:k/, and a few other cases that can be easily
learnt and remembered.
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Exercise 3.20. Fill in the missing phonemic symbols. A dot stands for a missing phoneme.

1. squeeze a bloodthirsty mosquito /sk.i:z o bl.dbBs:str me'sk.t./
2. catch a quick-witted squirrel /keetf o kw.kwrtrd skwir.l/

3. quite inadequate equipment /kwart 1n'..zk.et . 'kwrpm.nt/

4. acquire some unique liquor /e'kware s.m .u:'n.k lzk./

5. quarrelsome string quartet /kw.relsem strx. kwo:'tet/

6. long sequence of quotations /1.. s.kwens .f kw. 'terf{nz/

7. quiet and friendly quadruped /kwar.t en fr.ndlr ..pdruped/

8. qualify into an earthquake squad /kwplif. Int. en 3:6kw.k s...d/

Exercise 3.21. Transcribe the foflowing four words and put them in the proper spaces.
question - request - inquiry - inquisitive - quiz
bi: zk'striml s
gkt ot sambeadiz .

ju ken et Il TH B | o ccnmemumsiemmapmeionssnnmg

A8k @-QL. PERLE . . cssssemieneasssitissasesssnsisssns
meik o po'lart e

Exercise 3.22. Find the transcription mistakes in the following words

queue /kwju:/ antique /&n'tiikwe/
liquid /1likwzd/ boutique /bau'ti:k/
equator /Tkwertoe/ picturesque /pIktfes'resk/

3.3.3. Words with the digraph 'ch’

The digraph 'ch' is used for a velar fricative /x/ in the Czech language and constitutes
an independent item in the Czech alphabet. In English, digraphs are more common and they
do not constitute independent items in the alphabet. The English digraph 'ch' mostly
represents the fortis postalveolar affricate /t§/, e.g. chain /t§ern/. In words of Greek
origin it is pronounced as the fortis velar plosive /k/, like in chronological
/krons ' 1nd3Tk1/. There are quite a few relatively recent French loan words which have
stabilized in pronunciation with /§ /. Chauffeur / §oufs/and moustache /ms'sta:§/ are
not expected to change into /t§eufe/and /me'sta:t§/ in the near future. Only
exceptionally can 'ch' correspond to the lemis postalveolar affricate /dz/, e.g. spinach
/spinxd3z/, sendwich /senwidz/ or Norwich /noridz/.

Exercise 3.23. Fill in the missing phonemic symbols. Each dot stands for one missing
phoneme.

. 8 gla:. ov spa:klip .=m'pern 5. wo:teme.onz | pi:.1z | en .eriz
. tf.klat ker. | wx. wipt kriim 6. @ nju: | T'med3tnetr. .ef

1
2
3. ke'l.sterpl 1In j. bla. 7. di:p fr.zen fren. frarz
4. auld ond sm.lx k.tzdz .i:z 8. t{1kn s.p w.d n.dlz
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Exercise 3.24. Divide the following words into three groups according to the pronunciation
of'ch'as /t§/, /k/,or /§/.Transcribe the words.

Christmas - chimpanzee - cholera - chauvinism - Achilles - machine - champion -
stomach-ache - chandelier (= ornamental hanging light) -~ channel - bachelor -

Group 1 /tf/

..................................
----------------------------------
..................................
----------------------------------

..................................

chivalry - Chicago - character - chief
Group 2 /k/ Group3/§/

.....................................................................

Exercise 3.25. Transcribe the words in the list below and put them in the proper spaces.

Chorus - Watch -

Orchid - Chords - Echo - Monarchy - Hypochondriac -

Orchestra - Chameleon - Chalet - Chemotherapy - Ostrich

L seusssmsusesnmsssmmsmnssmncs -
P TR S ——— -

ken tS§ernd3z kalez ov 1ts bodr

ken ran verz fa:st bet kenot flarx
komb1'ner§nz of teounz et saund te'gede
o la:d3z gru:p ev mju:'zrfnz hu: pler te'gede
ken help pi:pl wid sieries di'zi:ziz

on aut'dertid sistem ev gavenment

® la:dz wudn haus 1n de mauntinz

sAy sevrel tarmz djusrip e spp
konstentlx Oxpks hi: 1z | o: wil br 1l
@ pla:nt wid an'ju:zuel flauvez

o smo:1 instrument | wit§ feuz de tarm
ken rr'pi:t je w3:dz

3.3.4. Words beginning with the group 'pro’

The group 'pro’ seems to be very simple, but a good observer notices frequent difficulties
which it causes in the speech of beginner learners of English. It can be pronounced in three
ways. In a stressed syllable, it is either /preau/or /pro/, while in an unstressed syllable it is
usually/preo/. Ocassionally there are two pronunciation options. The word progress as a
noun can be both /preugres/ and /progres/. Moreover, there is an unstressed form of
/prau/ which, in faster speech, loses its [ U] part. Hence, the word procedure can be either
/prou'si:dze/ or /pre'si:dzs/. Most of the time, however, the pronunciation
requirements are unambiguous: profit must be pronounced /profit/ and promise must be
/promIs/, even though we can often hear the incorrect /preumIs/ when beginner
learners attempt to speak English. The first syllable in the Greek prefix proto- is always
/prau/ as in prototype /preuvtetazp/.
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Exercise 3.26. Read the following parts of sentences and match those that make sense when
put together. The first has been done for you as an example.

pro'fess proktez prog'nsusis harlr probebl
kwik pre'meufn In jo: pre'fefn 1z pre,nansi'erfn
ent kaind of preue'meriken prope ' gende pru:vd rart

hax pre'po:fn ev des prodakts | 1z not prazvetar'zezfn
3o prin'ses wez praud ev e pe'kjuilje wez pre hrbrtid
do prarm ministe pre'psuzd prompt bits preutests
0o bazn on ,prostr‘tju:fn pre'veukt propslr testid

Exercise 3.27. Divide the following words into three groups according to the pronunciation
of 'pro'as /preu/, /pro/, or /pre/. Transcribe the words.

problem - profile - profitable - protection - province - provide - programme -
protestant - professional - protein - pronoun - Prokofiev

Group 1 /preu/ Group 2 /pro/ Group 3 /pre/

..............................................................................................................
..............................................................................................................
..............................................................................................................

..............................................................................................................

3.3.5. Words with the digraphs 'ou', 'au' and 'eu’

The digraphs 'ou', 'au' and 'eu' remind us of the diphthongs used in the Czech language,
where their translation into sounds is quite transparent. In English, however, the situation is a
bit more complex. If you read out words like south, soul, soup, source, and southern, you can
hear that the vowels are all different from one another and in yet other words there are four
more possible realizations of 'ou' (/3:/, /8/, /u/, and /ua/). Written 'au’ is usually
pronounced /o:/, or /n/. Other options are very rare. Similarly, written 'eu' is pronounced
/ju:/, or /u:/, and other possibilities are fairly exceptional. Czech learners of English
often hesitate over the pronunciation of 'eu' even though the situation there is quite
straightforward. This is due to the fact that the lexical items with 'eu’ belong to less frequent
vocabulary. The following exercises offer some transcription practice together with a brief
look at typical words with the digraphs 'ou’, 'au’ and 'eu’.

Exercise 3.28. Fill in the missing phonemes which all correspond to the digraph 'ou .

four cousins f. kuwznz proud outsiders pr.d . tsazdez
loud couples l1.dk.plz previous trouble pri:vi.s tr. bl
pour bourbon p. b. ben your round mouth j. r.ndm.©
double nought d.bl n. t touch the ground t.1t§ 82 gr.nd
around the house er.nd 6 h.s
count countries k.nt k. ntrzz

souvenirs for tourists s . voe'nrez fe t . rists
sound ofafountain s .nd av & f. ntin
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Exercise 3.29. Fill in the missing phonemes, all of which correspond to the digraph 'au ',

laughing Laurel 1. frg 1. rel pause inthesauna p .z In 89 s . n8
Australian fauna . 'strerljen f . ne Dr. Faust'sfault dokte f.sts f. 1t
naughty daughter n . tx d . te haunted Mauritius h . ntzd m. 'rzfes
cautious dinosaur kK . §os darnss . sausage with sauce s . s1d3 wid s. s
laundatory applause 1. deterz o'pl. z
the cause of jaundice de k.z ov d3. ndxs

cauliflower and sauerkraut k . 1xflave and s . skraut
taught about Saudi Arabia t . t a'baut s.dx a'rerbje

Exercise 3.30. Transcribe

neurology pseudonym Europe Zeus
neurosis pseudo-science eunuch Perseus
neurotic pseudoteacher eucaliptus Theseus
neutral pseudo-intellectual euphemism Prometheus

Exercise 3.31. Read the article to see how well you can already cope with a transcribed text.
Alternatively, you may transcribe the orthographic version from the Answer
Key and check it against the transcription provided here.

a:ntpo:le | 1ze taf lexdr | he zeudrazk sain 1z to:res |
jesteder | §i: wez Ine stertev ju:'foiris |

jue'ritke | §1 fautzd | bx'koz §1 ko:t o maus | wid o bes handz ||
§i: w3a:ks 1In 8o fa:me'su:tik indestrr |

end wud lazk te pu§ 8e baundrizevnplidz |

§Tdriimzevds kjue fo ruimetizm | lu: 'ki:mis | en nju: 'meunje ||
®zo g3:1 | fxwontzd te br en @&streno:t |

ond {1 klarmd maunt evrist | wen §1 wez fo:'ti:n |

In o:tem ov 8o serm jre | §i: mexd o dza:nr te ,mori'teinje |

he fervrrit wepen | weze  semro:te'metik rarfl |

en frbro:t o lpt ov darmendz bzk heum ||

§i: ken swim twentr no:trkl marlz in raf wede | wi'daut stopip |
wan no:trkl marl | 1z wan Gauzend | ert handrid |

en fiftr tu: mi:tez ||

3.3.6. Words with the digraph 'ea’

The digraph 'ea' is traditionally used to demonstrate the inconsistency of English
orthographic system. It occurs in many words of every-day use and can be pronounced /i:/,
/e/,/ex/,/3:/, /a:/, /18/, or /es/. (Example words: meat /mi:t/, head /hed/,
great /grext/,learn /13:n/, heart /ha:t/, year / j1o/, and wear /wes/. The point is
made even stronger by listing the word ocean /ou§n/, in which the digraph 'ea' disappears,
leaving only a trace in the features of the preceding consonant. Realistically speaking,
however, the choice is most frequently among /i:/, /e/, and /18/. The words with other
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possible phonemes are not very numerous. In spite of that, they can confuse learners of
English to a great extent.

Exercise 3.32. Divide the following words into four groups according to the pronunciation
of'ea'as /i:/,/e/,/3:/ or /1o/. Transcribe the words.

increase - pear| - dean - pleasure - sweater - cream - beard - early - ideal -
search - season - real - nearly - breast - heard - measure

Group1/i:/ Group 2 /e/ Group 3 /3:/ Group 4 /x8/

................................................................................................................

................................................................................................................

................................................................................................................

................................................................................................................

Exercise 3.33. Find opposites (antonyms) to the following words and put them down in
phonemic transcription.

Example: kli:n — ... ds:tfr... (dirty is opposite to clean)
fie — hevi — .,
weld — e ded B ks
PLIS % ' iseoonitumion nis Sy yyeiserenernsseasiiSiivhss
hel® — e Wik = s
BEIM = eeeseencnmneesonnrne ‘ ni:t -

---------------------------

Exercise 3.34. Transcribe.

His antinuclear gear was dreadful.

After the defeat, the leader had a breakdown.
You should leave the jealous freak.

Oh, yeah, I'm ready to swear.

Why does Reagan wear those sneakers?

Mg Wb BB

3.3.7. Words with silent letters

Some English words are spelt with letters which do not represent any of their sounds.
Know has a silent k', night has silent 'gh', and come has a silent 'e'. Notice, however, that we
do not analyze bread as having a silent 'a'. This is because 'ea' is a digraph. Digraphs represent
just one phoneme and we do not speculate about which part of a digraph is silent.

Exercise 3.35. Read the following words. Think of their regular spellings and find the silent
letter(s) in each of them. Try to place the words so that their silent letters
match the letters in the columns.

Example: arlend = island has a silent s. Therefore, it will be placed in line 1, next to S

lav kazn arlend botl
ha: f- o:tem ha:t wisl
beler haum to:k ka:sl
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1 .island.......... S S L

- R ——— I S, E

. SO L O T

4 oreerernerreensenanens E 10 e T

B sossviinman ke N 18 sanbidreemmmmameseasesss E

6 eeererereeseeanenaenaaens T | 7O R
Exercise 3.36. Choose the correct transcription of the following words.

1. receipt A.r1'si:pt B.risi:t C.rr'si:t

2. psychiatrist ~ A.s1 'kietrist B.sar'karetrist C.psar'kietrist
3. cupboard A. kapbad B. kapbo:d C. kabad

4. psychology  A.psI'kpled3zz B. sa1'kolod3z C.sar 'kpolead3zz

5. pneumatic A.nju: 'matzk B.nju: 'metik C.pnju: 'metIk

6. psychotherapist A. satkeu ' Oerspist B. sazeu ' Oeroprst C. sare ' Bzropist
7. raspberry A.ra:zbrx B.ra:spberz C.ra:spberz

8. psychosocial ~A.sarcheu'seuf§l B.sarkeu'seufl C.sarkeu'saufle

Exercise 3.37. Transcribe the following words and put down the silent letter of each triad.
silent:

Example: sight, fight, flight — ... Sart..... .. fart...... ... flazt....... .gh..

lamb, comb, bomb

Allah, Hannah, hallelujah
Faulkner, Holmes, Lincoln
knowledge, knife, knee

often, bouquet, Christmas  ........ccccereuerenenen.

.......................................................................................
.......................................................................................
.......................................................................................
.......................................................................................

.............................................................

WIONEZ, WIItE, ANSWET  .cceeeeeeenreeneeennnens

debt, doubt, subtle

.............................................................

.......................................................................................

g8 M = W o B

hurrah, honest, Graham

.......................................................................................
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3.4. Words with selected phonological units

The relationship between written and spoken form of a language is traditionally viewed
from two angles. Besides explaining how a grapheme can be represented in speech, linguists
also explain how a particular phoneme can be represented in writing. We will now follow the
latter approach and use some of the phonemes typically difficult for Czech learners of English
to further practise phonemic transcription.

3.4.1. Words With the reduced vowel /a/

The phoneme /o/ is by far the most common vowel segment in English. In connected
speech, one in four vocalic phonemes is /o/, otherwise called schwa. Czech learners may
struggle with this fact for two reasons. One of them is that [©] has not a phonemic status in
Czech. Many Czech speakers then think that it is no real sound and ignore its existence. As a
consequence, they transcribe the definite article the /8a/ as /3/ in their own transcription
attempts, or photograph / feutegra: f/as /feutgra: f/.

The second problem related to /a/ is that in regular texts, it has no letter of its own. It
can be represented by any of the available vowel letters or even combinations of letters. In
this sense, its existence is also somehow hidden. The typical Czech mistake related to /a/in
pronunciation is its replacement with other so called full vowels. The common substitute
when reading transcription is /e/ because of the similarity of the symbols, but in reading
regular texts, schwa is being replaced by other vowels as well.

Figure3.3. /Itse welneun fakt | det 81 1pglzf swpleu vauvelz/

The speech with not enough [ o] sounds has unnatural rthythm and illogical emphasis on
certain syllables, which can be unpleasant to listen to and often even difficult to understand.

When we analyse transcription attempts of Czech students, we can see that apart from the
two above mentioned problems, i.e. leaving out /8/or, on the contrary, replacing it by full
vowels, they also forget to bear in mind two basic rules.

First, /o/ is never stressed. It can occur in unstressed syllables only. The essential role of
stress is clearly seen in pairs like convent /' knnvgnt / and event /I vent/ If two
orthographically identical syllables differ in stress, the stressed one cannot contain /o/, while
the unstressed one is quite likely to contain it. (For more examples see also Section 4.3.)

Second, English phonotactics does not allow short vowels apart from /o/, /1/, and
/u/in word-final positions, but many word-final schwas create strong illusion of /A/. This is
because the word-final /a/ is often articulated more open than the word-medial one. Also,

39



IPA-Based Transcription for Czech Students of English

there is a strong influence of spelling. Knowing the words like India or lava from print, we
tend to believe that we hear an a-sound at the end. Careful hstenlng, however, reveals that
what we really hear is /1ndis/ and /la:va/.

As we have already seen, the symbol @ is also used in compound symbols of some of the
English diphthongs. This should not lead to the conclusion that the phoneme /o /constitutes a
part of other phonemes. It only says that the beginning or the end of the diphthongs /su/,
/18/,/ea/,and /ua/share with /o/certain phonetic features.

Exercise 3.38. Which letter represents /o/ in regular spellings of the following words?

Example 1: /komen/ ..0.. Example2: /@lfebet/ ..Q..

/posebl/ ... / . diple 'metik/ ...
/pe'zifn/ ... /dredfel/ = ...
/peuste/ ... /darnemart/ ...
/peresart/ ... /deseml/ ...
/pe'sju:t/ ... /dezet/ ...

Exercise 3.39. Underline all vowel graphemes which represent /a/ in the following words.

apartment - necessity - dangerous - dinosaur - asylum - bonus -
Harvard - famous - Icarus - basement - calamity - devastation -
semolina - luxurious - chorus - banana - disagreement -
gravity - Barcelona - opportunity

Exercise 3.40. Look again at the words in Exercise 2. As you can see, the two simple rules
presented above work without exceptions. The word final 'a' is always
pronounced as /&/, and /o/ never occurs in stressed syllables. In the
suffixes of words in Exercise 2 you can discover more regularities connected
with spelling-schwa relationship. What are they?

Exercise 3.41. A very common Czech mistake is to pronounce words beginning with
unstressed 'su' as /sA.../. Divide the following words into three groups
according to the pronunciation of 'su'as /se/, /sA/, or something else.
Transcribe the words.

summer - success - sugar - subsequent - support - superstar -
sustain - suffer - superior - suddenly - subtitle -
suggest - surgeon - supply - Suez

Group 1 /se/ y Group 2 /sa/ Group3 Others

........................................................................................................
........................................................................................................
--------------------------------------------------------------------------------------------------------
........................................................................................................

.......................................................................................................
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Exercise 3.42. Fill in the missing symbols for vocalic phonemes. Each dot represents a
missing phoneme.

s . pemen wez s . 'prarzd | wen Jer s. 'raundid Im

3o s.1lten | wez 8o s. 'priim ru:le ev 8o s. 'saret:

s.zn wed ra:ds ke'mrt s. rsaxd | den s. 'rends

ar s. 'peuz | Oeze s . ‘frfnt nambe of s. tebl strazted3zrz

do s . 'varvip s . ldzez br'kerm s . 'spifes

LI S e

Exercise 3.43. Transcribe

1. selling beer in Belgium 5. studying business in Japan 9. situation in Serbia
2. the West of Romania 6. Germany and its neighbours 10. a year in Australia
3. holiday in Guatemala 7. wildlife parks in Kenya 11. the capital of Peru
4. rainforests in Brazil 8. somewhere in Austria 12. travelling to China

Exercise 3.44. Which word in each line has got a different vowel in the highlighted part?
(Odd one out)

conductor, consult, concerto, contraband
achieve, accountant, action, acoustic

compare, compromise, communicate, computer,
control, Conrad, conversation, conference
ahead, agony, agree, ago

comet, comment, compete, compliment

AL E

Exercise 3.45. Read the following text to improve your comprehension of transcribed
English

e /Oesr a: twentr vauelz In a: pi: 1Inglzf§/

e /haveve | 8o sistim ev vauelz | 1z verI tferndzsbl Oru:aut
0i: Ipglz§ spi:kip ws:ld/

e /ju mex trar te kerr aut e lrtl rk'sperrment | wrt§ 1z beist
pn & geim | samtarmz plexd bar tfek t§zldren/

o /Bex terk o sppy | fer rg'zempl | fiolka modrooka: | neseda:ve]
u potoka | end rr'plers o:1 8s vauelz 1n 1t | wid dzast wan
vaual/

e /05 r1'zalt ken bi | Arlkri mzdrizkr | niszdivij 1 prtzkr |
o: | Aulku mudruuku | nusuduvuj u putuku/

e /In jo:r 1Ik'speriment | texk o'baut ten natferel ipglxf
sentensrz | end ri'plers o:1 Je vauelz In dem | wib fwa:/

e /pri'zent jo sentensiz tu e'nade p3:sn | jo:r Info:ment | end
si: | hau mat§ hi: o §i: ken ande'stend/

e /on 1m'po:itent veerisbl In jo:r 1k'speriment | 1z ds ridem/
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e /1f jo dr'stror 8e ridem | bar ri'plersip 81 p'rrdzenl
vavelz | wid riel §o:t | end dar'nemrklr wi:k §wa: | de
Jkomprz'henf{n rert mart bi: kwart leu/

e /1f | pn 8i: Ade hand | je ri'plers 81 p'ridzenl vauvelz | wid

o fwa: lark saund | pri'zs:vip 8s ridem | jer In'fo:ments
wil ande'stend kwart wel/

@ wands of 39 ken
andastehd ma

> J
7
r—

=

J

Figure 3.4. In' fo:me 1ks 'perimente

3.4.2. Words with the mid central /3:/

The English mid central vowel /3:/ used to be transcribed as /o : /. This old-fashioned
transcription may sometimes persist in transcription attempts of students who studied from
outdated books. A more serious mistake can be made if /3:/ is replaced by another vowel
under the influence of the spelling, e.g. blackbird /blaekbzed/ as instead of /blakba:d/,
or the date of birth as /dext ov bzs0/ instead of /dext av b3 :0/. Some trouble can
be avoided if we realize that special attention must be payed to words containing a vocalic
grapheme + ', namely 'er!, ‘ur', 'ir', 'yr', 'or' after 'W', and also 'ear’, or 'our', usually in stressed
syllables.

Exercise 3.46. Find transcription mistakes in the following words. (The mistakes are not
necessarily related to /3:/.)

surface /s3:fexs/ observatory /pb'z3:vetri/  suburb /seba:b/
bureaucrat /bjuereuvkrat/ certificate /s3:trfiket/ herbal /ha:bal/
survey (noun) /s3:vI/ terminology /t3:me 'nplopd3zr/ burglar /ba:gl/
circumstance /sT1okemstens/ homework /houmws:k/ nurse /n3:sa/
Birmingham /b3:rminem/  surname /so:nerm/ occur /p'k3:/
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Exercise 3.47. Transcribe. Be careful - there are five words with a vowel other than /31 /.

furniture - purple - skirt - early - learn - hurt -
word - worm - warm - Earth - fur - fir - fair - circle -
nervous - heart - heard - firm - earn - earring - merchant -
burn - Germany - journey - turn - dirty - burst -
vertical - certainly - ceramic - prefer

3.4.3. Words with the open front //

The phoneme /2/ causes considerable difficulties to Czech learners of English. For most
Czech speakers, the problem is not in the articulation itself, but in the mental splitting of the
phonemic space for Czech /& /(written '¢') into two separate phonemic spaces of English
/e/and /z/(for more detail see Volin, 2001). A lot of uncertainty during transcribing can be
avoided if students realize that in English, no written '¢' can ever represent the phoneme /&/.
Almost 100% graphic representations of /a&/ is the letter ‘a'. Only exceptionally, it is
represented by other letters, usually in rare words of foreign origin. Unfortunately, this is not
true the other way round. The letter 'a' can represent many other phonemes. Moreover, the
phoneme /e/ can be represented by the letters '¢', 'a', and the digraph 'ea’.

Exercise 3.48. Choose the correct transcription.

1. fatamorgana ,fa:temo: 'ga:ne feto'mo:gaine | fatemo:'ga:ine
2.imagination = I ,med3I 'nerfn 1 med3I'nerfn I med3I' nzfn

3. halucination ~ h®lusi: 'nexfn hzlust'nexfn he lu:sr'nexfn
4. radicalism redrkelrzm radrkelrzm ro'drkelIzm

5. fanatical fo'natrkl fenaetikl fenetrkl

6. bizzare b1 ' zae br'za b1 'za:

7. calculating kelkjs'lextip kelkjslertzp kalkju'lextip
8. cameraman kamremen kaemeramen kemremen

Exercise 3.49. Fill in the missing symbols for vocalic phonemes. Each dot represents just one
missing segment.

1.81s o:1 h. pend 1n 8o warld end rzgzd west |e 1. p tarm . 'geu

2.8 b.ndrts feud o ver: p. zrtrv ®trtju:d | te @lk. hol

3.ould § . tohend k1l . pt hrz hendz r . prdlr | end ke'l . pst

4.81 en . mI plend tu o'tk a: tr . nspo:t wib pl. tinem

5.80 ratdez w. r o'fr.d te kaemp 1n 85 gr . nd kaenjen

6.8eo k. ptrn klermd | 8ot hi:d 1. st 1z d3z. kit 1n Oe betlfi:ld

Exercise 3.50. Transcribe. Be careful - there are five words with vowels other than /a&/.

savannah - cactus - palm-tree - dragonfly - parrot -
canary - rabbit - bamboo - panda - Baskerville - dalmatian - swan -
Amazon - alligator - camel - Sahara - sandstorm - battery hens -
Capricorn - vampire bat - safari park - dandelion
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3.4.4. Words with the closing diphthong /au/

It has already been mentioned above that the typical error in transcribing the phoneme
/eu/ is its replacement with [ou ], which is a mere allophone, but not a phoneme in our
reference accent of English. Another interesting issue related to /au/ concerns the spelling-
sound relationship. Students should realize that no English word can end with /©0/ and when
they encounter unfamilar words ending with the letter 'o', they should pronounce the final
vowel as /eu/ the way they do it words like disco /dIskeu/, piano /pI '@neu/, or judo
/dzu:deu/. Native speakers of English usually feel no need to pronounce foreign words
with foreign sounds. Therefore, Victor Hugo is /vikte hju:geu/ for them, and Pedro is
/pedrau/.

In Section 3.3.4., we have also learnt that unstressed /ou/ loses easily its [U] portion
and Prometheus can be heard both as /preu 'mi:0ju:s/ and /pro'mi:0ju:s/. For
the same reason hotel can be /hau'tel/ or /ha'tel/.

Exercise 3.51. Add /au/ to the following groups of phonemes and write the resulting
words in the regular English orthography. (All the words are stressed on the

first syllable.)
meksik ... teng . hol ... fol ...
ardeh ... swol ... bor ... B o Sesireorens:
bafel ... hier ... elb ... o —
sterr ... ka:g ... Sel ... T e

Exercise 3.52. Transcribe the words below and match them with the appropriate references.

horoscope - ozone - impresario - Afro - Ivory Coast -
Jjoke - hangover - motto - Hippocratic oath

an'pleznt fi:lig a:fte dripkip tu: mat§ ®1kohDl oo,
vert ka:lr Oxk da:k hee e,
kantrr In west &frtke s
fo:ka:st ov @ pa:senz fju:tfe | berst pn StAIZ  ooooooeeeeeeer,
stoirz wid o fanr endIy s
frexz | tfeuzn oz o gazd ev wanz br'heIvje .,
sieries promis mexd bar doktez e,
menrd3s ov o OIste KampenI e,
spefl form ev oksidzen

BN L < aE o

Exercise 3.53. Try to transcribe the following words.

Rio de Janeiro .......ccccovveeveennnn... eldorado .......ooeevnveeeeennnnnn... Leonardo ..........ueu.........
South Dakota .........ccceunuun...... GUENAAIS cusssmmsasasesmsons PIgarD.  cssseccossonsssannne
Estonia ...oeeveeeeeeen, Quasimodo ........ceevveueenen.... Romeo ......uuueeeeeeennnnn.
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3.4.5. Words with the velar nasal /5/

Voiced velar nasal /1/ is always followed by /k/, or /g/in Czech. Czech learners of
English have to learn how to pronounce /1)/ independently of the following velar plosive
(Volin, 2000), because in English, /1/ can be followed by many different phonemes.

Another problem is the distribution of /p/ in relation to /k/ and /g/. There are rules
accounting for the seemingly strange fact that we say singer / SIge/ but finger/f1ngs/,
or longing /1onIn/, but longer /1ogge/. In their simplest form, the rules state that written
'ng' is pronounced /1g/inside a morpheme and /1)/at a morphemic boundary. The exception
from the rule is comparatives and superlatives of adjectives, which behave as if they were
monomorphemic. Thus, our first example word singer is pronounced /sIns/ because
written 'ng' is at the end of the root morpheme, followed by another morpheme —er’. The
word finger, on the other hand, is pronounced /fipge/because there is no morphemic
boundary after written ‘ng'. In longing there is a boundary between the verb to long and the
suffix —ing’, hence / lDE}IlJ /. The word longer is an exception. There is a morphemic
boundary between the adjective long and the suffix '—er’, but it has not the power to delete
/g/. (The rules can be stipulated differently to avoid exceptions but that does not necessarily
simplify the matter.)

Junior transcribers sometimes forget that /1/ also appears before /k/. This happens in
words like drink /dripk/, or anchor /&pkse/. A morphemic boundary plays a slightly
different role in these cases. Written 'nk', (and 'nc', 'nch' or 'nq’) is always pronounced
/nk/inside a morpheme, but should be pronounced /nk/ if there is a morphemic boundary
between written 'n' and the following grapheme. This is especially true if the second
morpheme (the one after 'n') is stressed. Thus, income is often heard as both /Ipkam/and
/ Inkam/while include is usually heard as /1n 'klu:d/ rather than /1 'klu:d/.

Exercise 3.54. Fill in the missing symbols for consonantal phonemes. Each dot may
represent one or two missing segments.

1. mar ja.s siste wez dro:x. ma.Kkiz

2. mar aA.kl 1z hardt. 1In de d3za.l

3. mar fervret s1i.er 1Is tuerr. 1. lend

4. mar do.kr 1z i:tx. tfa.ks ev Dbred

5. mar 1. 'kompetent ed'vaize 1Is sliipr. eo'gen

Exercise 3.55. Divide the following words into four groups according to their phonemic
make-up. Group 1 are words containing /1/not followed by /k/ or /g/,
group 2 words containing /1g/, group 3 words containing /pk/, and group
4 words containing /nk/. Transcribe the words.

tongue - wrinkles - penguin - incognito - monk - lungs -
handkerchief - encourage - hanger - fingerprint - junction - bingo -
conclusive - fishmonger - songs - enclose

Group 1 /y/ Group2 /ng/ Group 3 /gk/ Group 4 /nk/

.....................................................................................................................................

.....................................................................................................................................

.....................................................................................................................................

.....................................................................................................................................
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Exercise 3.56. Fill in the following geographic names.
Angola Bangladesh Congo Hong Kong Hungary Mongolia Singapore

=10

'

e N e N e e e R R

Figure 3.5. tu: r1i'ss:tfez | 1k'sperzmentip
wid 1k'sesIiv stadizp | en dripkip

3.4.6. Words with the dental fricatives /6/ and /8/

The phonemes /6/ and /8/ have been chosen for our transcription practice because
they are very typical for the phonological system of English. Quite suprisingly, however,
although they are difficult from the articulatory point of view, they do not cause much trouble
in transcribing apart from sporadic confusion of the lenis /8/ for fortis /6/, and occasional
mutilation of the symbol for /8/, which is made barely recognizable in some students'
handwriting.
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Exercise 3.57. Transcribe the words below and fill them into the gaps in the sentences.

thrillers - method - thesis - mathematician - thermometer -
worthless - thunderstorms - thoughts

1. a: Oare r1's3:t§ ov weds 1s karentlr feukest vn ...
2. jo deunt h®v te bi: 8 .. fe d1s simpl s 'ribmetzk
3. hi: finif§t hrz o:'Gentzk doktersl ... | sunli ander
o Bret ov sapkinz
4. 8o Beropist gedad o 1Ipt OV..iciciaen, evidens fa hiz Orer:
5. §i: drs'kaved o rr'lazebl ... of testip 8o kwolet:
av ledeo
6. 8o Oxpke pri'zentrd sam rI'ma:ikebl ... pn b3:0 sn deb

7. o drse'porntrd lipgwist br'keim o sek'sesfl 0:0e ov
8. do wo:md ev jo fi:lipz wrl bi: mezed wid e prI'sails

.....................

.....................

Exercise 3.58. Use the clues below to guess the parts of a human body. Put them down in
phonemic transcription. All the names of body parts you are looking for
contain the phoneme /6/. :

smo:1l beunz ju:zd feo preusesin fuid .
3o la:dzist eupenrp In d8 hed ..

8o wardrst pa:t av 8o leg s

8 Oxkist ov 8o fIRgoezZ .

do tfenl Oru: 8o nek ...,

G ol 5 S

Exercise 3.59. Find the transcription errors in the following expressions.

1. strong smell of methanol strong smel ev mefenpl

2. large anthill near the path la:dz =nb1l nie do pa:d

3. visited by thrifty thieves vizitid bax Orxftr 8i:vz
4. the truth worth thousands do tru:0 wo:0 Oauzendz

5. pathological thyroid gland pzfs'1odzkl Oarrord glend
6. an eagle without feathers en i:gl wrdaut fedez

7. in sympathy with Arthur n stmpxdr wid a:be

8. slow rhythm of your breath sleu ridem ov jo bri:f

3.5. Well-known international words

3.5.1. International false friends

Some people pretend to be your friends but when you need them, they let you down. They
are false friends. There are words in English which do the same. They look friendly and
familiar, but when you use them, they betray you. A good example is the word actual, which
does not mean aktudlni, or sympathetic, which does not mean sympaticky; it is also
eventually, which does not mean eventudiné, and gymnasium, which in not gymndzium. More
semantic false friends can be found, for example, in Don Sparling's English or Czenglish?
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(Sparling, 1989). Apart from semantic false friends, there are also phonological false friends
and even these can cause misunderstandings or put us in a ridiculous situation. Phonological
false friends look as if they might sound very much like their Czech counterparts but, alas,
they do not. I remember a conference talk of a young talented speech engineer who
pronounced, for example, sum as /su:m/ instead of /sam/, isolated as /1zolextzd/
instead of /arsslert1d/, and finite as /fTni:t/ instead of /farnaxt/. Needless to
say that thanks to this pronunciation his talents were hardly recognized. Let us have a look
now at more words which look like internationally well-known words used in the Czech
language, but which often have a very dissimilar sound.

Exercise 3.60. Choose the correct transcription of the words below.

1. idol A. /1dpl/ B. /azdpl/ C./axdl/

2. bass A. /be1s/ B. /ba:s/ C. /bes/

3. choir A. /kwazs/ B. /kors/ C. /kox/

4. neon A./ni:on/ B. /nesn/ C. /nepn/

5. chaos A./§aps/ B. /kass/ C. /kexps/

6. scene A. /scen/ B./si:n/ C. /scens/

7. client A. /kKl1ent/ B. /klazent/ C. /klaznt/
8.  wvehicle A. /veh1kl/ B. /vz'haikl/ C./vi:zkl/
9. maniac A. /mexntak/ B. /menT '&k/ C. /menisk/
10. dolphin A./dplfi:n/ B./do:1fi:n/ C./dolfin/
11. sergeant A. /s3:d3ant/ B. /sa:dzent/ C. /sedzent/
12. vehement A. /vehement/ B. /vi:ement/ C./vi:hemant/

Exercise 3.61. This exercise is very similar to the previous one. You are asked to choose the
correct transcription from the three options. All the words below differ in one
phonological aspect from the words in Exercise 1. Can you find out what
aspect it is?

1. idea A./1dea/ B. /a1 'drs/ C./axdis/

2. oasis A. /v'exsis/ B. /ou'eIsis/ C./eu '®s1is/

3. hotel A. /heautel/ B. /hotel/ C./hsu'tel/

4. canoe A./kse'nu:/ B. /ka:nozx/ C. /kansu/

5. exotic A. /eksptzk/ B. /1gzptik/ C./1g'zptIk/

6. calamity A./ke'l:metz/ B. /kaelemrtz/ C./ke'la:mztx/
7. diagnosis A./darsg'neusis/ B./diegneusis/ C./daregnposis/
8. lemonade A./limena:d/ B. /lems 'nexd/ C./limonezd/

9. apostrophe A./®pestrauf/ B. /e'postrefi/ C./&pe'streufz/

10. catastrophe A. /ka&testrouf/ B. /ke 't®strefi/ C./kete'streufr/
11. civilization A./s1velar'zerf§n/ B./civelr'zexfn/ C. /s1velizezfn/
12. kaleidoscope A./ke ' latdesksup/ B. /kelardeskop/ C./kalexdesksup/
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Figure 3.6. 4 (Burke)

ko l@metx'd3zernz riel neim | wez ma:6e d3exn bs:k

Exercise 3.62. Fill in the missing symbols of vocalic phonemes.

1. Mercedes /me's . diz/ 6. Fiat /f. et/

2. Cadillac /kedzl . k/ 7. Suzuki /s . 'zu:ki/

3. Chevrolet /Sevral. / 8. Renault /r . nau/

4. Alfa-Romeo /, &lf . rou'mezsu/ 9. VW /vi:'d. blju:/
5. Peugeot /p3:3. /or/pjuiz. / 10. Volvo /vplv. /

Exercise 3.63. Transcribe the following names and put them in the appropriate places.

Jericho - Persia - Utah - Tower of Babel - Geneva
Jerusalem - Uranus - Japan - Chile - Warsaw

.................................... | brldzp | wee drfrent lapngwidzrz we krr'extid
.................................... | 8o meust Impo:tent srtr in 1zrerl
.................................... | 3o sevn6 planit ev do seuls sistem
.................................... | 8o keprtl of peulend

.................................... | exnfent sitz | te 8o no:6 ov Je ded si:
.................................... | kantrr In 8o fa:r i:st

.................................... | fo:me nerm ov 1I'ra:n

.................................... | 8o keprtl of switselend

.................................... | kantrz 1n 8o saubwest ov latin s'merzke
.................................... | wan ev 8o ju'nartid sterts ev o'merzks
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3.5.2. Tame international words

Internationally well-known words, which are mostly of Greek or Latin origin are not
always as treacherous as the false-friend words presented above. Many of them possess quite
regular pronunciation features and their behaviour is relatively stable. For this reason, they are
suitable for further transcription practice of individual words.

The words ending with the suffix “~ion’ have very stable stress behaviour. If you observe,
for example, energy profile of words like nation /nex§n/, education /edzs 'kexf§n/, or
nationalization /n@f{nelar'zer{n/, you can see that it is always the penultimate (second
from the end) syllable that receives the primary stress. The final syllable can be transcribed
with an optional schwa. The difference between /§n/ and /§en/ is very subtle. The
optionality of schwa can be indicated by italics - /§en/ or by the upper index - /§°n/.
J.C.Wells (Wells, 1990) suggests to use italics for sounds that are optionally omitted and the
upper index for sounds that are optionally inserted. This would result in transcribing / §n/as
/§°n/. In our following exercises, however, we will ignore the optional schwa as it is
basically only a by-product of slower pronunciation. We can consider it phonologically
absent. Phonetically, its presence will depend on the actual utterance that is being analysed.

Exercise 3.64. Match the beginnings and ends of the following words. The first word has
been done for you as an example.

1. ke mju:nz ‘dzfn 8. ke 'vIzn
2. ken \'zeISr} 9. ken 'kexzn
3. kontre ‘kexfn 10. ken 'fju:zn
4. o:genarx ‘dak§n 11. dz '‘1x3n
5. rr ‘verfn 12. o 'klu:3n
6. rI, dzene ‘drk{n 13. In 'sI3n
7. ,reze 'rexfn 14. rx ‘tru:zn

Exercise 3.65. Transcribe the following words and observe the grapheme-phoneme
correspondences in their final syllables. Divide the words into four groups
according to the pronunciation of the final syllable and try to stipulate the
pronunciation rules.

introduction - situation - illusion - competition - question -
religion - invasion - digestion - permission - television -
function - ‘suggestion - region - erosion

Exercise 3.66. Transcribe the words below and put them in the gaps in the following text.
Each gap contains the initial letter of the corresponding word.
oppression - pronunciation - frustration - communication (2x) -

expression - interaction - standardization -~ occasionally -
confusion - decision - bastardization - consideration

- O —————— IZ not 0:1WeZ .,

lepgwidz 1z o wandefel miinZ oV Ke.oooeecereennnee, I

hav'eve | 1f jo teik & dueerccrceecnnen, te Juiz 1t

Ozpk fa:st | ov hau te ser 6ipgz klielz |

keofl Pucvciiirnire, | IZ 80 T of pe'lartnes |
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@31ten Plipl Sbuidvirmtimmmssisessaiiniin trar tu o's3:t Bom'selvz |
[o7-5 S TR ov Bes spi:tf |

818 kri'erts an'pleznt Ko on do pa:t evde lisens |
®Z o rT'zAlt | 88 Koo 1z di'fektIv ||

an'fo:tfenetls | de konsekwent f.....n i

li:dz te i:vn grerte 3:d3 pn 8o pa:t ov Je pus spi:kez |
tu o's3:t dem'selvz | wi o ment ts bi: difrent |

bet wr fudnt trar te rks'pres a:r  Indrvidzu'@letr ]

ot O1 1ks'pens | ov In'd3zoIebl T...inn. wid adez ||
I A R FSVRORE—— ov Os stended m:nsr ev spi:kip |
wil s3:tenlr npt merk jeo dal | end ju:nzfo:m |

aunlr de pi:pl je mi:t | wril bi: hapis te si: ju I

Exercise 3.67. Correct the transcription errors in the following words.

1. autocrat /o:tekrat/ autobiography / ,0:teubaz 'ngrafr/
autonomy /o:'tonomz/ autosuggestion / o:tousa'dzestfn/
2. unilateral /ju:n1'latersl/ uniformity /ju:nifo:metz/
universal / jun1 'va:sl/ unicellular /ju:n1'celjula/
3. monotonous /me 'no:tenes/ monoculture /monsukalf§e/
monogamist /me ' nogemist/ monopolization /mpnopelar'zezfn/
4. bisexual /ba1'sexusl/ bilingual /bax'lringwsl/
biannual /b1 '&njusl/ bicyclist /brsarklrst/

Exercise 3.68. Transcribe the following names of chemical elements.

(6):9,741. -1 1 R N— CHIOHNE unstemmmminsimmns ‘carbon diOXIAe .....ceeeveeeeresersersenenen.
hydrogen .........ccvvuunnncee. 11067 11 S — pitric acid .
V13 (07205 | KOO 11070171 [ sulphuric acid ...ooevevniinienicnecnnens
(1001111 1 RN MEICUTY  .overvrrernncrensnens tTintIOtOINENE  usumimmmummisisare

Exercise 3.69. Complete the names of scientific disciplines and methods by'combining the
groups of morphemes offered below. Notice the regular placement of stresses.

Group 1 opt-, aerodynam-, aesthet- Group 3 philo-, onco-, phono-
Group 2 oceano-, lexico-, crystallo- , Group 4 audio-, geo-, socio-
A B C. D.
..................... lodzr ..ot eeeeeegrafr L IkS
..................... HIE=" 5 oo oG - 54 i ARSI N . 3 - o 1 AP 4 -
..................... NE-T: 5 TN . - o1 : JOUROOUNPUNE : i - 1 i (ORI o . -
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Exercise 3.70. Choose the appropriate names of scientists below and put them in the diagram.

acoustician - phonetician - microbiologist - mathematician -
economist - physicist - geographer - astronomer - psychologist
SEOE, | T2 Bl sovnpsonssnssapsmsmsss i
Ty gl B = RS L. U .
MATINAZ | IZ 8 ccccververcrereeeeeeeneesneeeesnesaesnesaeas
SaUNAZ | IZ BN .cocecceeeeececeeeeerre e
e sarentrst hu: stadiz RARITrIZ | IZ 8 e
VAITOSIZ | IZ © coveveoeeeeeeeeeeeeereerseeessessenne
spittisgunde. | I wmmesrnmm s
ENAAZIZ | IZ 8 .ccovcrveeerireeeeeeereere e saeeae
pre'dakf{n | IZ on ...,

[H. SAPIENS BOHEMIC.

aRaRY

Do o/, D

A5

{

Figure 3.7. ,ente'mnled3r | i: Ade wer raund

3.5.3. Selected terminology of phonetic sciences

It seems quite appropriate to introduce some phonetic terminology at this stage. It
contains a lot of words of Latin ancestry and some of the terms have a touch of false-
friendliness in them. Where else should we practise words like laryngeal, which looks very
much like Czech laryngdlni, but is pronounced /6 lerin'dzi:el/ or palate, which
contains late /1ext/ but instead of /pelext/, it is pronounced /pelat/.

Exercise 3.71. Read the following expressions out and draw a line between the individual
objects and their names. The first line has been done for you as an example:
the expression alveolar ridge has been linked to the place which is called
alveolar ridge.
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nerzl kesvet: wl w118l rodg
ha:d pzlest
vi:lem
ju:vjele
feripks

epI 'glotis

laeripks

voukl foauldz
glotzs
tre'ki:o

1 'spnfeges

Figure 3.8. Drawing for exercise 3.71.

Exercise 3.72. It is quite useful to know the adjectives related to various organs of speech.
Transcribe the adjectives given in the following list.

Example:

lungs - pulmonic ...../PAl 'monIk/.. (It is also possible to say /pul 'monIk/.)
Hp(E) -+ ToHAL icvins ssmsmmiswmaminsssbes both lips - bilabial ........cccecevivvirinirinrinniieeiennens
teeth — dental .......ccccevvnvnmiviiniivennininne lip + tongue - labiolingual .......cccccevrerrecnnreennnens
palate — palatal ........cccceverveecenseencncennnne tip of the tongue -~ apical .. .cusmmsmssmsmsamvusans
uvula - uvular ... blade of the tongue - laminal .........cccceuveuiinnnnen.
pharynx - pharyngeal .......cccccceeevencennneee back of the tongue - dorsal .......cccceeveiviinieennnnnns
velum (passive) - velar ........cceeeeenenee. vichom (Aetive) < VEHR. ovasoismmmmmomarrmomy

Exercise 3.73. Choose the correct transcription of the terms below.

1. phoneme A. /fonem/ B. /feunem/ C./feuni:im/

2. aliophone A. /&leufen/ B. /@lefoun/ " C./zlefon/

3. pitch A. /pxt§/ B./pi:t§/ C./pi: 8/

4. duration A./djue’rezfn/ B./djurexf§n/ C./de'rexfn/
5. spectrum A. /spektrum/ B. /spektram/ C. /spektrem/
6. coarticulation A./ keuva:trkje'lez{n/ B./ keu'a:trkjelezfn/
7. affricate (noun) A./afrrkert/ B. /efrzket/ C./a:frzkezt/
8. vibration A./v1'brez§n/ B. /va1'brezf{n/ C. /vazbrez{n/
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3.6. Words with unusual grapheme-phoneme correspondences

In certain sense, words with unusual grapheme-phoneme correspondences could also be
called false friends. Not that they look like familiar words from other languages, but they
definitely look as if they could be read according to regular orthographic conversion rules.
Knowing words like five, dive, hive, strive, or derive, we might be tempted to pronounce give
analogically as /gaxv/. Drawing analogies from miss, stress, hissing, classical, assumption,
and possible might lead to pronunciation of scissors as / sxéez/ instead of proper
/s1zez/. Unlike the words in 3.5.1., these exceptional words are not false friends only to
foreigners studying English, but also to native speakers. Their resistance to analogies has
- often been the source of criticism and prospective reformers of English spelling used, as a part
of their propaganda, poems like this (from Pinker, 1994):

Beware of heard, a dreadful word

That looks like beard and sounds like bird,

And dead: it's said like bed, not bead —

For goodness' sake don't call it deed!

Watch out for meat and great and threat

(They rhyme with suite and straight and debt).
Similar rhymes exist for words with the group —ough (e.g. cough /kof/, plough /plau/,
though /8au/, through /Oru:/, rough /raf/, and thorough /9Ara/). On the other hand,
it is only fair to say that words like these are not prevalent. Pinker (1994) claims that about
eighty-four percent of English words behave according to regular rules. Many of the
remaining sixteen percent are common words which are easily learnt because we meet them
quite frequently. Thus, we do not read have as /heIv/ according to cave, Dave, or gave and
most of us do not struggle with the word women /wImin/, even though it is irregular.

There is also a group of exceptional words that are seldom used nowadays, especially if
we exclude mad testmakers from our statistics. These are words like halfpenny /hexpnz/,
worsted /wustzd/, or brae /brex/.

The rest of the exceptional words must be learnt by heart.

Exercise 3.74. Try to correct the following words. Remember that the main-objective of the
exercise is to practise reading of transcribed items and not to test your
knowledge of the exceptional words. (Meanings of the words can be found at

the back of the book.)
1. floodisnot /flud/ but /f1 . d/ 8. hiccoughis not /hikof/ but /hxk . ./
2. bloodisnot /blu:d/ but /bl . d/ 9. timbreisnot /tTmba/ but /t . mba/
3. broochnot /bru:t§/but /br . t§/ 10. heightisnot /hert/but /h . t/
4. yacht not /jekt/but/j . t/ 11. gaugeisnot /go:d3/ but /g . dz/
5. buryisnot /bjuerz/but/b. rz/ 12. mauve isnot /mo:v/but /m . v/
6. loseisnot /leuz/but/1 . z/ 13. leopard not /1i:eupa:d/b./1.p.d/
7. grossisnot /gros/ but /gr . s/ 14. Leonard not /1i:suna:d/b./1.n.d/

Exercise 3.75. Try to transcribe the following five words but do not get too disappointed if -
you make a mistake. Your transcription skills are probably quite good by
now. Decide for yourself how important these words are for you.

1. lieutenant 2. colonel 3. Leicester 4. Gloucester 5. Worcester
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4. Phonological Consequences of Morphological Processes

Lengthy explanations of English morphology do not have their place in transcription
practice. However, some of the morphological processes in English are quite common, and
reminding them should inspire rather than burden a transcribing novice. Relatively regular
behaviour of morphemes has already been observed in Section 3.5. in connection with the
suffixes -ion, -ology, -ometry, etc. Morphemes, the smallest meaningful units of a language,
can join one another and create new words or new grammatical forms of a word. In this
process, the phonemic make-up of morphemes sometimes changes. One of the most quoted
examples to demonstrate this fact is the pair electric /T'lektrIk/ (+ -ity) — electrigity
/1lek'trrsetr/.

Let us now have a look at a choice of phonologically interesting processes, which often
produce errors in transcription attempts of Czech learners of English.

4.1. Progressive assimilation with —s, —es, -'s, and —s'

The grapheme 's' at the end of a word can signal various grammatical categories. If the
word is a verb, 's' is a 3rd person singular ending, e.g. walk - walks. If the word is a noun, 's' is
a plural ending, e.g. book - books. There can also be an apostrophe between the noun and the
grapheme 's'. That signals the possessive case, e.g. Jack's idea, or contraction of auxiliary ‘s’
or 'has’, e.g. Luke's over there or Luke's been caught. Pronunciation and transcription of all of
these cases follows the same rules. Written —s, (also —es, —'s, or —s') is pronounced as /s/,
/z/, or /1z/. Czech beginners often claim that they cannot hear the difference between
/s/,and /z/. That is quite understandable. English word-final /z/ is often partially or fully
devoiced and can sound quite like Czech /s/. English /z/, however, does not become
/s/even when it loses its voicing. It keeps its lenis character, which means that it is shorter
and not as sharp as fortis /s/. Moreover, it influences the preceding vowel quite profoundly.
The vowels before /z/ are considerably longer than before /s/. Thus, when we hear the
words price and prize, we may get the impression that the final segments sound very similar
in both words. The words as such, however, sound very different because /ax/ in prize is
almost twice as long as /ax/ in price! Another example could be the pair boys and voice.
There is a vowel /01/ in both of them. The same vowel is almost twice as long in the word
boys because this word is pronounced with /z/even though with its devoiced variant most of
the time. (For further practice see Section 6.2.)

The pronounciation rules say that written —s (—es, —'s, and —s") :

1) is pronounced as /s/ after a voiceless consonant,
e.g. chops /tfops/, hits /h1its/, Jeff's /dzefs/

2) is pronounced as /z/ after a voiced consonant,
e.g. ribs /rrbz/, floods /f1adz/, Pam's /pemz/

3) is pronounced as /z/ after a vowel,
e.g. eyes /aI1z/, plays /plexz/, Roy's /roxz/

4) is pronounced as /1z/ after sibilants /s/, /z/,/§/,/3/,/t§/,and /d3/,
e.g. buses /basIz/, washes /wo§1z/, Mr. Rich's /mIste rrtf{rz/

Caution!

These rules hold only if a grammatical -s is added to another lexical morpheme. They do not
apply to the pronunciation of /s/or /z/ of a root morpheme. Thus, the word chance is
pronounced /t §a:ns/ despite the fact that there is a voiced /n/ before /s/.
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Exercise 4.1. Look at the following list of 40 words. Underline those 20 of them for which
you cannot use the above mentioned pronunciation rules. Explain the
(probable) grammatical status of final sibilants in the words.

Example: Joyce - monomorphemic, pronunciation does not follow the above mentioned rules

enjoys - grammatical -s (3rd singular verb)

Joyce - enjoys - rice - tomatoes - wives - husband's - waiter's -

waitress - goose - case - keys - says - chaos - Tim's - class - minister's -
mouse - address - printers - prints - watches - clocks - toss -
nose - race - rains - raise - he's - his - hiss - choice -
employs - noise - buildings - house - driver's -
garages - radios - voice - actress

Exercise 4.2. Transcribe.

A. B. C.
walls e, WaIlS e, Wenly's . oo
WallelS s WEIBHE  coccmcssssiassssnconnonas William's ....c.covvevvrverennnnene.
weddings ......ccoceeeenveneane.... LLL0) o5 [ R Walter's  .ccccovevvvneneiinenn,
L L0) (5 WAINS .eeeeereeceeenenienan, Winnie's ......cccoeveererrenenee.
WAYS e, WiShes ...ccocevvvererennnrenene. Woody's ...ccovreriererennne.

Exercise 4.3. Change into 3rd person singular and transcribe.

Example: ride a bicycle — (rides a bicycle) — /rardz o barsikl/

expect [etters  .ocvvveveirieereeeee introduce the BUESIS ..oummmmsmssssssssamsemssmamensss
diSappear at ONCe ........ecceevverererererereenenenenes .. draw funny PiCtures ........c..ce.eeeeveerrencenernessennenn.
read Magazines ......c.eoceeveereeeeereeeveevrnenne. underline new WOTdS.......ccceeeeeeerecieeneeenecnrennenne.
catch the train  ....ccccocevveerrercrcceee, clash with everyone .........ccccoeveeenenecienennnenn.,
passthe salt  ...ocooeveeiveniieeeee hope JOr betler FUITe s smessismessssainsairenseny

Exercise 4.4. Add possessive 's, link together and transcribe.
Example: Billy - potatoes — (Billy's potatoes) — /brlrz pe'tertsuz/

Joy - boyfriends  ....cccoceeverenreeneieeeeee Sullivan - legs  ccceverrerrireecerecceceecerene,
Richard - ideas  ....cccoceeevrereerececrccrceeeeee. Mark - smiles .o,
Pete - problems  ......ccccocerreeeereeean, Ingrid - AICAMS  cicsvessintnssiss sississoresnserarones
Miss Dodge - files ......cooeereruerereeivennercererennnne. Chide - ssesmumsossmmssmsise.
Barbara - clothes ......ccooveeeeereercecercrcanee. Samantha - SENSes .......ceoeeecervcenerreerierseeneennnnne,

Exercise 4.5. Transcribe.

1. Romanesque ChUrChes ..ccooeeeeeeccctneeeeeeeeevceesse e seneanes
2.  Gothic windows R SRR SRR fi s iy netanno b an i bbpes s
3. Renaissance SCUIPLUIES ..ccoeveeeveeerecececteeereecscceeee s ssesene
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4. Baroque paintings .o
5. Victorian palaces = e

6.  Art NOUVEAU JECOTALIONS  cueeererreererrseecsnsesesnenssesscnssosessssessasssssnssssssassesnnsasnan

Figure4.1. a:nt dexr o:1 bju:tefl | ar rrelr ka:nt serx |
wit] starxl 1z max fervrit

4.2. Progressive assimilation with '-ed'

The verbal ending '—ed’ signals past tense and past participles. The pronunciation rules
follow the same pattern as the rules for grammatical '—s’. This means that written —ed":

1) is pronounced as /t /after a voiceless consonant, e.g. stopped /stopt/, locked /1pkt/

2) is pronounced as /d/after a voiced consonant, e.g. robbed /robd/, mugged /magd/

3) is pronounced as /d/after a vowel, e.g. played /plexd/, cried /krazd/

4) is pronounced as /1d/after alveolar plosives /t/and /d/, e.g. waited /wextzd/,
flooded / f1adzd/.

It has to be noted that certain adjectives behave as if they were not derivations and refuse
the historical contraction of /ed/ through /xd/and /od/ to /d/ or /t/. Thus, the word
wretched (miserable) is pronounced as /ret §1d/, dogged (determined) as /dogrd/, naked
as /nextk1d/, learned (in the sense of academically trained) as /13:nzd/.

The perceptible difference between final /t/ and /d/ for Czech listeners lies again
more in the length of the preceding syllabic nucleus than in the plosives themselves. The
whole problem of vowel shortening will be discussed once more in Section 6.2.
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Exercise 4.6. Divide the following verbs into three groups according to the pronunciation of
the final —ed'. Transcribe them.

pushed - counted - opened - smiled - shouted - kicked - avoided
died - hoped - lived - pulled - ended - helped - touched - wanted

Group 1 /t/ Group 2 /d/ Group /xd/

....................................................................................................
....................................................................................................
....................................................................................................
....................................................................................................

....................................................................................................

Exercise 4.7. Convert the verbs into past participles and complete the transcription of the
passive constructions below.

1. draft 0o si:kret dokjument WoZ ...
2. outline di: eser fo kompe 'tIfn WozZ ....cevcvcricenee.
3. prepare 0i: 1nte'n®fenl kontrakt wez ...
4. illustrate e bar'pled3zIr tekstbuk WoZ ...,
5. typeout Oi: o'f1fl leto WoZ ..vveennnne.

6. design 0o frant KAve WOZ ..o,

7. print 8o farnl peId3IZ Wo ...

8. check 0o spelip wez OATelI ...

9. edit di: eupenip I LERL WOZ suwmarmssommsinas

10. advertise 0o nju: mEge 'Ziin WOZ .o,

11. publish 8o rr's3:itf rr'poit Wz .o,
12. supply 0o printIn PEIPE WOZ ..oeoeeevsennn.

Exercise 4.8. Read the following story and fill in the transcriptions of the appropriate forms
of verbs. The verbs are indicated by their initial phonemes. Pay special
attention to phonemic representations of '~ed’ endings.

stop - escape - jump - attack - watch - mix -
crawl - sprinkle - remark - reduce - undress

praektikl dzeuk

9z ar wez wo:kip heum jesteder | A wez e......... bar dogz ||
ar O1pk 1t woznt dzes bed lak | A r1'membe mar nefju: dzeremr |
had m...................... sam kemrklz 8s der br'fo: |

B T Wallcaisssionsnnrons o'raund 3o haus wid Som | end et wan meument |
hi:d S, maI travzez wid wan ev Jem ||

HI1¥ ook samb1y o'baut en rnesent aksident |

bet em §ue nau | hi:d dan 1t pn p3:pes | ju si: |

0s dpgz W............. mi: ka:mlr en'trl der ked smel mar trauzez I
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Oon OET dF ik ot mi: |

2501 S PN maT pents'lu:nz te f{redz ||

a:fte dzxt | dex s..ueeee. on Kucovvreunne. o'wer wid epple'dzetrk luks ||
wen dzeremI so: mr kamrip heum ha:f A |

% N R SHO—— Oru: 8o bak do: | seu ar ka:nt a:sk em |

fo 8o resepr feo his fen'tastik psufn |

4.3. Derivations

Apart from offering some more transcription practice, the following exercises also show
how selected derivational processes affect phonemic and prosodic forms of words and their
parts. This area of English phonology and morphology has been studied extensively for
decades if not centuries. For an interesting account see Chomsky and Halle, 1968.

Exercise 4.9. Forming nouns with the suffix —izy /ot 1/usually involves changes in stress
and consequently in quality of some of the vowels. In the word productive
/pre'daktzv/, the first vowel is /o/ and the second /A/. In productivity
/prodek'tIvetr/, what was /o/ becomes /p/, while what was /A/
becomes /o/. In this exercise, you are asked to form nouns from adjectives
given at the end of each line, and put them into the gaps in the sentences. After
you have finished, read the sentences out emphasizing the stress.

L ST somsassiisimmmmmmn Is pjuslr keu,1ns1'dentl | sImzle
2. 8s re1n on 81s arlend Kamz WIS 8 'MEIZID .ccvevrveerreeenne | regjule
3. evrIwan 1lavd he fo hoe . | rz'lazebl
4. wan ov 0o ki: wa:dz 1n ste'tistiks IZ ... | probebl
B OLE errermonmacnsasmonsens te konsentrert | 1z verr im'po:tent | exbl
fo plexxpg tfes
6. e li:dz te dis'kaveriz o: trabl | kjuerzes
7. heav jo neutist 89 ... ov 0o bapk kla:ks | fe'mrlie
8. 39 Woz & 1Dt 8V e, In 8s haus ev a:r | ektzv
airr§ nerbez
9. pro'fese smifs lektfez | we fermes fo Jeo ... | klze
10.wx kudnt du: aBewaIiz | It Wez & ... | nesesrz
11.wan ov 8o ki: w3:dz 1n meEnidzment IZ ... | optiml
1 R———— ov a: ,poli'tifnz gets on mar n3:vz | pompes

Exercise 4.10. You may have noticed that the suffix -ify attracts the stress to the last syllable
of the stem to which it is attached. Similar behaviour can be observed in the
case of the suffix -ic. (Suffix -ic, however, sometimes triggers additional
changes, like consonant alterations or addition of stem-forming morphemes,
e.g. problem — problem?&?éic.) Finish the transcriptions of the following
derivations. Notice the vocalic alterations. '
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1. o'kedemr - &ko'............. 6. preried - pIerI ...

2. saIsns - saIan ... 7. 0iim - OI ...

3. o'nelesis - &no ... 8. sInbesIs - SIN ...

4. sistem - siste'......... 9. arseteup - arse'..........

5. 1'konemr - i:ke'............ 10. d31'ngrefr - dzi:e ...

Exercise 4.11. Form adjectives from given nouns and transcribe them into the gaps.

l.wen jo spi:k te him | deunt luk In Iz ... a1z || di:men
2.bob stead ot 8o foutegra:f ov or ... fers | erndzl
3.a:fte 81 o'naunsment | o we sevral ... fauts || ju'fo:rie
4.fo: hiz exdz | hi:z 1n'kredeblzT ... | enedzz
5.d1d jo nautis 8T ... andsteun In 1z VOIS | azrenz

6. WIO IZ ... o'prout§ | hi:1 neve bi: pre'meutzd | lefedz:
7.TOT WOZ wevvvrrrrerrrrnes | i:vn wen wi: menfnd fu:d || @pebz

8.ar hert lisnip ts hIZ .o, pro'gneusi:z | o' pokelrps

Exercise 4.12. The suffix '~#h' is no longer productive in modern English. Use it to form
nouns from the following adjectives and notice how the vowels change. (The
position of stress is not a problem here, as we are dealing with monosyllables.)

1. waxd ................ 2. di:ip e 3. strog ... 4. log e

Exercise 4.13. Fill in the appropriate nouns derived with the productive suffix '-ee’. Notice
that the suffix -ee’ attracts primary stress on itself.
Example: p3:sn | te hu:m dis'pju:ts 1n spo:t a: rx'fs:d | end hu:
pri'vents ru:lz bi:ip breuvken | 1z o .., refe'ri:..

samwan hu: 1z &bsent frem en I'vent | IZ on ..
p3:sn | te huim samB1n 1z bi:zp peId IZ 9 oo
samwan hu: si:ks refju:dz frem p3:sr'kju:fn | Iz & ...
p3:sn | hu: 1z 1'vekjueItId IZ 8N oo,

samwan hu: 1z bi:rp treind fer o d3pb | IZ 9 .ceeveseecene.
p3:sn hu: h®z o larsens te du: sAmOID | IZ & .o,
samwan hu: hez od o leg smpjutertrd | IZ on .vvveeeeceneeee.
p3:sn hu: hez 1'skeipt | Iz on ..

samwan hu: 1z dr'terind bar 8o pa'liiS | IZ 8 .vveernnee,

10. p3:sn hu: 1z r1'sponsebl fo menid3zrp & trast | Iz & ...

B E P W R

Exercise 4.14. A particular English morpheme can often act as a noun, adjective, or a verb
without any affixation. For example, work can be prdce, pracovat, or pracovni
and air can be vzduch, vzdusny, or vyvétrat without any suffixes or prefixes.
There are also about 120 words which keep their spelling when they change
their word class, but speakers pronounce them differently in different
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grammatical roles. The change, like in some of the exercises above, involves
the stress placement and often also vowel alterations. Object is a noun when
pronounced as /pbd3Tkt/ and a verb when pronounced /ob ‘dzekt/.
There is a tendency for verbs to be stressed on the second syllable. Look at the
following nouns and try to transcribe the pronunciation of their respective
verbs. (For your convenience, the primary meanings of the word-class pairs

have been included in the Answer Key.)

the compress /kompres/
the conduct /kondakt/
the contract /kontrakt/
the project  /prodzekt/
the protest /prautest/
the process /preuses/
therecord /reko:d/
the suspect /saspekt/

o Ny R

X X X X X X X X

10 COMPEESS - scuacusmmmamsinssenssanigremss
{0 CONAUCE - sivmvsmssisassiionss dosovesvssvnnsss
10 COMITACE ~ suivevicmmmsassassosssassnsnsnannenns
t0 PIOJECt o
tO Protest ..ocvvvvveeeerecenscnneenencssonnaans
1O PIOCESS cvvviecticrenieereennennenaeanees
toTeCOTd e
IO SUEPEEL  .vaimssmmsmmmsmssss e

Exercise 4.15. This exercise is very similar to the previous one. This time, however, you are
asked to transcribe nouns to the given verbs. You will also find some pairs
which do not differ in sound even though they look as if they might.

to regret /rI'gret/
to subject /seb'dzekt/

1. todesert /dx'z3:t/

2. todisgrace /dis'grers/
3. to escort /x'sko:it/

4. to permit /pe'm1t/

5. torebel /rz'bel/

6. to refuse /r1'fjuiz/
7.

8.

X
X
X
X
X
X
X
X

B AESIT oo mnimiesiRiR S
the diSEIace ssmsswemmmsmesmes
the €SC0TE somvmrmssmosmmmmmsesssries
the Petmil  coossmsmssimsmmpmmensviner
the rebel i
the refuse  eeeeieeeeeieeeeeeccee
111 TS0 (72 (<1 AN
the SUBJEEE .ooveeonrevasoonssius oo arsnmsis

Exercise 4.16. Choose the correct forms of various derivations. Even if the choice is easy for
you, read carefully the pronunciation of the distractors. Remember that we are
practising the Interantional Phonetic Alphabet rather than testing your English.

1. k=neds A. kanad

2. Orete A. Or'atrrkl

3. hari'poBesis A. harpe'Betzk
4. meledz A. melpdzk

5. kpmedz A. ke'mi:dien
6. traremf A. trar'amfeal
7. heretzk A. heretzkl

8. telefeun A. te'lefenist
9. masl A. masletiv

10. tere A. tere'rzfn

B;
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kenadist C. ka'nexdjen
Oretroel C. O1'®tres
haipe'Oetrkl C. harpebeuz
me ' Indik C. mele'di:k

ke 'mi:dz1k C. komedzfn
traremfrk C. traz'amfent
he'retzkl C. he'reties
tels'fonist C. telsafopnist
mas 'lexfes C. maskjule
tererist C. terere
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5. Connected Speech

In order to make our exercises livelier, we have already transcribed linguistic units higher
than a word. In the following exercises we will see, however, that transcribing connected
speech involves more than just chaining individual words together.

5.1. Transcription without word boundaries

If we look at a text in English (or in Czech) we can see spaces between words. Peopie
sometimes assume that there must be analogical spaces in the acoustic signal of speech.
Students of phonetics are usually quite surprised to find out that there are no spaces between
words in real speech. It is actually very difficult to trace word boundaries in the speech signal
as such. The stream of speech is not often broken by silence and when it is, the silent pause
usually separates units higher than words or, in case of voiceless plosives, it occurs inside
words. For this reason, we sometimes transcribe English in units that are acoustically clearer
and reflect the phonetic reality better. These units are called stress-groups or feet, less
frequently also phonetic words. A stress-group (or a foot) in English linguistics is a stretch of
speech from one stressed syllable up to another but not including it. A sentence like 'The cat
was waiting in the grass' could be divided as follows.

ds Ik&twez| | weItiprnde | |'grc1:s |
Foot 1 Foot 2 Foot 3

The definite article the at the beginning of this sentence is so called anacrusis. The
transcription without word boundaries is more difficult to read but shows acoustically salient
units of speech, which for students of English as a foreign language can be very useful.
English is a stress-timed language and stress-groups are valid units of its spoken form.

Exercise 5.1. Read out.

pro' feseba: 'Oplemju: | 1zeno: 'Boretronmz ' kentks |

betrz 'lektfezerez'drarez'dast |

w1001 'euld'dzrmti:tferin'prizn | a:'nju: 'dzrmti:tfe |
1zoz'dzentleze ' lem ||

krr'sti:ineweze'trablmerke | bot§i:'luktez Inesentezs'dav |
wId 'eunlre'snekinit | mar'sku:lbegizez'larteze' feds |
ave'hedma:ste | 'mrstemes 'gonegl | 1zez'euldezds 'hilz ||
detps'trkjeler'i:vnip | 8o 'sku:lwezez 'sarlentezde 'sta:z |

a: 'keeterkez'warf | 1zez'aglieze 'skeskrau ||
a:ftedi:zk'stensrvig, zemi'nerfn | o' feltoz'wi:kezs berbr

Exercise 5.2. Transcribe in stress groups.

1. a bridge across the river 2. a stone wall behind the cathedral 3. a cottage in the middle of
nowhere 4. a tree in your garden 5. a group of bushes by the stream 6. a cross on the top of
the hill 7. a rock with pine trees around it 8. almost invisible path through the woods 9. a
village in a beautifull valley 10. a stony road between the two lakes

Exercise 5.3. Read out the following story. In each line, there is one mistake in stress-group
boundaries. A stress-mark is either missing or misplaced. Correct the mistakes.
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'hxtfhazkip

ar'deunt ' farnd'hrtf{hatkineze'trektrvez 'bifo: ||
'‘marla:strks'preriens | weze'brtik'stro:dnerz ||
a:fter'o:lmeusten'averev'wertiy | barde'sardevds haiwertepra:g |
o'lrtlven'stopt | ende'draver 'nfedmi:e'lzft ||

Jewez 'nabrp' anju:zuelet' fa:st'sart | betwenar'gotintuis'ka: |
a1 'neutIst 'nju:meres 'boksIizef 'prlz | o:1'euvedeplers ||
hrrk'splerndr'tuke'lptefpern'kilez |

b1 'kozi: 'safedfrem' fri:kwent 'bekerks | 'hederks | 'enstomekerks ||
tuemfs 'sarzde'sreriesnesevde,srtfu'erin |
hi:'tuke'prlfreme ' bokswids'red'trarapglonrt | enswoleudrt ||
'dent ' oupnde 'la:dz 'botlevkeuk | 'tuke'galp |
ond'Oru:de'ha:f'ful 'botl | avtevds 'windeu |

o 'perentlz | 'hi:dxdnt 'nev |

dot 'Oreurp'vbdzrkts'autevde 'ka: | wez'1li:gl ||

wenineu 'tist | det'arwes'stadiipde ' kraekiniz'windskri:n |
endert 'mernzevissmet 'wipmIire |

h1'sta:tidd:'skrarbrp | 'sevreleviz'ri:snt 'mainerak'srdents |
'wrt§i:d'had | br'kozi:kudnt 'konsentrerton'drarvip ||
'a:fterebauvt ' fifti:n'minrtsev'wred konveserfn |

h1, anik'spektrdlr'stoptis'ka:rinde 'midlevneuwes ||
hi:e'poledzarzdi: 'kudntterk'mi:te'pra:g ||
'hi:lzvdinde'fi:1ld | @ 'baute'krlemi:ter pfdemern'roud |
'enhadtegeu 'heum | te 'have 'nap ||

'weni: dise'pred | daune'dastr'trerlintude’'fi:ldz |
ar'Bapktde 'providensfs'servipmi: | frem' tkspreriensIy |
‘wanevde 'menzmarner '&ksidents

5.2. Linking Phenomena

An important message in transcription without spaces between words is that a learner of
English should try to link words together to build higher syntactic units. One of the reasons
why Czech English sounds so discontinuous is the lack of linking. The main culprit in this
case is the glottal stop — a voiceless non-phonemic speechsound created by a brief closure of

glottis. The symbol for glottal stop is [ 2]. Czech speakers insert this speechsound before
words beginning with a vowel. The Czech sentence A odnesla si atlas k oknu will contain four
glottal stops in standard pronunciation: [2a'?odneslast’'?2atlas’'k2oknu]. Czech

speakers use glottal stop especially when they want to speak clearly. English speakers, on the
other hand, use glottal stops before word-initial vowels only exceptionally, usually when they
want to give a word special emotional charge or contrastive emphasis. The sentence Give him
only a part of it /'givem'ounlie pa:tevit/ might sound in elementary Czech

English something like [ 'gzvhim'2ounli?e 'pa:rt2of21t].
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Vowels in natural English are not often endorsed by glottal stops and an attentive listener
can notice five different phenomena in places where word-initial vowels meet preceding
sounds. They are: a) pseudo-resyllabification

b) linking [r]
c) intrusive [r]
d) transient [j]
e) transient [w].
Let us study these individual linking phenomena one by one.

3.2.1. Pseudo-resyllabification
Czech listeners can have an impression that syllablic boundaries in connected English do
not align with word boundaries, e.g.

was a bit extraordinary wez.s. 'brt.zk. 'stro:.de.ne.rz
we.zo. 'br.trk. 'stro:.de.ne.rz

nothing unusual at first 'na.01p. 'aAn. ju:.3zvel.st. 'fa:ist (or ju:.zu.el)
'na.01. 'pan. ju:.zus.lst. 'fa:st

got into his car '‘got.In.tu.1s. 'ka:

‘gp.tin.tu.1s. 'ka:
boxes of pills all over the place 'bok.s1z.sf. 'prlz.o:l.'su.ve.ds. 'pleIs
'bok.sz.zef. 'prl.zo:. 'leu.ve.ds. 'ple1s
took a lot of painkillers 'tuk.s. 'lpt.of. 'pern.kr.lez

'tu.ke. 'lp.tof. 'pern.k1.loz

The allophonic qualities of individual segments (e.g. aspiration, type of release,
velarization) suggest that the syllable boundaries are not genuinely shifted unless the speech
rate is really fast (Krakow, 1999), but the impression of the shift is quite strong, and it is
helpful to use it as a device for linking practice. To raise awareness of the phenomenon,
students can be asked to capture pseudo-resyllabification in their transcription.

Exercise 5.4. Transcribe the following phrases and use dots to indicate the new pseudo-

syllabic boundaries.
1. with a pink elephant 4. his action was illegal 7. some unexpected events
2. andTswallowed it 5. concentrate on accents 8. talked about an accident
3. just opened a bottle 6. can operate in this area 9. have an American education

5.2.2. Linking [r]

The previous paragraphs explained the situation of word-initial vowels preceded by
word-final consonants. We will now have a look at a special case of word-initial vowels
preceded by a silent 'r'. Non-rhotic accents of English have silent ''s in the syllabic codas of
some words. These 'r's are written but not pronounced. If, however, such a silent 'r' is
followed by a vowel of another word, it is restored, and it is pronounced as a linking element.
This strategy helps to avoid merger of two vowels or the necessity to use a glottal stop. (You
can recall the idea of pseudo-resyllabification again. A syllable-final 'r' becomes syliable-
initial in the next word.) Compare:

the driver stopped/answered ~ 8o'drazve'stppt
3s'drazver 'a:nsed (With pseudo-syllabic boundaries
we would have 8s. 'drar.ve. 'ra:n.sed)
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car by the roadfin the fields 'ka: 'baxde ' reud

s

'ka:prnde'fi:ldz ('ka:.rin.ds.’'fi:ldz)
a minor problem/accident e 'maIns ' problem

o ma1ne§ '‘eksident (e.'mar.ne'rzk.sI.dent)
after one o'clock/eight o'clock 'a:fte' wanae 'klok

‘a: fteg' erte'klpk ('a:f.te.'rer.te'klpk)
where she is/is she 'weofl1'1Z
' 'wee§'IzSi: (‘wea. 'rxz.§i!)
(The practice of marking pseudo-syllabic boundaries is used for didactic purposes. In our
book, we will not follow it any further.)

Exercise 5.5. Transcribe the phrases below and highlight the linking [r]s.

It is as clear as the nose on your face that King Arthur is brave, fair and strong.
Merlin slept over a hundred years and then he lost his power of speech.

The younger invader escaped before eleven at night.

I heard a rumour about Sir Lancelot and the Queen.

Sir Edmund went to the chamber in the south wing.

You're not aware of the fact that there is a treasure under your feet.

That rider on the light brown horse will be the next ruler of your land.

Her amber eyes are obviously blind - I'm absolutely sure about it.

are B o o

5.2.3. Intrusive [r]

Intrusive [r]s are used by speakers of non-rhotic accents of English for the same reason
as linking [r]s: to avoid intervocalic glottal stops and to prevent two vowels from a direct
contact. The striking difference is that the intrusive [r] is not represented in spelling. The
word law is pronounced /190:/ and we do not suspect it of containing an underlying /r/ the
way words like four /fo:/ or door /do:/ do. However, if it is followed by a word
beginning with a vowel, we can hear people inserting an r-sound between the words, e.g. law
and order /'lo:ren'o:de/. Paradoxically then, the two 'r's that are spelt in this phrase
are not pronounced, while there is one pronounced which is not spelt.

Any word finishing with /o:/, /a:/, or /e/ can induce an intrusive [r]. Transcribers
should be aware of the existence of the intrusive [r], but do not have to learn to use it
themselves. The intrusive [r] is very common nowadays even in speech of educated speakers,
but until very recently it was considered a substandard feature of pronunciation.

Exercise 5.6. Read out the following sentences and circle the instances of the intrusive [r].

1. di:ax'drerevinde'pendens | woz 'harlrtks ' pleusiv

2. 'hznerende'sistez | we'drfrkltte'di:lwid

3. ar'so:rente'ternszen'gamblez | Inlas'verges

4. 'meredif'stadid'dra:meren'mju:zik | et, juinI'va:isIt:
5. 8o'mi:dierrn'tru:drdinis'prarvrt'lazf

6. 'diplemetsfrem'sfrrkereb'dzektrdteds ' plan

7. 'dzi:bi:'f§o:rzz'kweutzd'mo: | den'eniwan'els

8 wis' flariptedze 'merkoren'wenzder
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5.2.4. Transient [j]

If a word-initial vowel is preceded by a word-final /i:/, /1/, /ex/, /ax/,or /o1/
an observant student can often hear a j-like sound between the vowels. Yes, ke is can be heard
as /'jes | hi: ' j1z/ and No, they aren’t cantesultin / 'navu | 8ex' ja:nt/. The j-like
sound between two vowels is a mere transient from a close front vowel to a vowel which is
articulated elsewhere. Because it is an articulatory by-product without a phonemic status, we
will transcribe it ;. The examples above will look /' jes | hi:';Iz/ and / 'neu |
dex ' ga:nt/, which reflects the phonological status of transient [j] more accurately. Non-
phonemic symbols within slant brackets might disconcert an orthodox phonologist. In that
case, square brackets are recommended. It is also clear that transcription with transient [j] is
used mainly in applied phonetics, specifically for teaching foreign languages. It should not
arouse any controversy in purely scientific analyses.

Exercise 5.7. Transcribe the following phrases and highlight the instances of transient [j].

1. mentally unstable patient - 5. approximately an hour and a half
2. the boy and his guinea-pig 6. not allowed to cry over spilt milk
3. she opened the wardrobe 7. face the absurdity of your situation
4. move swiftly and quietly 8. stand firmly against the enemy

5.2.5. Transient [w]

Much of what was said about the transient [j] applies to the transient [w]. It is a glide
from close back area in the vocalic space to another vowel. We can hear it if word-final /u/,
/uz/, /au/, or /eu/ are linked to a vowel of the following word. Because it is just an
articulatory by-product without a phonemic status, we suggest the symbol (). Sue asked me
can be transcribed as / 'su: ' a:sktmi: /. Transcription with transient [w] will be used
only as an auxiliary technique in English language teaching. It can help to eliminate typical
Czech glottal stops between vowels.

Exercise 5.8. Transcribe the following phrases and highlight the instances of the transient [w].

1. immediately presented a new anecdote 5. who ordered the alcoholic drinks

2. the confused pilot flew into clouds 6. throw a stone at the magic mirror

3. receive a suspicious dark blue envelope 7. get away through a narrow opening
4. a worn-out shoe in our village pond 8. walk to the phone now and again

Linking Word 1 Word 11
technique final segment initial segment

pseudo- any phonotactically
resyllabification | legal consonant

Example

any vowel one apple — wa.n&pl

linking r silent 'r' any vowel  |fourapples — fo:raplz

intrusive r oI a: any vowel saw apples — so:raplz

transient j i: 1 er ar oz any vowel three apples — Ori:geplz

transient w U u: au ou any vowel two apples — tu:gzplz

Figure 5.1. Summary of Section 5.2. on pre-vocalic glottal stop avoidance.
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Exercise 5.9. Transcribe the following message and highlight all the places where
_ you might expect one of the above mentioned linking phenomena.
/

How to become unpopular
Being unpopular has many advantages. People don't bother you with
their presence all the time, don't share their awfully boring problems with
you, and generally, they do not get in your way. Anyone who wants to
become unpopular quickly and effectively should listen to my
recommendations.

First, give a lot of unsolicited advice. Tell people what they should do
and especially, what they should have done. Second, whenever you have
to speak to people, make sure you have got some food in your mouth.
Speak while chewing food and speak loudly. Third, try to complain as
much as possible. Learn to criticize every little thing in your sight. Finally,
it is useful if you can develop your characteristic smell. Do not wash too
often and certainly do not use any perfumes.

However, be careful not to go too far. If you become unpopular over
certain limits, people might want to kill you. /

\/ 5.3. Assimilation across word boundaries

You may have wondered in the course of the previous exercises, why his was normally
transcribed /hIz/, but occasionally also /his/. Is was usually /1z/, but in certain
positions also /Is/. Of in its weak form was either /ov/ or /of/. In our Answer Key we
have mentioned the process of assimilation as being responsible for the changes. Moreover, in
Section 4, we already studied progressive assimilation of structural morphemes s, and '—ed".

Assimilation takes place when one phoneme loses one or more of its features and
becomes more similar to a segment next to it. Both Czech and English assimilation processes
are prevailingly regressive, i.e. a segment influences the preceding rather than the following
phoneme. The Czech tak /tak/ changes into /tag/ in Tak bych el /' tagbix'fel/.
The phoneme /k/ has lost its voicelessness under the influence of the following /b/ and has
become more similar to it.

In principle, English regressive assimilation is the same process, but the types of
assimilation observed in English are rather different. The three key differences are:

1. Voicing is never passed across the word boundary.
Czech pronunciation of black ball as / 'bleg'bo:1/ is illegal in English.
2. Voicelessness can be occasionally passed across the morpheme boundary,
but the process is usually restricted to weak forms of structural words or
certain stabilized structures.
of course ev'ko:s — of 'ko:s is possible, but
leave cords 'li:v'ko:dz —'li:f'ko:dz is not natural.
3. Assimilation of the place of articulation across word boundaries is more common
than in Czech. It affects alveolar obstruents /t/, /d/, /n/, /s/,and /z/.

that money '@zt 'manI — 'Qdxp ' manz

bad car 'baed 'ka: — 'bag'ka:

ten cows 'ten'kavz — 'tep'kauz common in
this year 'd1s'jIe — '01§'jIe casual English

knows yoga 'neuz'jeuge — 'nau3' jeuge

For more detailed account see your textbook of English phonetics and phonology.
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Exercise 5.10. There are thirty cases of assimilation across word boundaries in the following
text. Find them and mark those that are highly improbable in natural English.
tek 'nIfn

kem'pju:ter'eksp3a:ts | e'not'orlwez'iizrte'di:lwid |

bekkem, pju:terar'zexfneva: 'laifs | 'fo:sizestuyIim' plorden |
om'not ' fuer | zfa:tek'nIfn | 1ze'trprkl 'sa:mplevde 'spi:frz |
bet'arhev'mep 'menz'simrls'keriktoze'rauntksm ' pju:tez ||
'fa:stev'o:l|' hithez'neu'sensev mpds'rerfn | im'fakt |
'hi:gprze megeleu'mernizk || hi'laiks'evriOipin'grerd nambsz ||
'a:kem'pju:tez|'h&V6e'haIIzd'du:eb1‘nAmberef'kerlz | ka:dz |
empe 'rxferiz ||

Ine 'difn | o:le'verlebl 'softwes ' pekidzrsfremde ' web |
mesbi:gIn'klu:drdina:r'a:snsl |

wit{ mergzdi:gope'rerfenl 'sistems | 'feslrjan'stezbl |
hi:br'li:vz | dst'1fa:'srstemzdrdnk 'krafo:18e'tarm |

'hi:dbi: 'mexdrz'dandent ||

'sekendlzr | hi:g®zeke mju:nr'kerfm'problem ||

Figure 5.1. kem'pju:ter'eksp3:ts | o'samtaimz

| ‘drfrkltte'to:ktu
‘'wenje'a:skim | tuwIk'splerm'brznrs | hi:dzes'ka:nt 'brid |
se 'mentrklrken'sistent'sentensiz ||
o:lseu | 1tez'nevere 'ka:ttuy)rmdet 'sentonsIz |
'wederine 'daslog | ' o:rrne'mpnelpk | Sedrz'lertts 'wans'nads ||
wr'ju:zuelr, farnd'aut'lerte | dot 'wotwi:ga:sktimtuyyrk' splezn |
wes'simpl || beti:'samhau'kudnt'putrtim'plern'wa:dz |
'03:dlrgen'la:stlz | hi'grertligeuve 'restimerts |1sks ' pesott |
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hi:zgok 'kwarte'lptef'pa:ttaim'dzobz |

'wrt§i:daz 'nop'menidz | te'du: 'propelz ||

hi:'0Ipgzdeta: 'problemzebe 'na:l | be'tfu:zuslr'ferlste'splvdem |
ondi: 'defnetli'neve'splvze ' problemrnde'tarm |hi:ges'plentfortt ||
hi:'ki:ps'petrenarzin'o:dnerikem'pju:te’ ju:zez |

bot'ferlstebi: 'mo:rx'fektrvdendenm |

wote 'horibl | 'monstres'kerzkte |

6. Allophonic Transcription

An allophone is a variant of a phoneme determined by its position in a string of segments.
Let us have a look at a selection of the most noticable English allophones and the way they
are transcribed. ‘

6.1. Labialized Consonants

The phoneme /Kk/ in quite /kwax1t/ is actually realized as [k" ]. It is followed by /w/
and because the lip rounding required by /w/starts early, /K/ becomes labialized. Notice
that when you pronounce the word quite, your lips are pushed forward throughout the
articulation of [Kk]. This labialization changes the sound of /K/. Interestingly, when little
babies learn to use the language, they must learn not to hear the allophonic variation. An
untrained adult is reluctant to believe that there is any difference between [k] and [K"].
Instrumental measurements and perception experiments prove, however, that the difference is
quite profound and we do not hear it well only because we have learnt not to. The sounds of
speech are perceived through different mechanisms than other surrounding sounds in our
environment.

An important feature of allophones is that they are predictable. We can observe the
phonemic make-up of words and predict which variants of phonemes will be used. Our
prediction should be verified by careful listening afterwards. For example, we can predict that
/s/ in soup /su:p/ will be labialized to [ s¥ ] because of the following /u: /. If, however,
the speaker chooses to pronounce his /u/ as unrounded [w], the /s/ cannot become [s¥ ].

In standard pronunciation, consonants followed by /w/ become labialized with great
certainty, consonants followed by /o:/ and /u:/ become labialized with a little bit smaller
certainty, and consonants before /u/ and /p/ become slightly labialized only in careful
speech styles.

Exercise 6.1. Transcribe the following expressions and underline those consonants that you
predict will become labialized in careful pronunciation. Add the IPA diacritics
for labialization to each segment you have underlined.

Example: useful tool — :sfl §fu:l]
1. tomato juice 5. indisputable error 9. refuse better clothes
2. tall buildings 6. new monetary unit 10. a girl with gorgeous hair
3. queen Mary 7. spoonful of noodles 11. unbearable sweetness of life
4. fear of cruelty 8. persuade your father 12. Susan's snakes and kangaroos
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6.2. Vowel duration before fortis and lenis

Some allophonic variations in English are quite easy to grasp for Czech learners and they
do not have to be taught labouriously. Unfortunately, this is not the case of vowel shortening
before fortis consonants. Even though it is present in Czech, its scale is quite negligable. In
English it is much stronger and it is especially salient in monosyllabic words with a final
fortis consonant. The diphthong in write /razt/ is much shorter than the same phoneme in
ride /razd/. This can be captured in allophonic transcription by the IPA symbol a1, i.e.
[razt] versus [razd] (Roach, 1991). We have to bear in mind that in this case we are not
interested in absolute lengths of vowels in milliseconds. The length of vowels in English is
strongly influenced by the prosodic context. By convention, marking the allophonic
shortening of vowels in English captures the relative difference in vowel lengths. In other
words, certain vowel followed by a fortis consonant is shorter than it would be if it were
followed by a lenis consonant or no consonant at all, other things being equal. Thus, in a
sentence like T thought you said mate' we would use transcription [méxt] to show that
/ex/ in this word is shorter than it would be if the word was replaced by maid or May. It
does not say, however, that it is shorter than /e/ in the word said in the same sentence,
which thanks to prosodic context would be absolutely untrue. Similarly, the absence of the
symbol ~ over /e/ in said does not speak about its length relative to other words in the
sentence. It says that /e/ in said is longer than /e/ in set would be, other things being equal.
Transcribers who are asked to mark shortening of vowels before fortis consonants in English
do not listen to actual lengths of vowels. Instead, they imagine what a vowel would sound
like, if it were followed by the other member of the fortis - lenis opposition.

The influence of fortis consonants is operational within morphemes. It is stopped by
morphemic boundaries. /eI/ in Day One /dex 'wan/ is as long as the one in Day Two
/dex'tu:/ even though the latter is followed by fortis /t/. Some linguists speak about
pre-fortis shortening within syllables. Their division of words into syllables is different from
what we are used to in the Czech language. It is based on the phonetic behaviour of individual
segments. The most important syllabification rule is that an intervocalic consonant belongs to
the syllable with the stronger stress. Hence, the word letter consists of the syllable /let/
and the syllable /o/ and as such will be subject to pre-fortis shortening, giving [ 1eéta].

Although we usually speak about vowel shortening, fortis syllabic codas affect preceding
sonorants, too. Not only is /T/ in built realized as [ I] while the same phoneme in build is
longer [T ], but also /1/ in built comes out shorter than /1/ in build. Similarly, /&/ in
camp will be transcribed as [k&mp] while the same phoneme in beer cans is realized in its
full length [bre k&nz], and /m/ will be shorter than /n/. Shortened sonorants usually do
not have to be marked individually, as it is assumed that they behave like the vowels they
belong to.

Finally, it is necessary to explain that there are actually two complementary ways to
mark vowel shortening. For diphthongs and vowels /x/, /e/, /&/, /a/, /o/, /D/, and
/u/ it is the symbol [ ] we have already introduced. For vowels /i:/, /3:/, /a:/,
/o:/,and /u:/ we use [ '] to indicate the same allophonic change.

Exercise 6.2. Transcribe the following expressions and underline all vowels which will be
shortened due to the following fortis consonants. Use the symbols “and " to
indicate the shortening.
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1. alate arrival 5. a strict boss 9. eight days aweek  13. a secret code

2. sleeping at work 6. a thick dry leaf 10. a box of envelopes  14. brown bag lunch

3. abrief message 7. a two week's leave  11. an out-of-tune voice 15. a broken printer

4. an early train 8. a heavy typewriter ~ 12. a waterproof coat 16. a possible outcome

When you study the effect of fortis consonants on preceding vowels you may notice that
it is easier detectable in diphthongs and long vowels. Another remarkable fact is that if there
is a monosyllabic word in the final position in a phrase, its vowel can be the longest of all the
vowels in the phrase in spite of being followed by a fortis consonant. This, however, is again
true only in absolute terms. A word with a final lenis consonant uttered under the same
prosodic pattern would be even longer. /ax/ in 'That's very nice' is quite long due to phrase-
final lengthening (see e.g. Dankovi¢ova, 1999). The word lies would be in the same position
under the same prosodic pattern even longer.

Exercise 6.3. Transcribe the following phrases marking the shortening before fortis
consonants. Make sure you are not swayed by the phrase-final lengthening,.

1. I'd like chicken and rice. 5. Can we have a table by the loudspeakers?

2. The waiter seems to be out. 6. Do you have beef and noodles in your soup?

3. My Coke is quite cold. 7. Is there anything without meat in it?

4. The chef is in a bad mood. 8. Ican't see my plate through the cigarette smoke.

6.3. Aspiration and partial voicing

Aspiration is probably the most noticable allophonic variation of those mentioned in our
book, and it is usually the only one that is taught in elementary courses of English as a foreign
language. Aspiration is caused by a delay of voice onset after a voiceless plosive. In Czech,
the beginning of oral articulation of a vowel after /p/, /t/, or /k/ is aligned with the
beginning of vocal fold vibration. The voicing starts once the mouth is opened for the vowel.
That is why Czech /p/, /t/, and /k/ are unaspirated. In English, there is a gap between the
beginning of oral articulation of a vowel and the beginning of vocal fold vibration. During
this gap, air escapes with great force through the vocal tract, creating the typical noise.
Although this noise sounds slightly different for each of the plosives, its transcription symbol
is always the same. It is a little raised 'h'. The words pin, tin, and kin are transcribed as
[p"zn], [tPIn], and [kPIn]. Aspiration is found mainly in stressed syllables. /pxI/ in
pillow will be aspirated: [pP1leu], in happy probably not: [hapx]. There is a lot of
variation across speakers and dialects. /p/, /t/, and /k/ are also unaspirated if preceded by
/s/ within the same syllable. If we compare [p?1n] with spin [spIn], we can see that
there is aspiration in the former but not in the latter. A transcriber should predict possible
aspirated plosives and then verify his prediction by careful listening.

Exercise 6.4. Transcribe the following text and put symbols for aspiration to all predictable
places of its occurence.

Our boss has put a poster of Winnie the Pooh onto his office wall.

Winnie the Pooh's friends are Tiger, Piglet, Eeyore and Rabbit.

Tiger would appreciate other wild cats like panthers to join the team.

Piglet is very kind and peaceful, but occasionally acts as a coward.

Eeyore spoils everyone's mood with his pessimism, but his pals stick by him.
Inspired by his new heroes, the boss is contemplating a new specialty.

He wants to transport poisonous cobras from Kenya to Tanzania.

It is a tactical move because cobra containers are not so expensive currently.

el Bl O ol ol o
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Hand in hand with aspiration exists another phenomenon based on the alignment between
oral gestures and the voice onset. It is observable mainly in lenis obstruents, i.e. plosives /b/,
/d/, /g/, fricatives /v/, /8/, /z/, /3/, and affricate /d3/. It is partial or full devoicing
of these consonants word-initially and word-finally. In Czech, voiced consonants either retain
their full voicing, which means that the vocal folds vibrate during their whole articulation, or
they completely lose it and change into their voiceless counterparts. English voiced
consonants are fully voiced only in intervocalic (intersonorant) positions inside morphemes.
In other positions they can lose part or all of their voicing. This does not turn them into their
voiceless counterparts because they still keep their lenis character. That is why we easily

recognize minimal pairs like back - bag [b&k ]-[beg], dock - dog [dpk]-[dog], heart -
hard [ha't]-[ha:d], loose - lose [lu's]-[lu:z], use (noun) - use (verb) [ ju-s]-
[ ju:z], and spice - spies [ spars]-[spaIz].

Voiced obstruents are not the only group of segments that can undergo the loss of
voicing. Approximants /1/, /r/, /j/, /w/ can lose their voicing after /p/, /t/, and /k/,
and nasals /m/, /n/ can lose their voicing after /s/.

Examples:
a) bay [ber] day [der]  gay [gex] they [Jex] jay [d3eI]
b) lobe [leub] load [loud] lose [lu:z] loathe[loud] Ilodge [1nd3]
¢) play [plex] &y [traz] cute[kju:t]
d) smell[smel] snow [sneau]

IPA can indicate whether the devoicing is full or partial. This is not necessary for Czech

learners of English and in our transcritpion, we will indicate both cases with the same symbol:
a little empty circle under the devoiced consonant.

Exercise 6.5. Transcribe the following names and mark the partially or fully devoiced

consonants.
1. Charles Dickens 5. Benjamin Disraeli 9. Max Planck
2. Severus Snape 6. Anthony Trollope 10. James Stanford
3. Oliver Cromwell 7. Emile Zola 11. George Smollett
4. David Garrick 8. John Galsworthy 12. Francis Bacon

64. Clear [1] anddark [1]

A lot of attention in research has been paid to allophonic variations of the lateral alveolar
approximant /1/. Two of the most salient allphones are the so called clear and dark 1. Clear
[ 1] appears before vowels and dark [ ] elsewhere. They are in complementary distribution.
As with other allophones, people are usually not aware of their existence, but notice that there
is something 'strange’ in a stranger's accent if dark [ 1 ] is missing or, the other way round, if
all /1/s are dark. The latter case is typical of some of American English accents.

During the articulation of dark [ 1 ] the back of the tongue is raised toward velum, which
adds a characteristic [u] resonation. We say that [ 1] is velarized.

Exercise 6.6. Transcribe the following sentences using the symbol [ 1 ] for velarized lateral
alveolar approximant.

1. Lucy really loved her purple room with a large metal lamp in the Hilton hotel.
2. The landlady showed ill manners when she lamented over that little hole in the wall.
3. Daniel killed himself with his own lethal weapon and his soul went straight to hell.
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Our last Latin lesson was a bit dull and I failed to learn a single word.

The pale girl told the child a fairy-tale about a palace, which was full of angels.
American films portray the lifestyle of lawlessness, spectacular violence and illegal deals.
Out of the loyalty to his liberal leader, he accepted the role of a leaflet deliverer.

Lazarus McGill, the lion-hearted lizzard tamer, resolved that he would drill for oil in the
Blue Lagoon.

oo v

6.5. Nasalisation

If a syllable has a nasal coda, the vowel forming the peak is nasalized, e.g. dim [diIm],
pen [pén], or hang [h&p]. This is because the velum makes an anticipatory gesture well
before the oral articulation of the nasal consonant starts. The degree of nasalization of the
vowel varies. It can be nasalized entirely, but it can also be nasalized only in its second half.
We should remember that the symbol for nasalization in English means some significant
presence of nasalization, but it does not say, whether it is 90% or 70% of the vowel that is
nasalized. We can find similar coarticulatory mechanism in Czech, too, but to a much smaller
degree. Nasalized vowels do not play any phonological role in our languages. That is why
both Czech and English speakers do not hear the presence of the nasal resonance in them and
learn to hear it only after some ear training. Nasal consonants usually influence the vowel
which follows to a much smaller extent. Thus /e/ in ten will be nasalized: [ tén], while the
one in net will not: [ net ]. The only exception is some idiolects of individual speakers.

When we transcribe nasalized diphthongs, we usually place the nasalization mark over
the second element in the diphthong symbols, because we want to indicate that nasalization
spreads from the nasal consonant leftwards. This is different from pre-fortis shortening of
diphthongs where the diacritics are placed over the first element of the diphthong symbol,
which we believe marks the vocalic core of the diphthong.

Exercise 6.7. Transcribe the following expressions and mark the nasalized vowels.

1. warm spring 5. when, if not now 9. number nine might win

2. main problem 6. atown made of stone 10. the song about Penny Lane

3. Benjamin's plan 7. does not mean anything  11. dance with Linda's husband
4. unjustified claim 8. drank genuine champagne 12. blame the prince, not the king

6.6. Stop Releases

During the articulation of English plosives, a complete closure of the vocal tract is
created in the labial, alveolar, or velar region for a short period of time. This closure is
subsequently released, which generates a short burst of noise, called plosion. Interestingly,
plosives can often be recognized without their typical burst of noise. Oral release of the air
behind the closure, which is a part of the canonical form of a plosive segment, can be absent.
The silence of the closure and spectral characteristics of sonorants before or after the given
plosive are usually sufficient clues for a listener to identify the target sound, especially when
the so called no audible release, which is marked [ " ], happens at predictable places in the
chain of segments, i.e. at the end of an utterance or between two subsequent plosives.

If we exclaim Don't stop!, the final /p/ can be realized as a hold without a release:
[ 'deunt 'stop” ], and people will still understand. If we say Don't look back, /k/ of look
has to be released so that we can go on articulating the rest of the sentence. The release (and
the plosion) of /k/ can, however, be inaudible, because it can happen when the closure for
/b/ has already been created: [ 'deuntluk™ 'bak].
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Inexperienced transcribers sometimes believe that there is no plosive if there is no
plosion. No audible release should not be mistaken for a complete elision of a sound. It is
important to listen to the length of the closure and the characteristics of the neighbouring
sonorants. In Look quickly! pronounced as [ ' luk™ 'kwiklz] the silence between the end
of /u/ and the release of the second /k/ is almost twice as long as it would be in a
hypothetical [ '1u 'kwzklz] or [ 'luk'wzklz].

There are more examples in Section 5.3. where we studied assimilated alveolar plosives.
We transcribed but computerization as /bekkem ,pju:terar'zexf{n/, but it is hard to
imagine a speaker who on the one hand assimilates /t/ to /k/to save time and energy, but
on the other hand releases both resulting segments. It would be much more realistic to expect
[bek’kem pju:terar'zexf{n]. Similarly /drdnk 'kr®f§/ will be pronounced as
[dzdnk™ 'kref], etc.

Canonical oral release can be altered in yet another way. If a plosive is followed by a
nasal or lateral sound, the air which is trapped behind the closure can escape through the nose
or by the sides of the tongue. In not negative we can often hear the first /t/ without its
typical plosion because when it is released, velum for /n/ is already lowered and the air
escapes through the nose. This is transcribed as [ 'npt™ 'negetzv]. Similarly in Aot line,
/t/ does not have its typical plosion because the tip of the tongue is not released between
/t/ and /1/ and the air escapes by the sides of the tongue. This is transcribed as
[ 'hot!'lazn].

Inaudible, nasal, and lateral releases are optional allophonic variations found mainly in
less formal speech styles. A careful speaker in a formal situation avoids them. Transcribers
can predict their occurence, but have to verify their presence by careful listening.

Exercise 6.8. Transcribe the following phrases and predict possible inaudible, nasal and
lateral releases of plosives.

1. spit near his foot 11. eat dumplings and lick pepper

2. stab below her heart 12. ablind lion taking cod-liver oil

3. smack toothless gums 13. secretly indicated ten hidden items

4. stop by those red lights - 14. forgot to lock nearly half the cages

5. commit dreadful crimes 15. quickly identified dangerous drivers

6. retired naval officer 16. a diplomat portrayed as a shrewd spy

7. liked left-wing parties 17. greeted neighbours and local residents

8. scratch his round nose 18. wanted to cut trees and plant new ones

9. sit down and wait quietly 19. block gears and disconnect the fuel supply
10. be used to separate toilets 20. the deck newly painted by our kind teacher

6.7. Dental alveolars, fronted velars

The canonical place of articulation can shift under the influence of the neighbouring
segments. This can change the resulting sound of an affected segment. Alveolar stops before
dental fricatives can become dental, but they do not change into different phonemes. The
symbol [ _ ] is used to mark the dental place of articulation.

Examples: a) in that case [In 06zt 'kers]
b) got that place [ 'gpt 'Ozt 'plexs]
c) painted that face [ 'perintid’dezt'fers]
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Notice that the stops are unreleased. It would be quite illogical to save articulatory
energy by assimilating the place of articulation and then waste it by releasing the assimilated
stop. The shift to the teeth happens to other alveolar segments (/s/—>[s], /z/—>[z], and
/1/—[1]) as well, but it does not have as profound an influence on their sound as it has on
stops.

Exercise 6.9. Transcribe the following expressions and mark alveolars pronounced in the
dental region of articulation.

1. unthinkable event 5. in three minutes 9. hated those songs
2. fill their pockets 6. bring that thing 10. run down the road
3. hold them tight 7. nobody in there 11. is there any reason
4. hit the ground 8. moderate thieves 12. come this Thursday

When a velar plosive is followed by /i:/ or /j/, (to a lesser extent also by /1/ or
/T9/) it becomes fronted, i.e. its place of articulation moves forward, to the palate. This is
indicated by a little plus mark underneath the symbol of a fronted segment.

Examples:

a) keen [kKi:n] Dracula [drakjsls ] kiss [kis]

b) geese [gi:s] regular [regjele] guitar  [gI'ta:]
Exercise 6.10. Transcribe the following expressions and mark the fronted velars.

1. unfounded speculation 4. ridiculous behaviour 7. noisy gearbox

2. tidy housekeeper 5. black and white bikini 8. difficult to cure

3. analyse Portuguese 6. molecular chemistry 9. two kilos of gold

6.8. Rich allophonic transcription

Allophonic transcription is usually selective. The transcriber follows certain objectives
and captures allophonic details related to those objectives. Transcription with a wide variety
of allophones is seen quite exceptionally. It is difficult to write and difficult to read. On the
other hand, it gives a detailed picture of a particular language and sums up our knowledge of
the overall sound of that particular language.

Exercise 6.11. Read out the following sentence. Name all the allophonic details one by one
and explain their causes.

'#@nbiesed” 'bitelx | fIwds tPared |
8f 'plexip'sékénd ' fidlite 'dz"u:d:

Exercise 6.12. Transcribe the following sentences and try to include as many allophonic
details typical for English as possible.

The local rock band yelled like crazy drunks.

Cheap laser effects were projected on the rag behind the stage.

Bill admitted doubts about Luke's competence.

He should scale down the plans of long-haul flights in his ultralight plane.
Heavy rain keeps falling on the track carefully hidden among bushes.

Pigs b=
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7. Answer Key

Section 1 - Introduction

Exercise 1.1. It is actually not very important whether you can identify the models of
individual symbols. The real purpose of exercise 1.1. is to get you acquainted with the
appearance of the IPA symbols.

Section 2 - Individual Phonemes and Basic Symbols
Exercise 2.1.

1.A, also / '@bselu:tlxz/, 2.A, 3.B,also /fon'tastik/, 4.A, 5.B,also
/wandefsal/ and /wandsful/ 6.B, 7.B, 8.A: Itis important to remember that /o/ as
such cannot be stressed, 9.B, 10.A, 11.A, 12.B.

Exercise 2.2.

1.B: Non-phonemic i cannot be used in this position 2.B: The correct symbol looks like
number 3, but it is not as high. 3.A: Non-phonemic u cannot be used in this position. 4.B

5.A: The correct "schwa" symbol is Roman 'e' rotated upside down. 6.B, 7.A, 8.B, 9.B,
10.B: The symbol /s : /is no longer used in modern English phonemic transcription.

Exercise 2.3.
1. /mexd e klgs mr'sterk/ P (—19)

The influence of spelhng could explain wh

e students overlook this error.

2. /gelekst ko:1ld 8o mrlkr wej/ G (—e1)

3. nlr trevels/ G (—98v)

4. correct

5. P (—av)

6. G (—19)

% G (—e1)

8. correct

9. G (—=9o1)

10. arnb plenrt/ G (—a1)

11. ov 8o brart asteroxd/ correct (For /r/in /f1er/ see 5.2.2.)

12. ; P (—eo)

13. BiL P (—eo)

This is a common Czech misunderstanding. No RP speaker pronounces their with /ex/.

14. G (—av)

15. G (—92o1)
Exercise 2.4.
thick and heavy /0/ jam and butter /d3/ king and queen /1/
long and sharp /1y, §/ fish and chips /§, t§/ comfort and pleasure / 3/
now and then /8/ gin and tonic/d3/ kitchen and bathroom /t§, 6/
here and there /8/ catch and throw /t§, 6/ myths and illusions /6, 3/
lips and tongue /1/ wash and dry / §/ giraffes and antelopes /d3/
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Exercise 2.5.

/sadn pre'meufn/ , /hrdn 1'kwipment/
/im'po:tnt pi:pl/ /stret§t masl/
/strikt 1n'spekts/ /fervrit si:zn/
/lexzr o'sistent/*) /kotn pulsuva/ *¥*)
/nju: tek'nzfn/ /leds glavz/
/klamzz m1'kenik/ /lextist faefn/

/t§1efl endze'nIa/***) /horebl hazt/

*)  assistant could be also pronounced /o 'sIstnt/, but we have to remember that there

cannot be schwa and a syllabic consonant at the same time

**)  The second syllable in pullover could receive a weak secondary stress. Primary stress is
on the first syllable, however.

**%) We could also mark the secondary stress on the first syllable of engineer, but this is not
necessary as there is no real danger of pronouncing it weaker than the second syllable.

Notice that in the noun phrases above, the second element always receives a stronger stress
than the first one. This rhythmical hierarchy is governed by the Phrasal Prominence Rule.
Modern phonology does not find it useful to call the weaker stress on the first element of a
noun phrase a secondary stress. Rather, we speak of accents, which are realizations of the
stress potentials of words. We usually talk of secondary stresses only inside ideal lexico-
logical units. A noun phrase is a syntactic unit. Exceptionally, various authors might perhaps
ignore phonological conventions for didactic reasons in language learning, but the merit of
this is questionable.

Exercise 2.6.
1.bepk 2.pa:k 3.ka:sl 4.pelis 5.larbrerz 6. andsgraund
7.bas stop 8.nart klab 9.taun ho:1l 10.pablik ga:danz
11.ka: fekterx 12.trefik larts
Exercise 2.7.
l.bent§ 2. brzdz 3.t§3:t§ 4.gext 5.01ete 6.reud 7.pervment
8.swi:tf§pp 9.heedress 10.pe'li:s stexfn 11.hou'tel (The second
syllable is stressed, so it cannot contain the monophthong /o/. Many Czech beginners,
however, pronounce the word hotel with exactly this error.) 12. ed'vs:tIsment
(Americans may pronounce this word / ,@&dvr'tarzment/.)
Exercise 2.8.
1.ko:ne 2.statfu: 3.monjument 4.but§ez 5.espo:t 6.krpsip
7.noxzr stri:t 8.peust nfis 9.sardwo:k 10.su:psma:krt
11. t§ek point 12. resterpnt (Dictionaries suggest eleven (!) acceptable
possibilities of how to pronounce this word. We have chosen the most common one.)

Exercise 2.9.
1./3:/ 2./&/ 3./1/ 4./v/ 5./A/ 6./2:/
7./a:/ 8./ex/ 9./u:/ 10./8/ 11./u/ 12./au/
Exercise 2.10. ‘
1./o1/ 2./u:/ 3./1/ 4./ou/ The 5th phoneme in this word is the same whether
we pronounce it /pI '@neu/ or /pjenau/. Both are acceptable standard forms. 5. /0:/
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Exercise 2.11.
saddle /seedl/, frame /frerm/, handlebars /hendlba:z/, brake / brezk/, valve

/velv/, pedal /pedl/, chain /t§e1n/, tyre /taza/, wheel /wi:l/, rear light
/rro lazt/

Section 3 - solated Words

Exercise 3.1.

Bob G774 Helen C2— Mary B3| (also /mearz/)
Bill Fl— Jack Gl— Michael A7 |

Charles A4 | Jenny Gl | Robin H6—

Chris El— Jim D5 Rod H6 |

David J6— Joe D5— Sam D8 —

Donald J2— Kate C7— Stanley B9 |

Harry C2) Martha B3— Susan E4 | (also /sju:zen/)
Heather 22— Martin D10 | Sydney E4—

Exercise 3.2.

2) orange — yellow and red; 3) grey — black and white; 4) violet — blue and red;

5) green — yellow and blue; 6) navy blue — black and blue; 7) beige — brown and white;
8) pink — red and white; 9) khaki — yellow and black; 10) maroon — dark brown and red

Exercise 3.3.

1. six, table, ball, desk 3. phone, fly, five, apple 5. anger, stop, how, happy
2. dinner, rich, star, cake 4. thing, Earth, three, play 6. this, that, these, those
Exercise 3.4.
bfj%édmInten SanélIIJ d31m§§n&st 1Iks boks1ip
d3D§I1:] a@' letzks terbl tenIs*x) tfes
dzu:dsu ke'ra:tx skwp§
aléhnkx belgbo : i*) winds3z: fIp#x) skiiip

+) Transfer of voicing across word boundaries is a typical Czech mistake. Even though this
type of assimilation is very common in the Czech language (we say, e.g. Pes byl sim

/pez bil sa:m/), it does not occur in English. /b/ in ball is not fully voiced itself so
it cannot spread the voicing to the preceding /s/ (cf. Section 5.3.).

*+) Windsurfing, table tennis, and horse racing behave as true compounds, which means that
their primary stress falls on the first syllable.

Exercise 3.5.
dzImnest dzpkI ski:e tfes plexs sazklist
bokse winds3a:fe ®0li:t dzpge
Exercise 3.6. Group 1: Group 2:
denma:k 1zrersl dzo'paen tx'bet
swi:dn i:dzIpt bre'zrl pa:ki'sta:n
no:wer tjuinzs nr'po:l ziIm'ba:bwz
po:tfugl pstrie pe'ru: vi:et 'nam (or vjet ' nam)
beldzem keneds su: 'da:n r'rain (or T ' ren)

(or su'da:n)
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Exercise 3.7.
dz®pe 'ni:z bre'zrlisn beldzen
vjetne'mi:z 1'd3Ipin I'rernisn
po:tfe'gi:z ke 'nexdien Iz 'rexlz
no: 'wi:dzen pe'ru:vien swi:dz§

Exercise 3.8.
run — Ron — rain — ran — ram — room — roam — home — hole — hill — hall — ball —
bull — bell — Ben — bean (been) — burn — barn

Exercise 3.9.
/mander/or /mandx/ /menju:/ /mIntt/butalso /mar'nju:t/adi..
/mant/ /meen/ /maInss/ meaning very small
/me 'nIpjulert/ /milkmen/ /minisk3:t/
/men1 pi:pl/ /mi:nIn/ /mauntIn/
/ menad3za/ /mengau/ /mu:nlazt/
Exercise 3.10.
spelling: strong form: spelling: strong form: spelling: strong form:
1) Ive /azv/ 6) them /dem/ 11) oneis /wan 1z/
2) some /sam/ 7) the /8ix/ 12) as /&z/
3) and /e&nd/ 8) are Jazl 13) you /ju:z/
4) for oz 9) theyare /der a:/ 14) to /tu:/
5) at J&t/ 10) but /bat/ 15) we Jwiz/

Exercise 3.11.

Mechanics

I'm not sure how quickly I can learn to use this machine. It looks a bit complicated. How
did you say I should plug it in? Oh dear. That was a strange sound. Do you think it's broken? I
got a letter from the company the other day and they said they would definitely come and
repair what was necessary. There were some screwdrivers and hammers under my desk. My
father-in-law brought them and I told him to put them there. Could you hold the light for me?
No, you must hold the top of it. Take your time, I can wait.

Structural words:
I'm - /em/,Ican - /akan/(In this exercise, we transcribe the weak forms without spaces
between words in order to make their transcription more realistic. We will extend this practice
later in Section 5.), to-/te/,a-/e/,you-/ja/,Ishould /A§ed/, wasa- /weza/,do
you- /deje/,a-/a/, fromthe - /fremds/, and - /on/, would - /wad/(We can also
expect to hear this word in contraction: they'd — /8e1d/), and - /end/(/d/ of and is
sometimes more reluctant to disappear before a vowel or an approximant, but nobody really
says /rokendreul/.), was - /wez/, there were some - /3awasem/, and - /en/, my -
/ma/, them - /8em/, and - /end/, him - /Im/,to - /ta/;
them - /8am/, could you - /ked ja/, for - /fo/, you must - / jemas/, of - /ov/(In
addition to its weak form, the word of is interesting for yet another reason. Its letter 'f'
represents /v /. This /v/ sometimes changes into / f/- usually as a result of regressive

assimilation of voicing.), your - /ja/, I can - /akan/.

79



IPA-Based Transcription for Czech Students of English

Exercise 3.12.

1. could — weak /koed/, you—weak /jo/, do—strong /du:/ because it is a full verb
here, not an auxiliary, that — strong /&t / because it is demonstrative here, not relative.

2. your —weak / jo/, for — weak /fe/,

3. do-—weak /da/, you — weak / jo/, to — weak /ta/, her — weak /o/ because pronouns

like him, her, us, and them (and recently even he and she) are not felt as syntactically

stranded when they occur at the end of a sentence.

can —weak /kan/, at —weak /ot/

but — weak /bat/, you—weak / jo/, can — weak /ken/, her — weak /he/

him — weak /1m/ or /em/, to — weak /ta/, some — weak /sem/

there — weak /da/, was — weak /woz/, a—weak /a/, there — strong /dea/ because,

unlike the initial one, this one is demonstrative

8. don't — strong /deunt/ because if there is a contraction with not, the verb stays strong,
you — weak / jo/, must — strong /mast/ because there is a contrastive emphasis against
should, but — weak /bat/, you /jo/, should — strong /§ud/ contrastive emphasis to
must.

9. are — weak /o/, you — weak /jo/, at — strong /&t / because it is syntactically stranded
in a sentence-final position

10. he — weak /hI/, but strong form could be used in emotional style, as — weak /8z/

A gl s

Exercise 3.13.

Groupl(e o o .) Group 2 (e o @ ) GroupS(. L) .)
ken je dzes 'wert e jo '@®pgrr* 'rzpglend en 'werlz
dor o sem 'kleudz ken je 'tel om 'wpot de je 'Oipk
1z 1t @ 'rok In e 'kla:srum*¥) 'stlt bet 'nais
om dzest & 'dwo:f dsz o 'di:men 'gIv em & 'brezk
8o mes br 'geuld fol wr 'a:sk Oem 'pa:pl & 'blzk

*) Grammatical words may be pronounced more explicitly in either careful, slow speech, or
under a special emphasis.

++) 'kla:srum is also pronounced as 'kla:sru:m. This does not affect the stress pattern.
Exercise 3.14.

Secondary stresses are often disregarded in real speech. This is called two-level analysis.

on frardr et Ori: e ® o o O (alsofrarder: This

is a parallel to strong and weak forms of structural words. The same speaker might say
/arl du: 1t pn frazder/and /arl kam on fraidr mo:nip/)

frem ha:f pa:st ert . ® 0 ©
In 3o lert a:fte'nu:n e o ® , . O
ken geu a:fte mrdnart o Wil i B

(The first syllable in after is strong, but not stressed in this particular environment.)
tju:zderz on 03:zderz o . . 0,

Tt woz o laviI witk'end o o o @ o« o @
bete Jon sxtedr lant§ ® . . 0, . O
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Exercise 3.15.

Text: 1. Actions speak louder than words. 4. Don't put all your eggs in one basket.

2. Where there is a will there is a way. 5. Aneye for an eye and a tooth for a tooth.
3. Rome was not built in one day. 6. It takes two to make a quarrel.
7. She thinks that all that glitters is gold.

Transcription:

1. /@&kfenz spi:k laude 8en w3:dz/

2. /wes Joze wil | Oeze wer/

3. /reum wez npt brlt In wan dex/

4. /deunt put o:1 jer egz In wan ba:skrit/

5. /en ar fer en ar | end o tu:0 fer s tu:b/
6. /1t texks tu: | te mexk a kworsl/

7. /§1 O1pks | Jet o:1 8ot glitez | 1z geuld/

Exercise 3.16.

Ask Miss Fox to xerox these documents for me.

Bob was excited and so was his ex-wife Xena.

The taxi-driver said he expected the accident. (not axident)
They were too exhausted to listen to his jokes.

Xavier is extremely extravagant.

Exerclse 3.17.
/s & ks ti:n/

/Ig zae z; tlz/

/1ks' tXeInds a/

/pEer & doks/

/stks'ti:n/ The first vowelis lax /T/.
/1g'zektlr/ [c] is anIPA symbol for Czech [£].
/ ,eksI'brfn/ The second syllable is not stressed, hence /Kks/.
/1ks 't §exnd3/ The final 'e' of exchange is silent.
/peredoks/  The typical pattern of words with the old
Greek prefix 'para-'is /pere/ or /ps 'ra/.
— /1g'zistens/ The second syllable is stressed.

bybbd

Exercise 3.18.
tekstbuk 1g'zptik zaxlefaun
eksre1z (oreks'rerz) 1g'zedzerert zen ' 01pT
hek 's@genl ®lig'za:ndre zi:ne' feubje (or zens.)
ekselant 1g,zamI nerfn zi:non
Exercise 3.19.
1. trazr te farnd sem taim | te lisn te d1s ri'laksip mju:zik
2. tel 3o tru:0 | end deunt mezk silr rk'skju:srz nekst taim
The word excuse is pronounced /1K 'skju:s/as a noun, but /1k 'skju:z/as a verb.
3. am o'frexd | ar ka:nt sk'sept jer 1ks'klu:siv pfe
4. sam pi:pl lrv 1n lak§err | a8ez liv In &p'zazst:
Anxiety can also be pronounced /&ng ' zazet1/. The adjective is anxious /&pk§es/.
5. 1t 1z o'proksimetlr siks Oauznd marlz frem hre
6. Oder o ra:ds keeles | o'baut Oes tpksik me'trerielz

Careless is pronounced /keal1s/ by conservative speakers.
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Exercise 3.20.
1. sqeeze a bloodthirsty mosquito /skwi:z o bladf3:stz me'ski:teu/

2. catch a quick-witted squirrel ~ /k®tf o kwikwrtxd skwirel/ Inisolation or at

the end of a syntactic unit, quick-witted is stressed on its second part /kwik 'wrtzd/.
Find explanation of this behaviour in your textbook of phonetic.

3. quite inadequate equipment /kwart In'adikwet I'kwipment/

4. acquire some unique liquor /o 'kware sem ju: 'ni:k lrka/

5. quarrelsome string quartet /kwoprelsem strry kwo: ' 'tet/

6. long sequence of quotations /1oy si:kwens of kweu'tex§nz/(/v/inof

can lose its lenis character, and become / £/ if followed by a fortis sound.)
7. quiet and friendly quadruped =~ /kwazet en frendlr kwodruped/
8. qualify into an earthquake squad /kwolifax 1ntu en 3:0kwerk skwod/
Exercise 3.21.
You can be extremely inquisitive =~ /In'kwizetiv/ (See 3.4.5. 0n /n/ before /k/.)
You can act at somebody's request. /rI'kwest/

You can take part in a quiz. /kwiz/

You can ask a direct question. /kwest§on/ (also /daz 'rekt kwestf{on/)

You can make a polite inquiry. /In'kwarerz/

Exerclse 3.22.
/kju:/ One of the few exceptions where ' qu ' is not /kw/.
/lxkwrd/ The first vowel is lax /x1/.

/I'kwezte/  The stress falls on the second syllable.
/en'ti:k/ Word-final '-que' gives /Kk/.
/bus 'ty k /  The first vowel is close back rounded /u: /.

Vol

!

Exercise 3.23.

1. a glass of sparkling champagne 8@ gla:s v spa:klip §em' pein
2. chocolate cake with whipped cream t§pklet kerk | wid wipt kri:m
3. cholesterol in your blood ke 'lesterpl 1n je blad
4. old and smelly cottage cheese ould end smelr kptrdz tfi:z
5. watermelons, peaches and cherries wo:temelenz | pi:tfzz | en tferiz
6. anew imaginative chef @ nju: | 1'medzinetiv fef
7. deep frozen French fries . di:p freuzen frent{ fraiz
8. chicken soup with noodles t§zkn su:p wid nu:dlz
Exercise 3.24.
t§Tmpen 'zi: krismes (without /t/) §euvinizm
t Sempian kolere . me'§i:n
tfenl o'krli:z fende'l1e
bzt {ale stamekezk fzvelrz
t§i:f kerzkte §T'ka:geu
only exceptionally /tf/
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Exercise 3.25.
1. Chameleon /ke ‘mi: 1 jan/- can change colours of its body

2. Ostrich /pstr1t§/- can run very fast but cannot fly
3. Chords /ko :dz/- combinations of tones that sound together (/v/ in of can lose its
voicing and its lenis character, and become / f/ if followed by a fortis sound.)

4. Orchestra /o :kestra/-a large group of musicians who play together

5. Chemotherapy / , ki :meu'Berspz/- can help people with serious diseases

6. Monarchy /mpnak1/- an outdated system of government

7. Chalet / §&elex/- a large wooden house in the mountains

8. Chorus /ko:ras/- sung several times during a song

9. Hypochondriac /hazpeu ' kondrzzk/- constantly thinks he is or will be ill

10. Orchid /o :kxd/- a plant with unusual flowers

11. Watch /wot § /- a small instrument which shows the time

12. Echo /ekau/- can repeat your words

Exercise 3.26.

Professor Proctor's prognosis proved right.
Quick promotion in your profession is highly probable.
Any kind of pro-American propaganda was prohibited. (also /preu '‘hibrtzd/)
/v/ in of can lose its voicing and its lenis character if followed by a fortis sound.
Similarly, was could be heard as /wes/ in this sentence.

High proportion of their products is not properly tested.
The princess was proud of her peculiar pronunciation.
The Prime Minister proposed prompt privatization.
The ban on prostitution provoked bitter protests.
Note: Some of these sentences would most likely be uttered in a careful formal style. For
this reason, words your and their are transcribed in their strong form.

Exercise 3.27.

preauvfarl problem (not au!) pra'tekfn

praugram profrtebl pra'vard

prauti:n provins pre'fefonl

prasunaun protastent pra 'kopfjef
Exercise 3.28.

fo: kaznz prauvd aut'sardez e'raund 8e haus

lavd kaplz pri:vies trabl kaunt kantriz

po: ba:ben jo raund mauf su:ve'niez fe tuerists

dabl no:t tat§ 0o graund saund av o fauntzn
Exercise 3.29.
la:fzp lorel po:z In 08 soO:ns lo:deterz a'plo:z
p'strerljen fo:ne dokte fausts fo:lt &e ko:z ov dzo:ndrs
no:tr do:te ho:ntid me'rifes kpliflauve end sauekraut
ko:§es darneso: spsid3 wid so:sS to:t e'baut saudre'rerbje
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Exercise 3.30.

njue'roled3zrx) su:denim (orsju:) jueraeps) zju:s
njue'reusiss) ,su:deu'sarens ju:insk p3:sju:s
njus ' rotIks) ,su:deu'ti:tfe juirke'liptes Oi:sju:s
nju:treal ,su:ideuinte'lektfusl ju:femrzem prou'mi:0ju:s

*) /ua/before /r/ sounds very much like plain /u/ in modern English. The second
element of the diphthong is extremely weak in this position. It is actually mere transient
from /u/ to /r/ and its status in phonemic transcription is rather questionable.

Exercise 3.31.

The text contains 30 instances of the digraphs 'ou !, 'au’ or 'eu’. Notice how they manifest in spoken language.

Aunt Paula is a tough lady. Her zodiac sign is Taurus. Yesterday she was in a state of
euphoria. 'Eureka! ' she shouted because she caught a mouse with her bare hands. She
works in the pharmaceutic industry and would like to push the boundaries of knowledge. She
dreams of the cure for rheumatism, leukemia, and pneumonia. As a girl she wanted to be an
astronaut, and she climbed Mount Everest when she was fourteen. In autumn of the same
year she made a journey to Mauritania. Her favourite weapon was a semiantomatic rifle and
she brought a lot of diamonds back home. She can swim twenty nautical miles in rough
weather without stopping. One nautical mile is 1852 metres (thousand).

Exercise 3.32.

Group1 /i:/ Group2 /e/ Group 3 /3:/ Group 4 /10/
In'kri:s plezs p3:1 biad
di:n swete 3:1z . ar'drel
kri:m brest s3:t§ rrel
si:zn meza ha:d nrslzx

Exercise 3.33.

Some words have more than one antonym. We suggest the following solution:

fear — courage /karzdz/ heavy — light /lazt/

wealth — poverty /povetz/ dead — alive /o'lazv/

peace  — war /wo:/ near — far /fa:/

health — disease /d1I'zi:z/ weak — strong /strop/

earn — lose /lu:z/ neat — untidy /an'tazdz/

Exercise 3.34.

1. /h1zz @&ntx'nju:klzis gre wez dredfl/ Occasionally, we can hear
the prefix anti- pronounced as /@ntaz/, which is also accepted as standard.

2. /a:fte 8o dr'fi:t | 8o li:de hed e brerkdaun/

3. /je §ed li:v &8s dzeles fri:k/

4. /ou jes | am redr te swea/

5. /war dez reigen | wee dsuz sni:kez/

Exercise 3.35.
One of the possible solutions is: 1. island silent s 7. half silent /
2. cousin silent i - 8.love silent e
3. talk silent / 9. ballet silent ¢
4. home silent e 10. whistle  silent # (and ¢)
S.autumn = silent n 11. bottle silent e
6. castle silent £ (and ¢) 12. heart silent r
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Exercise 3.36.
1.C, 2B, 3.C, 4C, 5B, 6.A, 7.A, 8.B.

Exercise 3.37.
1. /l@m//keum//bom/ - silent 'b". (Also notice /keumin/, /keumd/ etc., and
/bomzn/,but bom'ba:dment)
2. /®@la/ (or /o'la:/) /hens/ /hali'lu:je/ -silent'h'. (Hannah and hallelujah
are sometimes written without the silent 'h'.)
3./fo:kne/ /heumz/ /lipken/ -silentT.
4. /nplxdz/ /naxf/ /ni:/ -silent k' (Czech learners seldom err in these words.)
5. /pfn/ (sometimes also /often/) /bu'kex/ /krismes/ -silent't'
6. /ron/ /razt/ /a:nse/ -silent 'w' (Cz. learners often say /a:nswa/ incorrectly.)
7./det/ /daut/ /satl/ -silent'd'.
8. /ha 'ra:/ (Hurray seems to be more common nowadays.) /onist//grezem/-sil. h'.
Exercise 3.38.
possible, position, poster, parasite, pursuit, diplomatic, dreadful, dynamite, decimal, desert.
Exercise 3.39.
apartment, necessity, dangerous, dinosaur, asylum, bonus, Harvard,
famous, Icarus, basement, calamity, devastation, semolina, luxurious,
chorus, banana, disagreement, gravity, Barcclona, opportunity
Exercise 3.40.
1) word-final '~us’ /@s/ as in bonus /baunas/, Icarus /Tkeres/, and chorus /ko:res/
2) suffix —ous’ /es/ as in dangerous /dexInd3zeres/, famous /feImes/, and luxurious
/1ag'3zueries/
3) word-final ~ity’ /et 1/ as in necessity /na ' seset1/, calamity /ke ' lemotz/, and
gravity /gravet/(even though conservative pronunciation preserves /It1/)
4) unstressed suffix '—ment' /mont/ as in apartment /o' pa:tment/, basement
/bersment/, and disagreement /d1se'gri:ment/

Exercise 3.41.
Group 1: sek'ses so'po:t se'stern se'dzest se'plazx
Group 2: same sabsikwent safe sadnlz sabtartl
Group 3: fuge su:pesta: su'pIerie s3:dzen su:iz
Exercise 3.42.

1. Superman was suprised when they surrounded him.
/su:pemen wez se 'prarzd | wen 8er se'raundid Im/
2. The sultan was the supreme ruler of the society. /se 'sazet1/,or /se'sa.etx/
/8o salten | wez 8o su'pri:m ru:le ev 8o se'sareti/
3. Susan would rather commit suicide than surrender.
/su:zn wed ra:ds ke'mrt su:isard | den se'rendes/
4. Isuppose there is a sufficient number of suitable strategies.
/a1 se'peuz | deze se'frfnt nambe of su:tebl stratedzrz/
5. The surviving soldiers became suspicious.
/8a se'varvip seuldzez bi'keim so'sprfes/
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Exercise 3.43.
Remember that word final /a/ can easily create the illusion of /A/. If you want to sound
natural, try to avoid too much loudness and openness in your word final schwas.

1. selzp bier in beldzem 7. warldlaif pa:ks 1n kenje
2. 8s west ov ru'mernie 8. samweer 1In pstris

3. hpledex In ,gwa:te'ma:le 9. srtfu'exfn 1In s3:bis

4. rexinforists 1n bre'zrl 10. ® jrer In p'strerlis

5. stadrrp biznis 1n dzs'pezn 11. de keprtl ov ps'ru:

6. d3z3:men1 snd Its nerbez 12. trevelipg te tfainse

Be careful with Guinea /gInx/. Also, notice that Kenya is transcribed as /kenja/ while
for example Australia as /0 'strexlise/. /j/ in Kenya means that /nje/ is always
pronounced as one syllable. /1i/ in Australia suggests that / lle/ can be pronounced as two
syllables. Transcriptions like /p'strez zi
all count, but they are based on slightly different presumptions.

Exercise 3.44.
1. ken'dakts ken 'salt ken't§s:teu kontresband
2 < ot fduy o 'kauntent &kfen o'ku:stzk
3. kem'pes kpmpremazz ke 'mju:nrkert kem'pju:te
4. ken'trsul konrad konve 'serfn konfersns
5. o'hed &gent @'gri: 8 'geu
6. komrt koment kem'pi:t komplIment

In connection with some of the words here, we would like to attract your attention to the fact
that there are pairs like concrete as an adjective (Sesky konkrétni) pronounced /kppkri:t/,

and concrete as a verb (ztuhnout) pronounced /kop 'kri:t/. Similarly, in derivations we

can find compete /kom ' pi :t/ versus competition /komps 't 1§ n/. Notice the role of
schwa in these pairs. More about this in Section 4.3.

Exercise 3.45.
There are 20 vowels in RP English. However, the system of vowels is very changeable
throughout the English speaking world. You may try to carry out a little experiment, which is
based on a game sometimes played by Czech children. They take a song, for example Holka
modrooka, neseddvej u potoka' and replace all the vowels in it with just one vowel. The result
can be Hilki midriiki nisidivij i pitiki' or 'Hulku mudruuku nusuduvuj u putuku'.
In your experiment, take about ten natural English sentences and replace all the vowels in
them with schwa. Present your sentence to another person (your informant) and see how
much he or she can understand. An important variable in your experiment is the rhythm. If
you destroy the rhythm by replacing the original vowels with real short and dynamically weak
schwa, the comprehension rate might be quite low. If, on the other hand, you replace the
original vowels with a schwa-like sound preserving the rhythm, your informants will
understand quite well.
Note: People want to learn to pronounce good English vowels, although, as you can see, any
vowel might help to communicate in English. Such communication is, nevertheless, a
bit difficult and only strong context helps to recover the meaning. Sentences like 'Did
you say boats or boots?' /ded je se bets o bets/ are not suitable for the
above mentioned experiment.
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Exercise 3.46.

—/s3:f1s/
—/bjuerskrat/

Answer Key

—/heunmws :k/
—/s3:nexm/

—/s3:ver/ —/sab3:b/
—/s3:kemstens/ —/ha:bl/
—/b3:mrpnem/ —>/b3:glsa/
—/eb'z3:vetrz/ —>/n3:s/
—/se'txf1kst/

—>/2'ka:/
/ts:me'nnl§d31/—9/t3:me'nnleng/ : '
Exercise 3.47.

fa:nrtfe pa:pl sks:t 3:1r 1la:n hs:t ws:d w3a:m wo:m
3:0 fa: fa: feo s3:kl ns:ives ha:t hs:d f3:m a:n
Isrin m3:tfent bs3in dzsimenr dzs:nr ta:n da:tr ba:st

v3:tikl ss:itnlrz si'remrk pr1'fa:
Exercise 3.48.

1.A, 2B, 3.C, 4A, 5A, 6C, 7B, S8A.
Exercise 3.49.

1. This all happened in the wild and ragged West a long time ago.
/81s o:1 hapend 1n 8o warld end ragrd west |e lop tarm o'geu/
2. The bandits showed a very positive attitude to alcohol.
/8o bzndrts §eud e verr pozrtiv atitju:d | te mlkehpl/
3. Old Shatterhand clapped his hands rapidly and collapsed.
/euld fetehend klapt hrz hendz repidlr | end ke'lspst/
4. The enemy planned to attack our transport with platinum.
/081 enam1 plaend tu o'tzk a: trenspo:t wif pletrnem/
5. The riders were affraid to camp in the Grand Canyon.
/89 rardez wer o'frerd te kemp In 8o grand kznjen/
6. Their captain claimed that he'd lost his jacket in the battlefield.
/0es kzptin kleimd | det hi:d lpst rz dzzkrt n de betlfi:ld/

Exercise 3.50.
se'vans kaktes pa:mtri: dregenflar peret ke'neer:
bem'bu: pende baskevil dal 'merfn swon &mezen
kem] (Czech children often say / kerml/ incorrectly.) so'ha:re

beterrhenz kapriko:n vsmpars bat

rebrt
®eligerte

sendsto:m

se ' fa:rrpa:k dendrlaren

Exercise 3.51.
1. Mexiko 5. tango 9. hollow 13. follow
2. Idaho 6. swallow 10. borrow 14. arrow
3. buffalo 7. hero 11. elbow 15. bow
4. stereo 8. cargo 12. shallow 16. toe
Exercise 3.52. :
1.  hapeuve 4. hpreskaup 7. ,hipekratik 'suf
2. efrovu 5. dzeuk 8. ,Impre 'sa:risu
3. ,azveri1'keaust 6. moteu 9. auzaun
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Exercise 3.53.
,ri:eudeze 'nisrsu elde'ra:deu li:e'na:dsu
saub de'kaute kweu 'va:dzs frgereu
e'steunje kwa:z1 ' 'meudsu reumisu

Exercise 3.54.
1. My younger sister was drawing monkeys.

/mar jangs siste wez dro:rp magkiz/

2. My uncle is hiding in the jungle.
/maz apkl 1z hardip rn de dzapgl/

3. My favourite singer is touring England.
/max fervret siper 1s tuerip ipglend/ (/xz/ is assimilated to
/1s/ due to the influence of the /t/ of touring. See Section 5.3.)

4. My donkey is eating chunks of bread.
/mar dopkr 1z i:trp t§apks ev bred/

5. My incompetent advisor is sleeping again.
/maIr In'kpmpetent od'varze Is sli:prpy e'gen/ (zy'kompstent
is also possible, but it is typical for informal speech styles. /1z/ is assimilated to
/Ts/ due to the influence of the /s/ of sleeping.)

Exercise 3.55.
tap pepgwin ripklz ,Inkpg 'ni:teu
lanz fipgeprint mApk In'karzdz
hape bipgsu hepketfi:f ken'klu:sIv
spnz frfmapge d3zapk{en In'klouz
Exercise 3.56.
kppggoau There is sometimes 'K' in spelling.
SsInpe 'p o Americans pronounce /g/ in this word.
hoppg 'kopg
hapgpgerrt: Also pronounced as /hangr. /.
bapgpgloas 'de §
mopp geuljoe
®@yp 'geule
Exercise 3.57.

1.0ur thorough research of weather is currently focused on thunderstorms./@andesto:mz/
2.You don't have to be a mathematician for this simple arithmetic. /mefemo 'tz {n/

3.He finished his authentic doctoral thesis only under a threat of sanctions. /081 :s1s/

4.The therapist gathered a lot of worthless evidence for his theory. /w3:61les/

5.She discovered a reliable method of testing the quality of leather. /mefad/

6.The thinker presented some remarkable thoughts on birth and death. /8o0:ts/

7.A disappointed linguist became a successful author of thrillers. /0rzlez/

8.The warmth of your feelings will be measured with a precise thermometer. /6o 'momrte/

Exercise 3.58.
1.teeth /ti:0/, 2. mouth /mau6/, 3. thigh /6azx/, 4. thumb /6am/, 5. throat /O@raut/
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Exercise 3.59.

1. strnn§ smel sv mebanpl — strog smel sv meBenpl

2. la:dz &n§11 nre ds pa:d —- la:dz =nthrl nre 8s pa:6
3. vizrtid bar OrIftr %lVZ — vizitid bar Orxftr Oi:vz
4. 8o tru:0 0 Pauzendz — 0o tru:0 wa:0 Oauzendz

5. pzbs'lpdzrk]l Oarroxd glé"‘nd — pede '1nd3zrk]l Oarrord glend
6. oan i:gl — en i:gl wid'aut fedez

7. 1n sImpzb1 wid a:be - In simpebr wid a:0be

8. sleu ridem ov je brge —  sleu ridem ov jo breb

Exercise 3.60.
1.C  2.A (There is actually a word which is spelled bass and pronounced
/bes/ but it is not a musical bass, it is a fish.) 3.A 4.A 3.C

6.B (/c/ is not an English phoneme.) 7.B 8.C 9.A 10.C 11.B 12.B
Exercise 3.61.

All the words in Ex. 1 were stressed on the first syllable. The words in this

exercise are stressed on other than first syllables. 1.B 2.B 3.C 4.A 5.C

6.A 7.A 8.B (Primary form is with final-syllable stress, but the stress can
easily move forward.) 9.B 10.B 11.A (/c/ is not an English phoneme.) 12.A

Exercise 3.62. - -
l.me'sexdrz 2. kadrlek 3. fevroler 4. @lfersu'mersuy 5.p3:3
pju:zsy 6.fiiet 7.se@'zu:kr 8.reneu 9.vi:'dablju: 10.volveu

Exercise 3.63.
1. Tower of Babel /tausr av berbl/ 2. Jerusalem /d3e 'ru:selem/
3. Uranus /juerenas/or /ju'reinses/ 4. Warsaw /wo:so:/
5. Jericho /dzertkau/ 6. Japan /d3e 'pzn/ 7. Persia /p3:§a/
8. Geneva /d3e 'ni:va/ 9. Chile /t§zlx/ 10. Utah /ju:ta:/
Exercise 3.64.
1. communication /ke mju:nr'kezfn/ 8. collision /ke'lzzn/
2. condition /ken'dzrfn/ 9. conclusion /ken'klu:3n/
3. contradiction /  kontre'drk{n/ 10. confusion /ken'fju:zn/
4. organization / ,o:genar'zerfn/ 11. decision  /dz1'sI3n/
5. reduction /r1'dak§n/ 12. occasion /o 'kerzn/
6. regeneration /rI d3ens'rerfn/ 13.intrusion /In'tru:zn/
7. reservation / reze'verf§n/ 14.revision /rI'vIzn/
Exercise 3.65.

Group 1: situation /sTt§u'exfn/, permission /pe 'mIfn/, competition
/ kompe 'tz {n/, function / fapk{n/, introduction / Intre'dak§n/.
Letter strings '-tion' and "-ssion’ are pronounced / {n/. In connection with this,

we should mention that there is also the group '—xion’, which in American
orthography is spelled '-ction’, e.g. reflexion vs. reflection.

Group 2: television /tels'vizn/,illusion /T'1u:3n/, erosion /1'reu3n/,
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invasion /In' vex3n/. The group -sion’ is pronounced /3n/ if the preceding
letter is vocalic (i.e. 'a', '¢', ', '0', or 'u'). Otherwise, for example version is usually
pronounced /v3: §n/and less often as /v3:3n/. It is because of the influence

of the underlying /r/. For the same reason, excursion is quite often pronouced
/1ks 'k3:§n/ and less often as /Tks 'k3:3n/. Similar effect is caused by
other sonorants, which, unlike /r/, are represented in the surface forms. It is for
example /n/ in comprehension / , kompr 'henf§n/ and /1/in compulsion
/kem'pal§n/. These are never pronounced with /3n/.

Group 3: question /kwest §n/, suggestion /se'dzestn/, digestion
/dar'd3est{n/or /d1'd3zest§n/. "-stion' is pronounced /st fn/.
Group 4: region /ri:d3n/, religion /r1'11d3n/. -gion' pronounced /d3n/.
Exercise 3.66.
Standardization / stazndedar'zerfn/ isnot always (also o:1weIz) oppression
/e'prefn/
Language is a wonderful means of communication /ke mju:nz 'kex§n/. However,

if you take a decision /d1 'sI3n/ to use it, think first of how to say things clearly. Careful
pronunciation /pre nansI'ex{n/ is an expression /Ik'spref§n/ of politeness. (of is
pronounced /&£ /in this position because of the influence of the following voiceless /p/in
politeness). Certain people occasionally /& 'kexznalx/ try to assert themselves by
bastardization / ,ba:stedax'zex§n/ of their speech. This creates unpleasant confusion
/ken' fju:3n/ on the part of the listener (also LTsne ). As a result, the communication
/ke mju:nz'ker§n/ is defective. Unfortunately, the consequent frustration
/frist*rez§ n/ leads to even greater urge on the part of poor speakers (also po:, cf.
2.1.2.) to assert themselves.

We are meant to be different but we shouldn't try to express our (See 5.2. for explanation
of /r/in our.) individuality at the expense of enjoyable interaction /Inte ' raek §n/with
others. A little consideration /ken , stde ' rex {n/of the standard manner (See 5.2. for
explanation of /r/in manner.) of speaking will certainly not make you dull and uniform.
Only the people you meet will be happier to see you.

.

Exercise 3.67.
Notice that the pref1xes behave differently depending on the stress placement
aj tekr@t 0 tnnemI ,o:teubar’ Dgrgfl D7 teuse dzest{n
ju nI_'lae j 1'v3isl ju: nI%fo motzx 'u'nI gel‘]ule
me'n%itenes me nngems:st mnneukAlﬁe me ,nopelar’'zerfn
ba1's k}gfuel baI &njusl baI'lI§gwal bazstklist, but we say
/sazklist/. o

Exercise 3.68.
pksid3zen klo:ri:n ka:ben dar'vksard
hardredzen flo:ri:n or flueri:n  nartrik'aszd
nartredzen aredi:n ,salfjuerzk'aeszd
kaelsiem m3:kjuer: ,trarnartreuv’'tpljui:n
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Exercise 3.69.
There are more possible combinations of the given morphemes (e.g.geometry,
geology and geography), but the solution to this task is as follows:

Group 1 combines with Column D — ppt1ks K esreudar'nzmiks 1i:s'Betrks
Gr. 2 combines with Col. C — lekst 'kogrefr kriste'lpgrefr sufe'npgraf:
Gr. 3 combines with Col. A — fr'lpled3r fo'npoled3r pp'koledizr
Gr. 4 combines with Col. B — o:d1'vmetrr d3I'pmetri ssusrT'bmetrT
Exercise 3.70.
The word scientist can be pronounced /sasnt st/ and still sound acceptable.
astronomer /o ' stroneme/, mathematician / meBoms ' tI §n/, psychologist
/sar’'koled3Ist/, acoustician / ,&ku ' stz §n/, geographer
/d31 'pgrefe/, microbiologist / ,markreubar 'pledzIst/, phonetician
/feune'tzfn/, physicist /f1zIsISt/, economist /T 'konemIst/

Exercise 3.71.

el 'viiels ridz
ha:d pzlst

nerzl kavet:

vi:lem
juivjele
feripks
ep1'glotrs
leripgks
veukl feuldz
glotis
tre'ki:e

I'spfeges

Figure 7.1. Key to the exercise

Exercise 3.72.

labial /1exbisl/, bilabial /bazt'lerbisl/, dental /dent 1/, 1abiolingual / , letbisu ' lipgwal/,

pdaml/paletl/,apmal/&plkl/-bunheﬁpofﬂwtonguemeuwx/eIpeks/,uvuhr

/ju:vjele/- in a non-rhotic accent sounds the same as uvula, laminal / lemrnl/,

pharyngeal / |, feeren'dzi:el/, dorsal /do: sl/,velar /vi:le/,velic /vi:l1k/

Exercise 3.73. 1.C 2B 3.A 4A 5C 6A 7B 8B

Exercise 3.74.
1. f1ad (Actually, it is /f1lud/in the north of England.), 2.blad 3. breut§
4.jot S.berr 6.lu:iz 7.greus 8. hrkap (' This word is also spelt
hiccup, which might disqualify it from the family of exceptional words.) 9. tembe

10. hart (But weightis /wett/.) 11.gexd3 12.moeuv 13.leped 14. lened
(But you may remember from 3.4.4. that Leonardo is /1i:9 'na:dsu/ )
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Exercise 3.75.
1. /lef'tensent/or /1lu: 'tenant/ 2./k3:nl/

3./leste/ 4. /gloste/ 5. /wuste/

4. Phonological Consequences of Morphological Processes

Exercise 4.1.
Final sibilants of these words do not follow the progressive assimilation rules:
Joyce, rice, waitress, goose, case, chaos, class, mouse, address, toss, nose, race,
raise, his, hiss, choice, noise, house, voice, actress.
The sibilants in other words represent plural noun endings, 3rd singular verb
endings or possessive case endings.

Exercise 4.2.
A. wo:lz wpolits wedinz w3:dz weiz

B. werts werz wariz wo:nz wifiz
C. wendiz wiljemz wo:ltez winriz wudiz

Exercise 4.3.

Ik 'spekts letoz intre'dju:srz de gests
diss'prez st wans dro:z fant prktfez
ri:dz mege'zi:nz : andelarnz nju: wa:dz
ket{1z 8o trein klef1z wid evriwan

pa:siz 8e so:1t (sometimes also splt) heups feo bete fju:tfe

Exercise 4.4.

dzorz borfrendz salivenz legz
ritfedz ar'drez =) ma:ks smailz
pi:ts problemz Ingridz dri:mz
mis dod3rz farlz t§aks si:'di:z
ba:brez kleudz . se'ma:nbez sensiz

*) American pronunciation /aI 'di:ez/ is not considered standard in RP.
Exercise 4.5.
1. roume 'nesk t§3:t§xz 2. goOrk windeuz 3. re'nersens skalptfez
(the word Renaissance has many pronunciation alternatives) 4. ba'rpk (also be 'resuk)
peintipz 5. vik'to:irien pmlisiz 6. a:tnu:'veu deke'rerfnz
Exercise 4.6.

Group 1: pult k1kt haupt helpt tatft

Group 2: supnd smarld daxd lzvd puld

Group 3: kauntzd fautzd e'vordid endid wontzd

Exercise 4.7.

1. dra:ftxd 4. 1lestrertzd 7. printad 10. ®dvetarzd
2. avut'larnd 5. taipt aut 8. tfekt 11. pablzf§t
3. pri'pead 6. dr'zarnd 9. edrtzd 12. se'plaxd
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Exercise 4.8.

Practical Joke

As I was walking home yesterday, I was attacked /o' takt/ by dogs. I think it wasn't
just bad luck. I remember my nephew+) Jeremy had mixed /mTkst/ some chemicals the
day before, and he had walked /wo :kt/ around the house with them and at one moment he'd
sprinkled /spripkld/ my trousers with one of them. He remarked /rr'ma:kt/
something about an innocent accident but I'm sure he'd done it on purpose. You see, the dogs
watched /wpt§t/ me calmly until they could smell my trousers. Then they jumped

/d3zampt/ at me and reduced /r1'dju:st/ my pantaloons to shreds. After that, they

stopped /stopt/ and crawled /kro:1d/ away with apologetic looks. When J eremy saw

me coming home half undressed /an'drest/, he escaped /1'skerpt/ through the back

door, so I can't ask him for the recipe for his#+) fantastic potion.

+) The word nephew used to be pronounced /nevju: /, but this pronunciation is dying out.
The great majority of speakers nowadays say /nef ju: /(Wells, 1991).

*+) /h1Z/ changes to /h1s/ under the influence of the following /f/in fantastic.

Exercise 4.9,

1. similar - similarity /s1me ' l&retx/ (Also, notice assimilation of /Tz/ to /IS/ )

2. regular - regularity /regje ' leretz/ 3.reliable - reliability /rx ,laze'brletz/
4. probable - probability /probe 'brlstx/ 5. able - ability /o'brlett/ 6. curious -
curiosity /kjuerz 'psetz/ 7. familiar - familiarity /fo mIlr'®retr/ 8. active -
activity /&k'tIvetr/ 9. clear- clarity /kleretz/ 10. necessary - necessity
/ne'seset1/ 11. optimal - optimality /pptT’ meletxr/ 12. pompous - pomposity

/pom’ ppset1/(Make sure you do not say /pom' poZetz/.)

Exercise 4.10.

1. academy - academic /&ko ' demtk/ 6. period - periodic /prari 'ndrk/

2. science - scientific /saten'trfrk/ 7. theme - thematic /6T 'metTk/

3. analysis - analytic /&ne '11t1k/ 8. synthesis - synthetic /sIn'Oettk/

4. system - systematic+) /sIste 'metTk/ 9. isotop - isotopic/arse ' toprk/

5. economy - economic /1i:ke 'nomrk/ 10. geography - geographic/d3zi:e 'grefik/

*) If you do not want to use stem-forming suffix -az- , you can have systemic /s1s'ti:mrk/, which, like in
Czech, has a different meaning from systematic.

Exercise 4.11.

1. daemon - daemonic /dx 'mopnrk/or /de 'monIk/ 2. angel - angelic /&n 'dzelzk/
(/or/ before angelic is a weak form of her with a linking /r/. See Section 5 .) 3. euphoria -
euphoric /ju' forIk/ 4. energy - energetic /ensa'dzetrk/ (The word incredibly would
be pronounced /17 'kredeblz/ in casual speech. See also part 3.4.5.) 5. irony - ironic
/ax'ronik/ 6. lethargy - lethargic /1o ' 0a:dzIk/ 7. apathy - apathetic

/®pe ' Betzk/ 8.apocalypse - apocalyptic /o poke ' lrptIk/

Exercise 4.12.
1.width /wxd6/, 2.depth /depb/, 3. strength /strep6/, 4.length /lep6/
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Exercise 4.13.

1., @bsen'ti: 2.pex'i: 3. refju'dzi: 4.1 vaekju'i: 5.trer'ni:
6., larsen'si: 7. @mpju'ti: 8.1 sker'pi: 9. di:ter'ni: 10.tra'sti:
Exercise 4.14.

1. obklad - stlagit /kem'pres/ | 5. protest - protestovat /pre ' test/

2. chovini - vést/ken 'dakt/ 6. proces - zpracovat /prouv ' ses/

3. smlouva - smrstit se /ken ' traekt/ 7. zdznam - zaznamenat /I 'ko:d/

4. projekt - promitnout /pre 'dzekt/ 8. podeziely - podezirat /se ' spekt/
Exercise 4.15.

1. opustit - poust’ /dezet / (There is also the noun dessert /dz ' z3:t/with double s,
which means zdkusek.) 2. zahanbit - ostuda /d1s'grexs/ (It is one of those that do not
belong to word-class pairs with stress shift.) 3. doprovodit - doprovod /esko:t/

4. dovolit - povoleni /p3:m1t/ 5. boufit se - povstalec /rebl/ 6. odmitnout - odpad
/ref ju:s/ (Notice also the final consonants in both words. A similar situation is in fo use
/ju:z/ and the use / ju:s/. Read about the consequences for pronunciation in Section
6.2.) 7.litovat - litost /rx'gret/ 8. podrobit - ptedmét /sabdzzkt/

Exercise 4.16.

1.C Canada - Canadian /ke 'nerdjen/ 2.A theatre - theatrical /61 '@trIkl/

3.B hypothesis - hypothetical /haIpe'8et1k]l/ 4.B melody - melodic /me ' 1nd1k/
5.A comedy - comedian /ke 'mi:dien/ (ad 5.C: Even if such a word existed, it would
most probably be stressed on the penultimate syllable - comedician /kome 'd1§n/.)

6.C triumph - triumphant /trar'amfent/ 7.B heretic - heretical /ha'retzkl /
8.A telephone - telephonist /te'lefonist/ 9.C muscle - muscular /maskjule/
10.B terror - terrorist /tererrst/

5. Connected Speech

Exercise 5.1.
Professor Bartholomew is an authority on mechanics, but his lectures are as dry as dust.
With the old gym teacher in prison, our new gym teacher is as gentle as a lamb.
Christina was a troublemaker, but she looked as innocent as a dove.
With only a snack in it, my schoolbag is as light as a feather.
Our headmaster, Mr McGonagall, is as old as the hills.
That particular evening, the school was as silent as the stars.
Our caretaker's wife is as ugly as a scarecrow.
After the extensive examination=), I felt as weak as a baby.
*)  The secondary stress often disappears in connected speech:
Ig,z&mI 'neIfn — rgzamr'nerfn -
Exercise 5.2.
1l.e'brzdze 'krpsde 'rive 2.s8'steun'wo:lbr'harnddeks'0i:drsl
3.8 'kotrdzrnde 'mrdlev 'neuwee 4.8'tri:injo:'ga:den 5. e'gru:pev
'bufrz'barde’'striim 6.9 'krosonds'topevds 'hil 7.o'rokwib
'paintri:ze'raundrt 8. 'o:lmeustin’ vizIbl'pa:0'Oru:de'wudz 9.0

'vilidzTnes' bju:tzfl'velr 10.e'steuni'reudbrt'wi:nds'tu:’'lerks
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Exercise 5.3.
Hitchhiking
I don't find hitchhiking as attractive as & b

|
-ci-), which he'd had because he couldn't concentrate on dnvmg After about fifteensxx)

minutes of weird converg%satlon he unexpectedly stopped hlS car in the middle o

*) The word after could be stressed.
*#) The given stress pattern is actually not a mistake. It is a much less common alternative.
##+) The word fifteen in its citation form is /f1f'ti:n/, but in connected speech it can change into

/' fxftiin/ ifitis followed by a stressed syllable of another word within the same intonation phrase.
Exercise 5.4.
1. wr.ds'.p1p. 'kelzfonts) 5. 'kon.sen.trezr.tp. 'nxk.sents
2. en.daz. 'swp.leu.drt 6. ke. 'nn.ps.rer.tin.dx. 'ses.ri.o
3. d3es. 'teu.pn.ds. 'bo.tls) 7. se.,ma.nzk. 'spek.tr.dr.'vents
4. hr.'zek.f{n.we.z1.'li:.gl 8. 'to:k.te.'bau.ts. 'nzk.sr.dent

9. 'h®.ve.ns.'me.rrke. ne.dsu. ker.{n

*) Remember that we are working with pseudo-syllables. /k/ should not be aspirated.
*x) Remember that we are working with pseudo-syllables. /t/ should not be aspirated.
Exercise 5.5.
1. 1tIzZe8S klIefezée nasuzonje ' fexrs | detkip'a: eez‘xz brezv |

' feeﬁ | en'strop
2.'m3:1l1in'slept | 'euver

paue&ef Spl t§

‘handrid’'jrez | en'deni:'lostis
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Exercise 5.6.

1. The idea of independence was highly explosive.
Hannah and her sisters were difficult to deal with.
I saw entertainers and gamblers in Las Vegas.
Meredith studied drama and music at university.
The media intruded in his private life.

Diplomats from Africa objected to the plan.
G. B. Shaw is quoted more than anyone else.
8. We are flying to Jamaica on Wednesday.

N v e W

Exercise 5.7.

1.'mentslrjan'sterbl 'perfont 5.0 proksimetlijen'averends 'ha:f
2.89 'borgendiz 'giniprg 6.note'lavdte 'krargeuve 'sprlt 'mrlk
3.§i:'geupndde 'wo:dreub 7. fersdi:geb'sa:detIgevjesrtfu'erfn
4.mu:v'swiftlrgen'kwaretlr+) 8. 'stend'fa:mlije'gernstdi: ' jenemr

*) Transient j' can easily occur inside words, especially in slow speech rate (cf. 2.1.1.and 2.1.2). In fast speech
rate, however, we would probably say [kwaetlz1].

Exercise 5.8.
1. r'mi:djetlzprz'zentzde'nju: ' wEnIkdeut
2. deoken'fjuizd'pazlet' flu:winte 'klauvdz
3. ri'si:vese'spifes'da:k'blu:’enveleup ¥
4. e'wornaut'fu:Ina:'vrilrdz'pond *%)
5. hu:'yo:deddi:gelke 'hplik'drrpks
6. Oreuwe 'steunstde'medzrk 'mire
7. gete'werbru:e 'nereuv' eupeniy
8

wo:kteds ' faun | 'nauyyende 'gen
*) /da:k'blu:/ changes its stress according to the thythm of its environment.
#%) worn-out is stressed /w9 : 'naut/in isolation or at the end of a tone-group.
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‘jursfl |
kerekte 'ristrk'smel ||

du: 'not 'woftu:’ » ze
hav'eve | bx'keofl | 'notte'geuv'tu: 'fa: || 'zfjubr'k
o'sa:tn'limrts | 'pi:plmart 'wontte'krlju |
Exercise 5.10.

Pay special attention to assimilations which are marked as unnatural. All of

them can be heard in elementary Czech classroom. This is due to the fact that
Czech assimilatory rules are different from the English ones.

Technician:

Computer experts are not always easy to deal with, but computerization of our lives forces®
us to employ them. I'm not sure if our technician is a typical sample of the species but I have
met many” similar characters around computers?.

First of all, he has no sense of moderation. In fact”, he is a megalomaniac. He likes eve-

' rything in great numbers®. Our computers have the highest doable” number of cables®, cards
and {>eriferiesg). In addition, all available software packages from'? the Web must be inclu-
ded'" in our arsenal, which makes the'? operational systems fairly'> unstable. He believes
that if our systems didn't crash'® all the time, he'd be made redundant.

Secondly, he has a communication problem'®. When you ask him to explain business'®,
he just can't build semantically consistent sentences. Also, it has never occured to'” him that
sentences, whether in a dialogue or in a monologuels), should relate to one another. We usu-
ally find out later that what we asked him to explain was simple'®, but he somehow couldn't
put it in plain®” words.

Thirdly and lastly, he greatly overestimates his capacity*”. He's got quite™ a lot of part-
time™ jobs which he does not manage®” to do properly. He thinks that™ our problems are
banal, but usuallglm fails to*” solve them and he definitely never solves a problem in the time
he has planned® for®® it. He keeps patronizing ordinary computer users but fails t0°® be
more effective than them. What a horrible, monstrous character!

1) gkem pju:terar'zer §n  Natural. See comment 3 above the exercise.

2) Unnatural. (It should stay / ' laxvz | 'fo:s1z/.)

3) ' meg 'ment Natural. See comment 3 above the exercise.

4 o' raunw om'pju:tez Unnatural. (It should stay /o' raundkem' pju:tez/.))

5) I% 'fekt This is natural assimilation, but the /m/ will be represented
by its labiodental allophone [m].

6) ' greﬂ% 'nambe Unnatural. (It should stay / ' grext 'nambez/.) This type

of assimilation is often used by Moravian speakers of English.
Unnatural. (It should stay / 'hazzst du:ebl/.)

Natural. See comment 2 above the exercise.

Natural. See comment 3 above the exercise.

Unnatural. (It should stay / ' pekidzrzfrem/.)

Natural, but see 3.4.5. for more about this type of assimilation
Unnatural. (It should stay / 'meTksdi:/.)

Unnatural. (It should stay / 's1stemz' feelx/.)

Natural. See comment 3 above the exercise.

15) ke mju:nz' kex@ 'problem Natural. See comment 3 above the exercise.
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16) IK' plexg brznis Natural. See comment 3 above the exercise.

17) Unnatural. (It should stay /o 'k3:dtu/.)
18) Unnatural. (It should stay / 'mpnelpg | §ed/.)
19) Natural. See comment 2 above the exercise.

20)
21)
22) Natural. See comment 3 above the exercise.
23) 'pa:ttarm Natural. See comment 2 above the exercise.
24) nng 'menId3 Natural. See comment 3 above the exercise.

Natural. See comment 3 above the exercise.
Natural. See comment 2 above the exercise.

25) Unnatural. (It should stay / ' 61pksdet/.)

26) This is so called coalescent assimilation. It is common in English.
27) Unnatural. (It should stay /' fexlzta/.)

28) Natural. See comment 2 above the exercise.

29) Unnatural. (It should stay / ' plendfae/.)

30) see comment 27 above

6. Allophonic transcription

Exercise 6.1.
1.[te'ma:teu d3z"u:s] - diphthong /eu/ does not cause labialization of the
preceding consonant

2. [t70:1 bxldipz] - letter 'u' in building does not appear in the phonemic
structure of the word .
3. [k"wi:n meerx] - /k/is labialized quite strongly which has to be marked

even though the sequence "w looks awkward (W", on the
other hand, is impossible)
4. [frer of k¥r"u:eltx] - a vowel with lip rounding can easily cause labialization

of two preceding consonants, if they belong to the same
syllable

5.[tnd1'sp"j"u:tebl ers] -even /p/ asalabial consonant sounds different with
lips actively protruding from neutral [p].

6. [n¥"j"u: manIiterr j"u:inzt]

7. [s"pYu:nf¥ul av n"u:dlz] - in many adjectives, the suffix '~ful’ is pronounced
/£1/,but in words specifying a quantity it is always
/ ful/ with moderate lip-rounding: [ f"ul].

8. [pa's"werd jo fa:8s]

9.[rr'f"j"u:z bete klsoudz]

10. [® g3:1 wid g¥o:dzes hee] - despite being followed by /w/, /1/ in girl will

not be labialized, because of the syllabic boundary
11. [an'besrebl s"wi:tnes ev larf]

12. [s¥u:zenz snerks en ka&nge 'r*u:z]

Exercise 6.2.
l.e'1l&xte'raxvl 6. '0fk'drar'1li-f 11 .en'avtsftju:n'vors

98



Answer Key

2. 'sli-pipdt'wa -k 7. 0'tur'wi‘ks'liiv  12.8'wortepru-f ' kdutsx)
3.0'bri-f'mésidz*) 8. e'hevri'tdrprarte  13.e'si-krdt'keud
4.en'zs:l1x'trern 9. ért'dexze'wik 14. 'brauvnbag ' 1Ant §

5.9 'strikt 'bos 10.e 'boksav'enveldups 15.9 'brauken'printe

16. o 'pdsebl 'dutkam +x)
*) Remember that the rules for English syllabification are different from the Czech ones. The syllabic
division of message is /mes. 1d3/.
**)  The syllabic division is /wo:t. a/. That is why the word is pronounced [wo"ta].
*#%) /D/ in possible will be shortened, because the syllable boundaries are /pps. 8. bl/ and not
/po.se.bl/. See the explanation in 6.2.

Exercise 6.3.

1. 'ardlazk't§Ikenend'rdzs 2. Oo'wérte'si:mztebi:'gaut

3. mar'kdukIs'kwart 'keuld 4, do'f§ef | 1zIne 'baed 'mu:d

5. 'kenwrhave'terbl 'baide’laudspi-kez

6. dejehav'bi-fen'nu:dlz | Inje'su'p

7. 1zdeor 'enifipwid'dut 'mi-tinit

8. A'ka'nt'si:mar'plért | 'Oru:de’'sigerét ' smduk «)

*) Cigarette is usually pronounced /s1ge 'ret/, but the rhythm of the utterance may cause the stress shift.

Exercise 6.4.

1. a:'boses'phute'pPeusterev'wini:de 'phu: | pntuwrz'pfis'wo:l

2. 'wini:8s'ptuiz'frendz | o'thazge | 'pPrglrt | 'i:jo:r | end'rabrt

3. 'tharge | wude'pri:§iert'ade'warld'klets | latk ' pPanbez |
te'dzornde'thim

4. 'phrglrtrz’'ver:'kParnden'pPi:sfl | bete 'klerznelz' jekts |
oze 'krauved

5.'izjo:'sporlz'evriwanz'mu:d | widIs'plesemrzm | betis'phalz
'strkbargprm 7

6. In 'spared'barhiznju'hriereuz | 8 'bosiz'k"ontemplertznp |
e'nju: 'spefltz

7.hi:'wontstetrens'pPo:t | 'phorzenes 'kPeubrez |

- frem'kPenjoete,tPenze'ni:s

8.1t1ze'thaktrkl 'mu:v | bx'kPo:z'kPsubreksn'thernez |
® 'nptseuik'spensIv'klarentlz

Exercise 6.5.

1. "tfa:lz'dzkinz 5. 'bendzemrndrz'rerlrx) 9. 'meks'plaepk

2. 's1t'vIeres'sperp 6. '@ntent'trplepss) 10.'dzermz 'stenfad
3. 'plive 'kromwel 7. e'mi:1l'zeule 11.'d30:d3 'smplrt
4. 'dexvid'gerzk 8. 'd3pn'go:1zwa:d1Ix) 12."' fra:nsts'berken

) Notice that a voiced obstruent between two sonorants can also lose its voicing (or a part
of it) if it precedes or follows a word boundary.
++) Anthony is pronounced /&n6sn1/ in America.
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Exercise 6.6.

1. "luist'rrelx'lavde 'p3:pt 'ru: m| wide'la:d3'met} ' leemp |
Inde 'hriten heu, tel

2. 8o'lendlerdr’ foud' 1t 'menez | wenf1le 'mentid | 'euvedst
'1rt}'heutinde'wo:}
/1/ in hole is followed by a vowel in this sentence, but it is still realized as a dark [1],

because the word boundary neutralizes the influence of the vowel. We have already
mentioned that true resyilabification happens only in fast speech.

3. 'denjel 'kridrm'seif | wid1z'oun'li:01'wepen | enis'soul'went
'strextte'het

4. a:'la:st'letin'lesn | wezebrt 'dal | endaz'fertdte'ls:ne
'singl'ws:d

5. 30" pert'gs:l | teutdde'tfartde' feerrterl | o'baute ' peles |
wit§wez'fulev'erndziz

6. @'merzken'f1iimz | po: treIée'laIfstaIlev'lo:lesnes|
spek'tzkjole 'varelens | endr'li: gt'di:iz

7. 'autevde'loreltrtuwIz'librot'li:de |h1 ok 'sept1de 'reut |
ovda'li:fletdr'lrvers

8. 'lezresme 'gri | de'larenha:tid'lrzedteIms | r1'zpivd |
Gotrwud'drrifer'ort | 1nde'blu:la'gu:n (The compound lion-hearted
is stressed differently if pronounced in isolation or at the end of a tone-unit.)

Exercise 6.7.

1. 'wd:m'sprip 7. daz'npt'mi:n'énIibip )

2. 'mein'probladm 8. 'dr&pk'dzénjuin, {&m'pein
3. 'béndzeminz'plén 9 'nimbe'nain'mart'win

4. An'dzastifard'kleim 10. &e'sdpe'baut'péni'lein =)
5. 'wén | 1fnot 'nau 11. 'da:nswid'lindez'hazbdnd
6 o'taln'mexdev'stedn 12. 'bleimde'prins | 'notde'kip

+) Read 6.2. about syllabification in English to understand what is happening in /en. 1/

and /pen.1/.
Exercise 6.8. '
1.'sprt®'nishrs'fut” 2.'stzb’bs'levhe'ha:t” 3.'smek"tu:6les ' 'gamz
4. 'stop’bardeuz'red!'larts 5. ke'mrt”'dredfl'krarmz
6. r1'tared” 'nervl 'pfise 7. 'lazkt!'leftwrip'pa:tiz
8. 'skrat{1z'raund® 'nesuz 9. s1t " 'daunend'wert” 'kwaretlzx

10. bi:'ju:st te'sepret”'torlets 11. 'i:t” 'damplipz | en'lzk” 'peps
12. o'blarnd!'laren | 'terkrp kpndllrver'orl

- 13. 'si:kret!l1'pIndrkertrd™ 'ten'hrd"n'artemz
14.fe'gnt“ta'lnknnIelI'ha:fée'keIdglz

15. 'kwiklz1gar'dentrfard’ 'derndzres'draIvez

16. o 'drplemat "po: 'trexd | eze' fru:d'spaz

17. 'gri:t1d” 'nerbez | end! 'leukl 'rezzdents
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Answer Key
18. 'wontzd te'kat 'tri:z | en'pla:int® 'nju:wanz
19. 'blok™ 'grez | endrske 'nek't 'de' fju:else 'plax %)
20. do'dek™ 'nju:li'peintzd " | barga: 'kaznd” 'ti:tfe
+) For the explanation of unreleased [t ] before [ 8], read Section 6.7.
Exercise 6.9.
1. an'O1ipkeblr'vent 5. In'Ori:'mrinrts 9. 'hertzd'dsuz'sppz
2. f1]l'des'pokIits 6. 'brrpdzt '01p 10.'ran'daunds 'reud
3. 'heulddem'tazt 7. 'neubed1’'jIndee  11.'1zder'enr'ri:zn
4. 'h1tde 'graund 8. 'mpderat '0i:vz 12.'kamd1s '03:zder
Exercise 6.10.
1. an' faundzd, spekje'lexrfn 2. 'tardz'hauski:ps
3. '®nelarz po:tfu' gi:s 4. r1'dikjelesbr'hervje
5. 'bleken'wartbz 'ki:inz 6. me'lekjule 'kemrstri

7. 'no1z1'greboks 8. 'dzfrkltte'kjues 9. 'tu:'ki:leuzev'geuld
Exercise 6.11.
Anthea said bitterly she was tired of playing second fiddle to Judy.
‘@nbisesed” 'bIitelr | f1wds'tPared | 8f 'plerip'sékénd' frdlite'dz“u:d:
- nasalized vowel due to the following nasal consonant (See 6.5.)

]
] - dental allophone of alveolar stop due to the following dental fricative (See 6.7.)
d’] -no audible release due to the closure of the following stop (See 6.6.)

I] - shortened vowel due to the following tautosyllabic fortis consonant (See 6.2.)
8] - shortened vowel due to the following tautosyllabic fortis consonant (See 6.2.)
th] - aspirated fortis stop due to the delayed voice onset of the following vowel (See 6.3)
8] - shortened vowel due to the following tautosyllabic fortis consonant (See 6.2.)
[1] - devoiced sonorant due to the preceding fortis plosive (See 6.3.)
[£] - nasalized vowel due to the following nasal consonant (See 6.5.)

[€] - shortened vowel due to the following tautosyllabic fortis consonant (See 6.2.)
[8] - nasalized vowel due to the following nasal consonant (See 6.5 J)
[d1] -lateral release of the alveolar stop due to the following lateral liquid (See 6.6.)
[¥] - velarized (dark) /1/ due to its non-pre-vocalic position (See 6.4.)
[d3™ ] - labialized consonant due to the following lip-rounded segment (See 6.1.)
Exercise 6.12.
1.39'18uk!? 'rok 'bénd | ' jetd!'latk”'krerzr'dri pks
Notice that /A/ in drunk has undergone nasalization and pre-fortis shortening. The two
symbols can be written next to, or above one another.
2.'t§i'p'lerzerifék™ts| wepre'dzék 'trddndes ' reg b1 'haindds' stexd3
3. 'brted” 'mItzd” 'diuts | o'baut! '1"u ks 'k"dmpstd ns
4. hi:fed'skerl'datnde 'plé&nzev'lbph™o:1'flirts | In1z
'attreldrt” 'plein
5. 'hevi'rein'ki'ps'f¥o:1ipdnde 'trék’ | kPesflz'h1d"né 'mip bif1z
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8. Vocabulary: Non-Elementary Words

Only simple, primary meanings of words or the meanings relevant to the context in this
book are presented. Students are advised to use a proper dictionary to find out more detailed
information on the meanings of individual words. For the convention of the stress-mark use,
see Section 2.3.

advertisement /ad'v3:tisment/ reklama, inzerat

acquire /o 'kwazts/ ziskat, osvojit si

actual /ektSusl/ skuteény

aisle /azxl/ ulicka m. sedadly v kinég, v letadle apod.
alveolar /el'viiele/ dastiovy (za hornimi pfednimi zuby)
amber /&mba/ jantar

anacrusis /&ne 'kru:srs/ taktova piedrazka

ancestry /®&nsestrx/ pavod

anthill /e&nthzl/ mraveni§te

apologetic /e ,ppls'dzetzk/ omluvny

approach /e'praut§/ pfistup

article /a:itikl/ mluvnicky ¢len

assert /e's3:t/ prosadit se

attach /o'tetf/ pfipojit

autocrat /o:tekraet/ samovladce, diktator

aBuxiliary /o:g'ziljerz/ pomocny

Babel /bexbl/ Babylon

barn /ba:n/ stodola

battery hen /beterzhen/ drtibez pést. velkochovem v klickach
Ben /ben/ Benjamin (domacké jm.)

bench /bent§/ lavi¢ka

betray /br'trex/ zradit

biannual /bazt'@njusl/ - konajici se kazdy druhy rok, obroény
blend /blend/ smés

bourbon /b3:ben/ druh whisky

brackets /brekits/ zavorky

breathtaking /brebtexkrn/ uchvatny, doslova vyrazejici dech
brooch /breut§/ broz

calcium /kelsiem/ vapnik

canonical /ke 'nonrkl/ piedpisovy, vzorovy

capture /kaeptfa/ zachytit

carbon dioxide / ka:bsn dar'vksard/ oxid uhli¢ity

casual

/kezusl/

nenuceny, neformalni



caution /ko:§n/

chandelier /Sende'l10/
chauvinism /§euvinzzm/
cheerful /t§Tefl/

chivalry /§Ivelrz/

chlorine /klo:ri:n/

chunk /t§ank/
circumstance /s3:kemstens/
clumsy /klamzz/

cod /kod/

coda /keuds/
coincidental /keu  1ns1'dentl/
colonel /k3:nl/
comparative /kem'peretiv/
comprehension  / komprz'hen§n/
conjunction /ken'dzapk§n/
consideration /ken side'rexfn/
convent /konvent/
convention /ken'venf§n/
counterpart /kauntepa:t/
Eielion /dendrlaTren/
definitely /defenstlz/
derive /d1'razv/

detain /d1'texn/
devoicing /di:'vorsrIn/
digraph /dazgra:f/
diphthong /dxfBpy/ or /d1pboy/
disregard /disr1'ga:d/
distinction /dx'stIpkfn/
donkey /dopkz/

draft /dra:ft/

dragonfly /draegenflaz/
duration /djusrexfn/
E)hasis /emfosis/
eventually /1 'ventfuelz/
exhausted /1g'zo:stzd/
Ebulous /febjales/

fir Ifand
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Vocabulary

opatrnost, upozornit

lustr

vira v nadfazenost né&jaké skupiny lidi
vesely

galantnost

chlér

kus, Zzmolek

okolnost

nesikovny, neohrabany

treska

slabiény zavér

ndhodny

plukovnik

1. srovnavaci 2. IL. stupen piid. jmen
porozumeéni, chapani

mluvnicka spojka

uvaha, rozvazeni, ohled

‘klaster (vét§inou Zensky)

dohoda, zvyklost
protéjSek

pampeliSka

rozhodné, kazdopadné
odvodit

zadrzet

ztrata znélosti

graficka spieZka
diftong, dvojhlaska
ptehliZet, nebrat v potaz
rozliSeni, rozdilnost
osel

napsat nanecisto, koncipovat
vazka

trvani

didraz
nakonec
vyCerpany

bajecny
smrk, jedle
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fishmonger
fluorine
fortis

freak

fur

gambler
gauge
gear
gearbox
gland
glide
glitter
glottal stop
glottis
gorgeous
gulp
gymnasium
e
haunted
Heather
heretic
hexagonal
hiccough
highlight
hint
hydrogen

indisputable
influence
inquisitive
intrusion
iodine
j?mdice
jaw

Jenny
giatory
lax

/f1§mange/
/flueri:n/
/fortis/
/fri:k/
Jfas/

/gembla/
/gexdz/
/gIa/
/g1eboks/
/glend/
/glazd/
/glzte/
/glotl stop/
/glotrs/
/go:dzes/
/galp/
/d3Im'nerzism/

/hans/
/ho:ntzd/
/heds/
/heretzk/
/hek ' segenl/
/hikap/
/hazlart/
/hint/
/hazdredzen/

/1ndz 'spju:tebl/

/influsns/
/In'kwizetIv/
/In'tru:zn/
/aTedi:n/

/d3zo:ndrs/
/d3zo:/
/dzenzt/

/lo:deterz/
/lxks/

104

obchodnik s rybami
fluor

vyraznéj$i (o artikulaci)
potrhlik, poSuk

kozich

hazardni hra¢
meéfidlo

1. pfevod 2. vyzbroj
pfevodova skfiit
Zlaza

klouzavy pohyb
tipytit se

réz, laryngalni okluziva
hlasivkova §térbina
nadberny, oslnivy
loknuti, lok
té€locviéna

vesak, raminko na odév
obydleny duchy
anglické Zzenské jméno
kacif

Sestighly

Skytavka

zvyraznit

naznacit, napoveédét
vodik

nepopiratelny

vliv

zvidavy

vyruSeni, ruivy vpad
jod

Zloutenka
Celist
Jennifer (domdacka verze)

pochvalny
povoleny, uvolnény (o vyslovnosti)



leaflet
lenis

lethal
lieutenant
long (verb)

magnificent
manual
maroon
mauve
merchant
mercury
merge
molehill
monetary
monosyllabic
myth
Eghty
navy blue
nitric acid
nitrogen
nought

occur
oppression
ostrich
outline
overtly
oxygen
[?ntaloons
pattern
pavement
peculiar
pharynx
pine tree
pitch
polysyllabic
pompous
pomposity

/1li:flat/
/li:nis/
/1i:01/

Vocabulary

letak
jemnéjsi (o artikulaci)
smrtici

/lef'tenant/or /1lu: 'tenent/ porucik

/1lpn/

/meeg 'nrfisnt/
/m&njusl/
/ms'ru:n/
/mauv/
/m3:tfent/
/m3:kjuerz/
/m3:d3/
/meulhzl/
/mantterz/

/ ,mpnest'labrk/
/m16/

/no:tz/
/nexvz'blu:/

/ nartrik'aeszd/
/naitredzen/
/no:t/

/e'ka:/
/e'prefn/
/pstrIt§/
/aut'lazn/
/eu'va:itlz/
/okstdzen/

/pents'lu:inz/
/patan/
/pervment/
/pe'kju:rlis/

/ feripks/
/paintri:/
/pItS§/

/ polist'lebik/
/pompas/

/pom' posatz/

touzit

velkolepy

ptirucka

tmava hnédocCervena
lehce nafialovély, lila
kupec

rtut’

splynout, spojit (se)
krtina

penézni
jednoslabi¢ny

mytus

zlobivy

tmaveé modra
kyselina dusi¢na
dusik

nula

vyskytovat se, objevit se

atlak, atisk

pStros

nacrtnout, navrhnout v obrysech
nazorné, oteviend

kyslik

kalhoty

vzor, struktura
chodnik, dlazdéni
podivny, zapeklity
hitan

borovice

vyska ténu
viceslabi¢ny

naduty, povySeny
nadutost, povySenost
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potion
practical joke
precede
preposition
prominent
promotion
pronoun
property
proverb
pursuit
qu%iruped
quarrelsome
quotation
o
redundant
refuge
release
resistant
roam

Rod

Ron
rounded
8
sample
schwa
scope
screwdriver
semolina
serif

shreds
shrewd
sneakers
sparkling
species
squad

stem

stream
stress group

/peufn/

/praektrkl dzsuk/

/prI'si:d/
/prepe'zIfn/
/promrnant/
/pre'maufn/
/preuvnaun/
/propetz/
/prova:b/
/pa'sjuit/

/kwodruped/
/kworelsem/
/kwau 'texfn/

/rem/
/r1'dandent/
/refju:dz/
/r1'li:s/
/r1'zIstent/
/reum/

/rod/

/ron/
/raundzd/

/s&m/
/sa:mpl/
/Swa:/
/skeaup/

/skru:drazve/
/ ,sema'liins/

/serxf/
/Sredz/
/Sru:d/
/sni:kez/
/spa:klzn/
/spi:§1z/
/skwod/
/stem/
/striim/
/stresgru:p/
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lektvar

kanadsky zertik

predchézet

predlozka

ndpadny, vyrazny

povySeni

zajmeno

1. vlastnost 2. majetek

réeni, piislovi

patrani, pronasledovani, usilovani

¢tvernozec
hadavy, rozhddany
citat

beran

nadbytecny

ukryt, utociste

uvolnéni, vypusténi
kladouci odpor
potulovat se

Rodney (domécka verze)
Ronald (domécka verze)
se zaokrouhlenymi rty

Samuel nebo Samantha domacky
vzorek, ukédzkovy exemplar
stfedni stfedova samohlaska /a/
pole ptisobnosti

Sroubovak

krupice

patka pismene

cary

vychytraly, mazany

sportovni obuv, tenisky

jisktivy, jiskrny

biologicky druh

oddil, komando, parta
mluvnicky kmen

potok

prizvukovy takt



struggle

subsequent
substitute
suffix

- sulphuric acid
superb
supply
supreme
sustain
syllabicity
sympathetic
tame

tamer
tautosyllabic
thorough
threat
thyroid
timbre
tone-group
trachea
transient
trigger
trinitrotoluene
turquoise
Eellular
urge
utterance
variable
velum
vocalic
vowel
ﬂtle
windscreen
wingmirror
worm

xenophobia

/stragl/
/sabstkwent /
/sabstItjuit/
/safrks/

/ salfjuerik'aszd/

/su'p3:b/
/se'plax/
/su'pri:m/
/se'stern/
/s1le'bissatz/
/sImps ' Betzk/

/teIm/
/terms/
/to:te'silabIk/
/0ara/
/Bret/
/Bazroxd/
/temba/
/teungru:p/
/tre'ki:s/
/trenzisnt/
/trrges/

Vocabulary

zapasit, bojovat
nésledny

nahradnik, nahrazka
ptipona

kyselina sirové
ohromny, skvély
dodat, poskytnout
nejvyssi

udrzet, vytrvat
slabi¢nost, slabikotvornost
soucitny, soucitici

krotky, neSkodny
krotitel

pattici do téze slabiky
dikladny, fadny
hrozba

Stitna (napt. zlaza, chrupavka)
témbr, barva zvuku
intonacni fraze
pridusnice
prechodny, pfechod
spustit, odstartovat

/ ,trainartreu'tpljui:n/ trinitrotoluen

/ta:kworz/

/ju:nt'seljule/
/3:1d3/
/aterans/

/vesrisbl/
/vi:lsm/
/ve 'kaelik/
/vausl/

/wisl/
/windskri:n/
/wipmIirs/
/w3:m/

/zi:ns'faubja/
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tyrkys, svétla modrozelena

jednobunéény
naléhavi potfeba
promluva

proménna
mekké patro
samohlaskovy
samohlaska

hvizdat, hvizd
Celni sklo auta
bo¢ni zrcéatko auta
cerv

nenavist k cizincim
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